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Abstract

With particle accelerators like the Tevatron and the LHC we can reach such high energies that it is
very likely that we will soon find clear signatures of physics beyond the Standard Model. Some of the
most interesting processes to examine are single-top processes; interactions with in the final state only
one top quark and some other particle. The top quark has a mass almost 5 orders of magnitude larger
than the lightest quarks (~ 175 GeV), a strange property that some theories explain by predicting
interactions with new particles. In this thesis some extensions of the Standard Model are analyzed.
With the use of a Monte Carlo these theories have been simulated, resulting in several predictions for
experimental results for the single-top process.
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Chapter 1

Introduction

The Standard Model (SM) has been one of the most successful theories in physics. After its develop-
ment in the early 70’s, it predicted several new particles including the existence of the W+, Z bosons
which were discovered at CERN in 1983. The most recent discovery is the detection of the top quark,
done by the CDF and D@ experiments at the Tevatron (Fermilab), in 1995. The only particle predicted
by the SM that has not been found yet is the Higgs boson. If it truly exists, the LHC will certainly
find it.

Now that we have found almost all of the particles predicted by the Standard Model, one could
ask ‘Is there any physics beyond the Standard Model?’. Most physicists believe that the answer to
this is ‘yes’. It is highly unlikely that the Standard Model is the ultimate theory of everything because
gravity is not included in the model, and it possesses some esthetical problems like, most notably, the
hierarchy problem (see Chapter 7).

Because the Standard Model has been so successful, all new fundamental theories should converge
to the SM at energies below the electroweak symmetry breaking scale (v = 254 GeV). The obvious
way to create such a theory, is by starting with the Standard Model and make some simple extension.
In this thesis we describe two of such extensions, the Topflavor model and the Littlest Higgs model.
Both models have been conceived quite recently (1996 and 2002), and are therefore not fully studied
yet.

An interesting method for testing these theories can be done with the aid of precise measurements
of the cross sections of different kinds of top production. The reason why the top quark can be used
as a probe for new interactions, is because it is so heavy. In this thesis we focus on one particular type
of top production, namely the single-top processes. These are processes in which only one single top
quark is created, plus some other particle(s).

Before we analyze extensions of the Standard Model, it is important to have a thorough under-
standing of the Standard Model itself and the theoretical foundation it is built upon. For this reason
we start in Chapter 2 with a brief introduction to gauge theories, symmetries, and quantum field the-
ory, followed by a complete analysis of the Standard Model in Chapter 3. Subsequently we investigate
in Chapter 4 what the Standard Model predictions are for single-top production. We expect that the
more literate reader will enjoy these first chapters as a good review, while the less experienced reader
will appreciate the level of detail with which the Standard Model and single-top are examined.

As part of this thesis project it was necessary to develop a Monte Carlo program for doing single-top
simulations. In Chapter 5 we explain the basics of Monte Carlo integration and demonstrate how the
Monte Carlo program is implemented. This program has been used to produce almost all of the cross
sections and plots presented in this report. Several tests have been done to confirm that the program
is working properly.

Finally, in Chapter 6 and 7 we examine the two Standard Model extensions: Topflavor and the
Littlest Higgs. Both chapters start with a thorough analysis of the model, followed by the determination
of mass eigenstates and the couplings. At the end of each chapter we present the Monte Carlo results,
together with a short discussion. In Chapter 8 we give a short summary about what we can conclude
from the results found in the previous chapters.



1.1 Conventions
For this report we have adopted the following conventions.

Natural units

In all calculations we will work with units such that
h=c=1. (1.1)

In this system length, time, energy and mass have the following units:

[length] = GeV ™', (1.2a)
[time] = GeV ™1, (1.2b)
[energy] = GeV, (1.2¢)
[mass] = GeV. (1.2d)
Metric
All calculations are done in Minkowski space. The metric tensor is therefore defined as
1 0 0 0
0 -1 0 O
— gV —
gw=9"=1 09 o -1 o (1.3)
0o 0 0 -1

Unless noted otherwise, repeated indices will imply Einstein summation.

Group generators

For the generators of SU(2), SU(3), and SU(5) we refer to Appendix B. To prevent confusion with
o-fields and cross sections, we write the Pauli matrices as 7% (the 7-lepton is rarely encountered).

Monte Carlo parameters

For all our simulations we have used the RANMAR random generator, the CTEQS5L table for the
PDEF’s, and all scales set to pp = p = my. For the top mass m; we use 175 GeV, the mass of the W
vector boson is set to my, = 80.4 GeV. The CKM matrix we have used is

Vud Vus Vb 0.9751 0.2215 0.0035
V= Vea Ves Vo | =1 02210 0.9743 0.0410
Via Vis Vi 0.0 0.0 1.0

The coupling constants are given by

as = ag(my) =~ 0.114089, (1.4a)
aw = g2 /AT ~0.03394, (1.4b)
8
2 2

= —_Grm% ~0.42651, 1.4c

Juw \/5 Fltw ( )
with Fermi’s constant given by

Gr = 1.16639 x 107° GeV ™2 (1.5)

See Chapter 5 for more information about the Monte Carlo program.



Cross sections

All cross sections are given in picobarn (pb),
1pb=10° fb=10"* m? = 107 cm?. (1.6)
Given the luminosity L of an accelerator, one can determine the event rate of a process with

dN

= — oL 1.
==L, (L.7)

where o is the cross section of the process. In Table 1.1 we present the luminosity of the Tevatron (as
of May 2006) and LHC, and also indicate the event rate of a process with o = 1 pb. Unfortunately it
is impossible to run an accelerator 24 hours a day, 365 days a year. Therefore we have also indicated
the integrated luminosity, which should be used for calculating the number of events per year.

Tevatron LHC
Run IT | low-L | high-L
Vs (in TeV) 2 14 14
Luminosity L (in cm=2s71) 1032 1033 1034
Integrated luminosity (in fb=!/year) 1.5 10 100
Event rate, for 0 = 1 pb (in events/day) 9 86 864
Events per year, for o = 1 pb 1.5 x 10% | 10* 10°

Table 1.1: Luminosity for the Tevatron and the LHC. The luminosity of the LHC will be increased by
a factor of 10 after several years operating at low-luminosity. For each accelerator the event rate and
the number of events per year for a ¢ = 1 pb process is given.



Chapter 2

Gauge Theories

In this chapter we introduce the basic principles of gauge theories. It is meant as an easy appetizer for
the rest of the thesis and summarizes the knowledge that can be found in many textbooks about particle
physics. In the first section we briefly explain the use of Lagrangians and present the expressions for
the Lagrangians of scalar bosons, fermions, and vector bosons. The second section the symmetries
of Lagrangians are discussed, and we introduce local gauge symmetries. Finally, in the third section
we quickly review quantum field theory in order to explain some things about the origin of Feynman
diagrams and the Feynman rules.

2.1 Lagrangian mechanics

One of the most elegant and far-reaching principles in classical dynamics is Hamilton’s principle. It
can be stated as follows [1]:

Of all the possible paths x (¢) along which a dynamical system may move from one
point to another within a specified time interval, the actual path followed is that for which
the action has a stationary value (a minimum, maximum or saddle point).

The action is defined as the time integral of the difference between the kinetic and the potential
energies:

smz/tt? (T—U)dt:/ttQLdt. (2.1)

The functional L (%, x,t) is the Lagrangian of the system. In mathematical terms, Hamilton’s principle

is written as .
2

S [x] =46 L dt=0. (2.2)
t1
According to the calculus of variations this integral can only have a stationary value if it satisfies the

Euler-Lagrange equations
oL d oL

0, (2.3)

where x = (21, x2, T3).
Given a Lagrangian, we can quickly find the equations of motion. For example, a one-dimensional
harmonic oscillator has the Lagrangian

1 1
L:T—U:imﬁ—im% (2.4)

and the Euler-Lagrange equations immediately lead to the correct equation of motion:
kx +mi = 0. (2.5)

Evidently, everything that is to say about a physical system can be derived from the Lagrangian.
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Lagrangians in quantum field theories

In quantum field theory things are a bit different. Particles are described by relativistic fields that
allow a particle to choose between several different paths (transitions from one state to another), each
path with its own probability.

Because in a relativistic theory space and time should be on equal footing, we rewrite the action as

S[gb]:/ttzLdt:/ttg/v(ﬁdx)dt:/ﬁd“x. (2.6)

The function £(0,¢ (z),¢ (z),z) is called the Lagrangian density, but in particle physics it is often
simply referred to as the Lagrangian. For this Lagrangian the Euler-Lagrange equations become

oL oL

96, 5000y " 27

As an example, the motion of a spin-0 particle with mass m is described by the Klein-Gordon equation,
(0,0 +m?) ¢ =0, (2.8)

therefore a valid Lagrangian is
1 1
Lxc = B (0u9)* — §m2¢2- (2.9)

It is easy to see that this Lagrangian indeed leads to the Klein-Gordon equation, by using the FEuler-
Lagrange equations of (2.7). For complex scalar fields, the conventional Lagrangian is

Lxae = (040") (040) = m*6"0, (2.10)
where the complex field ¢ can considered to be the sum of two real scalar fields,

1

V2

The factors 1/2 are chosen such that the equations of motion become

¢ (¢1 +igo)- (2.11)

(0,0 +m*) ¢ = 0, (2.12a)
(0,0" +m?) " = 0. (2.12b)

In a similar way we can find the Lagrangians for a spin—% field and spin-1 field. The Dirac Lagrangian
EDiraC = ZE’Y‘@M/J - miwa (213)

leads to the Dirac equation for both the v and 1

o —myp = 0, (2.14a)
0,y —myp = 0. (2.14b)
The Proca Lagrangian
1 1
ACProca = 7ZFMVFW/ + §m2AVAy, (215)
with
FHY = 9l AY — 9V AH, (2.16)

leads to the equation of motion for a massive vector field:
0, F"™ +m*A” = 0. (2.17)

Note that if we take m = 0 and interpret A* = (¢, A) as the electromagnetic four-vector potential,
that the equations (2.17) are exactly the Maxwell equations in a vacuum without sources.

11



2.2 Symmetries

Symmetries are in physics a very important tool. An important theorem that deals with symmetries is
Noether’s theorem, which states that for each global symmetry of the Lagrangian there is a conserved
current and a conserved charge involved. An example of such a Noether current is the current of
electric charges in Quantum Electrodynamics (QED) which is a direct consequence of a symmetry in
the QED Lagrangian,

. 1 v )
Laep = (10 — 1) = 7F" Fy, — G704, (218)

Local U(1) symmetries: QED
As one can easily see, the Dirac Lagrangian (2.13) is invariant under the global U(1) transformation
¥ (2) = ¢ (2) = e (2), (2.19)
because then 1) — e~"*¢) and thus
Lbirac — ie” " Mpy8,e' ) — me™ P Ppe’ N = ipy"9,) — miptp = Loirac. (2.20)

An interesting thing happens if we demand that this Lagrangian is not just globally invariant, but also
locally invariant to the U(1) transformation:

¥ (@) = ¥ (2) = POy (a). (2.21)
In order to do this, we must replace the ordinary derivative d,, with the covariant derivative D,,,
D, =8, +igA,, (2.22)
where A,, is the gauge field which transforms as
A, (x) = Ay (x) — Ou (o). (2.23)
A local transformation of the Lagrangian
L = iy Dty — mipip = iy 8,00 — gy Ayt — map, (2.24)
now results in
l:/ _ ie—iq)\@,yuaueiq)\w _ qe—iq)\a,y,u (A[L _ (aﬂ)\)) eiq)\w _ me—iq)\aeiq)\,(/)
= je i PyteitA (Outh) + ie I YAt (8Meiq’\) 0
—qe PPyt N A 1 + geT APl (M) b — manp
= Wy (9u) — ge” YAt N (9, 0) ¥
— g A + geT YA (9,0) Y — mii)
= WY (Ou) — gy Apb — mapp = L. (2.25)

It is impossible to have a local gauge invariance without adding a gauge field to the Lagrangian.
If we add a vector field to the Lagrangian, then we must also add the Proca Lagrangian (2.17) for
A,. The kinetic term, —%F " F,, is invariant under the local U(1). This is not so strange, because
igF,, = [D,, D,], as one can see with

[D;u D,y = [8,“ )Y +iq ([8,“ Ay] = [0y, AP«D Y- e [Auv ALY
= (OuAy —0,A) Y
- (2.26)

The mass term %m2A”Al, however, is not locally invariant. Therefore the gauge boson must be
massless. The total Lagrangian is then

1
L (i7" Dy —m) ¢ — ZF" Fyy

— 1 _
(O —m) ¢ — T FMEy — gt A, (2.27)

12



But this is exactly the Lagrangian of QED! The local gauge invariance dictates that photon must be
massless and that the interaction between two electrons and a photon is given by

Ling = —qy" A, = juAY, (2.28)

where j, = —qipy*1p is the current density. With the Euler-Lagrange equations we find for the photon
field
O, FM = jv, (2.29)

which are the Maxwell equations for an electromagnetic field produced by an electric current 5. From
this equation follows that the current must be conserved:

8,7 = 0. (2.30)

All this comes from the Dirac Lagrangian and the demand that we have a local U(1) symmetry!

But why a local symmetry? What does it mean? A global transformation is performing a trans-
formation at all points in space-time at once. A local transformation on the other hand means that
you do a different transformation at each point. The most basic local transformation is to execute the
transformation only at one point!. This cannot be done without consequences: the transformation of
the electron field 9 leads to the change of the photon field A,. A heuristic point of view is to compare
this with a space full of electric charges. Moving them all does not change the fields (if we move along).
However, moving only a single charge creates an electromagnetic field.

In any case, it is a remarkable fact that by demanding the symmetry to be local, that the Dirac
Lagrangian demands the existence of the photon field with the same interactions as found in nature.

Local SU(2) symmetries: isospin

The concept of using a gauge symmetry to implement interactions into a theory can be extended to
other symmetry groups. However, if we want to keep 11/ invariant then the transformation ¢ — Ut
must be unitary,

vy — PUTUY = 9o = ut=vu-"'. (2.31)

Therefore the gauge groups are almost always SU(N) or U(1). As a specific example we introduce here
isospin theory, which uses SU(2) as the gauge group.

The idea of isospin was first introduced by Heisenberg?. He noticed that the neutron is almost
identical to the proton, apart from its electric charge. They almost have the same mass and the strong
force couples just as strong to the proton as it does for the neutron. It was believed that the strong
force is mediated by pions, three light mesons that strongly interact with the proton and the neutron.
According to Heisenberg the proton and neutron can be imagined as two different states of the same
particle called the nucleon. The pions in this theory are the gauge bosons, similar to the photon in
QED.

The nucleon is written as an isospin doublet,

w:(i), (2.32)

with isospin I = % The state of the nucleon transforms as

1/)—>1//=U<Z> (2.33)

where U is a unitary 2 x 2 matrix and therefore a U(2) transformation. This however is a reducible
group: it can be reduced to SU(2)xU(1). To see this more clearly, we write the matrix U in terms of
four real parameters:

U=el, (2.34)

where H = H' is an Hermitian 2 x 2 matrix,

H=Y 12X2+1a%. (2.35)

L Any other local transformation can be considered as the result of performing several different single-point transfor-
mations at once, one at each point in space-time.

2Even though the idea of a SU(2) isospin was proposed by Heisenberg, the idea of using a local SU(2) was invented
by Yang and Mills. Perhaps a better name for the theory described here is “Yang-Mills theory with isospin”.

13



The 7, are the three Pauli matrices, the vector I, = (I1, I, I3) is the isospin vector, and Y is called
the hypercharge because it is very similar to the electric charge of the U(1) group in QED. The U(2)
group is clearly reducible: the SU(2) part of the transformation mixes the different isospin states, while
the U(1) part only changes the phase of each state but does not mix them.

The proton is the eigenstate with eigenvalue I3 = —|—% and the neutron the eigenstate with Is = —%.
The relation between I,, Y and the electric charge @ is given by the Gell-Mann-Nishijima formula:

1
Q=I5+ Y. (2.36)

So, for the nucleon we must have Y = 1. This formula also holds for other particles, like the pions
(I=1):

¢ = 0 . (2.37)

The quantum numbers for the 7+, 7% 7= are I3 = 1,0,—1 and Y = 0. The more interesting part of

the theory lies in the isospin. Therefore in the rest of the section we ignore the hypercharge and only
work with isospin.

The strong force sees no difference between the isospin states, and hence the Lagrangian describing
the strong force should be isospin invariant. If we imply the symmetry to be a local SU(2) isospin
invariance, the Lagrangian becomes

(A 1 apv pa
L= T (0" Dy—m) ¥~ T, (2.38)
where F¢, can be written as [2]
, T
—igFj, 5 = [Dy, Do, (2.39)
with the covariant derivative u
. 40T
D,=0,—- ng#7. (2.40)

Putting (2.39) and (2.40) together we find an explicit expression for Fg,:

F, = 0,A, — 0,A) + ge“bCAZA,ﬁ. (2.41)
The antisymmetric tensor €2 are the structure constants of the SU(2) group.
The expression for D, is not as arbitrary as it seems. Because the group SU(2) has three generators
(meaning that the transformation is parameterized by three real numbers) there are also three real
gauge fields, represented by the pions:

A; ot
AZ = Ai =1 zY . (2.42)
Ai T

Because also the pions carry isospin, the triplet must be able to rotate under SU(2):
a a _ _1H ja
Al — UAj =" A (2.43)
However, in this case H is a Hermitian 3 x 3 matrix,
H=1°T*, (2.44)

with T the 3-dimensional SU(2) generators. We are searching for a D,, that gives us something similar
to (2.28), for example B
Ling = ju A" = gy Al (2.45)

But we cannot have an interaction term like that, because the vectors are of different sizes and the
Lagrangian has to be a singlet under any transformation.

To solve this, we need to write A, in a different representation of SU(2) that has the same dimension
as the nucleon doublet. That representation is the adjoint representation:

A

a Ta
W= AL (2.46)

14



One could call A, a 2x2 matrix field, but it is actually just a SU(2) triplet in the adjoint representation.
The A, we can use in the same way as we did in (2.28), and so we find

a

D, =0, —igA, =0, — igAZ%, (2.47)

as stated in (2.40). Evidently, we need the generators of the gauge group to couple the gauge field
with fermions.

There are several problems with this theory as stated here. The pions are massless, but in reality
they have a mass of ~ 140 GeV. Also the pions have the wrong spin. In this theory they are vector
bosons, while in reality they are (pseudo)scalar bosons with spin 0. As a fundamental theory this
theory failed. Later it became clear that the pions and nucleons were actually composed of quarks,
transforming under a color SU(3). This is the theory of QCD, where the strong force is mediated by
gauge bosons called gluons. Because SU(3) is parametrized with 8 real values, there are 8 real fields
and hence 8 gluons.

Even though the isospin theory never gave a perfect description of the strong force, it is a very
useful tool for calculating e.g. the branch ratios of nucleon-pion scattering [3]. Also the idea of using
a gauged SU(2) symmetry became a foundation stone for further theories, in particular electroweak
theory.

2.3 Feynman diagrams

To actually do calculations with the Lagrangians, we need to find a set of rules to convert the La-
grangian to something useful: the invariant amplitude M. With this it is then possible to calculate
cross sections and decay widths, things that can actually be measured in an experiment.

In this section we give a short introduction to quantum field theory. A more elaborate description
of the theory can be found in several textbooks, e.g. [4] and [5].

Feynman’s extension of Hamilton’s principle

By inventing the path integral formalism, Feynman extended Hamilton’s principle for quantum me-
chanics. Because of the particle-wave duality we can no longer talk about a particle that follows a
certain path, instead, it is more as if the particle follows all possible path at once. The principle is
nicely illustrated by a quote from F.J. Dyson [6]:

Thirty-one years ago, Dick Feynman told me about his ‘sum over histories’ version of
quantum mechanics. ‘The electron does anything it likes’, he said. ‘It goes in any direction
at any speed, forward or backwards in time, however it likes, and then you add up the
amplitudes and it gives you the wave-function.” I said to him, ‘You're crazy’. But he
wasn’t.

The generating functional

In quantum mechanics the probability for a particle to go from an initial state [¢;) to a final state
W f> is given by the absolute square of the amplitude,

P = (vt ti)]” = ’<¢f ‘efz‘H(tfftt) ¢i>‘2. (2.48)

where H (t) is the Hamilton operator. By cutting the time interval [t;,¢] into infinitesimally small
intervals, the amplitude turns into a functional integral:

i) = [0 ow (i [T ar - Hwal) = [aew (i [ ar L), 20

where L (t) is the Lagrangian.

3Note that we are working in the Heisenberg picture, the states |1) are time-independent and the operators are
time-dependent. The notation |1, t) should be interpreted as “the state 1) as measured by operators at time ¢”.

15



In the same way the expectation value of any operator @ (t) can also be turned into a path integral.
If ¢ (t) is the eigenvalue given by @ (¢) |, t') = ¢ (¢) |, t') then

(Wp,tr1Q ()| /qu eXp< / dr L(%C]))« (2.50)

In general, for any product of operators @ (¢t1) @ (t2) - - - Q (t,) we have

ty
(07,15 ITQ) Q1)+ Q) vints) = [ Daa(t)-w-ayeww (i [ ar Liad) . 250
t;
where 7 is the time ordering operator, defined as

TQ(t)Q(t2) - Q(tn) =Q (1) Q (th_1) -+~ Q (1)) (2.52)

for t) <ty <...<t, . In other words, 7 orders all the operators chronologically.

Sofar we have only considered the Lagrangian in the ground state, the vacuum. But in a real
experiment there is more than just the vacuum. At time ¢; particles are created, they have some
interactions with each other, and finally at ¢ they are absorbed again by a detector for instance. This
situation can be described by adding a source term J (t) to the Lagrangian,

ratsivaty’ = Do (i / L@+ ) (253)

with J (¢t) = 0 for t < t; and ¢t > t;. In this way we make sure that before and after the experiment
there is nothing but the ground-state |0).

The generating functional Z [J] is defined as the amplitude (Of|0i>J of the transition from ground
state |0;) at time —7 to ground state [0¢) at T, in the limit 7" — oo (1 — ie),*

J] = /quxp (z’/dr IL(q,d) + Jq]) . (2.54)

Note that
i?EQ . = ﬁ;(t)/quxp <i/d7’ [L (q,q’)—l—Jq]) .
~ / Dy q(t) exp (z / dr (L (q,d) +Jq]> -~
_ /qu exp< /dTL(m))
= i(0]Q(1)]0), (2.55)
and in general
gt |- /Dq o) attew (i [ ar L)
= ()" 0|TQ(t1)---Q(tn)[0). (2.56)

This means that with Z [J] we can find any amplitude for any process described by the £ at hand.
This also works with quantum fields. For example, the amplitude for the process with one scalar
particle in the initial state and one scalar particle in the final state is given by

016 )6 @) 0) = (~i)? 217 (2.57)

(y) 8. (x)

Here the quantum fields ¢ contain creation and annihilation operators. The creation operator in ¢ ()
creates at x a particle from the vacuum and the annihilation operator in ¢ (y) destroys that particle
at y, leaving the vacuum behind. Apparently we can use the functional Z [J] just like a generating
function, hence the name.

J=0

4The small imaginary contribution ie (the Wick rotation) is needed to guarantee convergence of the integral.
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Feynman diagrams

In the case of a relativistic scalar field ¢ the generating functional is given by

Z[J] = /Dqsexp (i/d% (L (¢,0,0) + J¢]> . (2.58)
The n-point Green’s function is defined by
. WVAN
(n) R T " = (—\" 2.
It is also possible to write G(™) as a diagram:
T T4
G™ (xy,...,x,) = T2 . (2.60)
Zs3 Tn

This diagram can be regarded as a process where a number particles are created from the vacuum,
interact (inside the bubble), and then all are annihilated again. Note that the number of ingoing
particles does not have to be equal to the number of outgoing particles.

The simplest example of such a diagram is for the process where one particle is created at x; and
is then annihilated at xo:

Oo———o0

GP (z1,22) = (0|0 (x2) ¢ (21)|0) = 2, xo =1Ap (v2 —x1). (2.61)

The function Ag (z) is the propagator of the field. It is easier to work with the Fourier transform
Ar (p), than with Ap (z) itself. The propagator in momentum space is given by
~ — o i
iA = = —="-—. 2.62
F(p) pP— p2—m2—|—i€ ( )
For higher values of n the diagrams become more and more complicated. For example, if there is an
interaction term in the Lagrangian like

A
Ling = ‘W4’ (2.63)

there will be diagrams with points where four lines meet. These points are called vertices. For the

interaction term of (2.63) we have
>< — i\ (2.64)

If we had used a different L;,; as an example, we would have had a different vertex with a different
expression.

There are all kinds of diagrams possible. Some diagrams have all lines connected, and some do not.
As it happens, the sum of all diagrams can be written as the sum of all connected diagrams times some
factor that represents vacuum to vacuum transitions. In most cases this factor disappears during the
calculation and is therefore ignored. Also, to calculate the amplitude of a process in which we start
with some set of particles and end with some other set, we are not interested in the part of particle
creation and annihilation. Therefore the only diagrams that are used, are the diagrams without the
legs. These are called amputated diagrams. We are now left with diagrams that are made only out of
propagators, vertices and external lines. An example of such a Feynman diagram is

(2.65)

D—

The external lines represent the initial and final particles in the diagram. In the case of real scalar
fields all external lines are mathematically expressed in momentum space with

> =1 (2.66)
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For the fermions however, the particle is not described by a simple scalar, but by a 2-component spinor
u with spin s = :I:%. The expression for the external fermion line with momentum p and spin s is

therefore
—— =y (s,p). (2.67)

D

This represents a fermion going into the diagram, an initial fermion. A final state fermion is represented

by the adjoint spinor:
> _a
by u(s,p). (2.68)
For the real scalar boson there is no such difference, because gf)T = ¢. Finally, the external lines for the
antifermions with spin s and momentum p are given by

> _3 (s,p), (2.69a)

D

< =u0(s,p). (2.69b)

D—

The v and T are the same type of spinors as the u and w; we use a different notation only to make
clear that these are antifermions.

In momentum space the vector bosons are described with the polarization vector e (A, p). The
spin A = —1,0,+1 is in this context called the helicity. The helicity of a particle is defined as the
projection of a spin vector s in the direction of its momentum vector,

(2.70)

For a vector boson of mass M and four-momentum p = (E,0,0, |p|) the polarization vectors become
7]

e (£1,p) = (0,71,4,0) /V2, (2.71a)
¢ (0,p) (Ipl,0,0,E) /M. (2.71b)

These equations are clearly not valid for M = 0. For massless vector bosons, like e.g. the photon,
there is no polarization state with A = 0 and therefore it has only transverse polarization states. The
constraint m = 0 means that the photon has one degree of freedom less.

With the allowed values for A in mind, both massive and massless vector bosons have the same
expressions for the external lines:

PN e (Ap) s (2.72a)

P

);;\_/Yw =€, (\p). (2.72b)

These rules to convert Feynman diagrams into mathematical expressions are called Feynman rules.
The Feynman rules for the propagators, vertices, and external lines are summarized in Table 2.1.
Apart from the rules stated in this section, there are also rules concerning diagrams containing loops.
Those rules have been omitted here, because in this thesis all calculations are done at leading order
(there are no calculations with loop diagrams).

The invariant amplitude

To describe all possible scattering processes, we define the S-matrix. This matrix transforms any initial
state ;) into a final state |4 ),

[ve) =S y) (2.73)
Each element of the S-matrix can be written as
Spi=08p+ (2m) 6" (N pi — Npg) - iMiy (2.74)

where M;_, ¢ is the invariant amplitude for |¢;) — ’1/) f>. The Kronecker delta d¢; describes the process
of ’1/1 f> = |¢);) when no interactions occur. Evidently, we are more interested in the term with M.
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By using the Feynman diagrams it is easy to calculate the invariant amplitude. To find M we first
translate all propagators, vertices, and external points into their mathematical equivalent. Connections
in the diagram translate to multiplication in the equation for M. For example, a Feynman diagram
like

e~ 1%
Y
i (2.75)
et ut
translates into® .
—IM = [T+ (—igeV") Ue-] % [T~ (—igen”) vu+] - (2.76)

In the center-of-mass frame, the differential cross section for the process A+ B — C + D is given by

do _ SIMP |pa
_ ' 2.
dQ  64n2%s |pc] (2.77)

In this equation s is the center-of-mass energy s = (E4 + EB)Z, the df is given by d€2 = sin6 df do,
and S is a product of statistical factors: 1/j! for each group of j identical particles in the final state.
Coincidentally, none of the processes discussed in this thesis have identical particles in the final state,
and therefore we shall simply leave S out of the equation.
For energies that are high enough we can neglect the masses in e~et — p~pu*. Substituting (2.76)
into (2.77) leads in that case to
do a?
Q) 4s
with a = g2/4m = 1/137. In Chapter 4 we shall show in more detail how such a calculation is done.
The invariant amplitude can also be used to calculate the lifetime of a particle. The lifetime 7
follows from 7 = 1/T", where I is the decay rate or the width. If particle A decays into two particles B
and C, the width is

(14 cos®6), (2.78)

S
= 3Pal e (2.79)
8mm?y
If the decay products are both massless, |pg| = |pc| = ma/2, and this equation simplifies to
S 2
I'= M7 2.80
6mma M| (2.80)

5Most often we write the spinor u4 (s4,p4) simply as us. When there is a summation over the spin, we must
remember that w4 always carries spin —1 or +1. Of course we do the same thing for e*.
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1

Scalar boson propagator: = a7
propag p? —m? +ie

_ iprm)
C p?2—m2+ie
—1 Pubv
= — - - 1 —
— 72‘9#1/
P2 + e

Fermion propagator:

Vector boson propagator:

Photon propagator:

External scalar line:

External fermion line:

ORI A

=u®(p) (initial)

!

=7u’(p) (final)

i

External antifermion line: =7°(p) (initial)

!

—v*(p) (final)

ol

External photon line: =€, (p) (initial)

!

=€ (p) (final)

QED vertex: iQev* (Q = —1 for an electron)

Fermion vertex: = igy*T* (T* is the generator of the group)

¥ |

s gf* g (k —p)"
3-boson vertex: b, vk = +9"" (p — )"
by g GP + g% (g — k)"
a b,v —ig? [ferefele (9409”7 — "7 g"?)
4-boson vertex: = + face fode (ghv gpo — ghe gvP)
c,p do 1 fade fhec (guw gor _ gup gre)]

Table 2.1: The propagators, vertices and external lines in momentum space for any SU(N) gauge
theory. The rules for QED and the photon have been included also. The € in the propagators is a
small number which can be ignored in most cases. Near the pole of the propagator however, one must
replace the € by the mass of the particle times its decay width (see e.g. Chapter 6). The gauge £ has
no influence on calculations [8]. For the gauge £ = 0 the Goldstone bosons disappear from the theory.
Taken from [9].
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Chapter 3

The Standard Model

The Standard Model of particle physics was developed between 1970 and 1973 and has been one of
the most successful theories in physics. Similar to the isospin theory discussed in the previous chapter,
the Standard Model is based on the idea of having a Lagrangian that is symmetric under certain local
symmetries. These symmetries then determine all of the interactions in the theory.

The model actually consists of two parts, describing two different forces in nature. Quantum
chromodynamics (QCD) is the theory that describes the strong nuclear force. Electroweak theory
describes the weak interaction unified with the electromagnetic force.

In Section 3.1 we highlight several striking discoveries in high energy experiments that provide
for a basis of the electroweak model. After determining which structure the Standard Model should
have, we start building the Lagrangian for electroweak theory in Section 3.2. The resulting theory
only contains massless particles, and in order to fix this we introduce in Section 3.3 the principle of
symmetry breaking. In the sections after that we examine the results of this principle for the gauge
bosons (Section 3.4) and for the fermions (Section 3.5). Finally in Section 3.6 we introduce QCD. In
Section 3.7 we give a quick summary of the whole Standard Model.

3.1 Experimental basis for electroweak theory

The electroweak theory is based mostly on three crucial clues from experiments (the terms left-handed
and right-handed will be introduced shortly):

1. Only left-handed fermions feel the (charged-current) weak interaction and those that do, only
interact in pairs of two. For leptons these doublets are

() () () (3.1)
(%) <§i) (Zi) (3.2)

The quarks d’, s’ and b’ are linear combinations of the mass eigenstates d, s and b:

and for the quarks

d Vud Vus Vub d
s’ = chd Vcs Vcb S . (3 3)
v Via Vis Vi b

This matrix V4 is the CKM matrix.

2. All (charged-current) weak interactions are equally strong, the weak force treats e.g. the electron
doublet exactly the same as all the other doublets.

3. Neutrinos are massless' and therefore travel at the speed of light. This also means that they have
a fixed helicity, and hence there are no interaction in the theory that transform a left-handed
neutrino into a right-handed one, or vice versa.

1Recent experiments have indicated that neutrinos actually do carry a tiny mass, but this was unknown during the
time that the Standard Model was developed. In this thesis we choose to simply ignore the existence of neutrino mass.
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Because the right-handed neutrino does not feel the weak force, is electrically neutral, and has a
fixed helicity, it does not interact with anything and is therefore excluded from the model. In other
words, we assume that the right-handed neutrino simply does not exist. The consequence is that there
are no right-handed doublets in the theory, but only right-handed singlets:

(er), (1r), (TRr)- (3.4)

Since the right-handed quarks do not feel the weak force either (a ug-quark never transforms into a
d'-quark), all of them are also singlets:

(ur),  (dg),  (cr), (k).  (tr),  (VR). (3:5)

Given these experimental observations the task is to construct a Lagrangian that agrees with these
experiments. The doublets are very similar to what we had in isospin theory. Therefore we postulate
that also the electroweak Lagrangian has an local SU(2)xU(1) symmetry.

3.2 Building the Lagrangian

Given the symmetry of the theory, we know how to construct the Lagrangian. There must be a kinetic
term for the fermions, a covariant derivative and a kinetic term for the gauge bosons.

Kinetic term of the fermions

To create a Lagrangian that distinguishes between left-handed and right-handed particles, we need
to use the helicity projection operators P, = 1 (1 —~;) and Pgr = 3 (1++;). These operators have
several very interesting properties:

PL+ P =1, (3.6a)
PLPr = PrPp, =0, (3.6b)
P} =Py, P% = Pp, (3.6¢)
P} =P,  P}=Pg, (3.6d)
Pryt = ~"Pp, 3.6e)

)

")/MPL = PR’}/H.

These identities can be easily found using (75)2 =1, ’yg = 75, and y5v* = —y*7y5. The left-handed
electron doublet for example, can be written as

we ()= (B )-n () o

while the right-handed electron singlet is simply

Re = (eR) = PRe. (38)
For the adjoint left-handed spinor we have

U =Pri = (Pro)'y = 0T P[y° = 41 Pr® = 01y Pr = ¥ P, (3.9)

and similar, _ _
Yr=PrY=19PL. (3.10)

The adjoints of the electron doublet and singlet are then
Le = (Ve e )=(7e €)Pg, (3.11a)
R. = (er) =¢ePr. (3.11b)

Using the properties of Py, and Pg, the mass term of the electron becomes
—meee = —mee(Pp+ Pr)e
= —Mmee (P]% + PI%) e
—Me (EPLPLC + éPRPRe)
= —Me (ERBL + EL@R) . (312)

22



This is a problem. The Lagrangian is by definition a scalar quantity, but —m.égre;, and —mc.€erer are
clearly not:

—MeERreL = —Me (eR)( eOL >, (3.13a)

—MerLer = —me( 0 er )(eR). (3.13Db)
Adding these two is not even possible because they have different sizes?. Conclusively, by dividing
a fermion into a left-handed doublet and right-handed singlet, we have excluded any possibility of
adding a mass term to the Lagrangian. For now we shall ignore this problem; the solution for giving
the fermions a mass is given later in this chapter.
Fortunately, we are allowed to have a kinetic term for the fermions:

iey'oue = iey'd, (PL + Pj)e
i€ (v“auPLPL) e+ ie (7“BMPRPR) e
ie (PR’y”aﬂPL) e+ ie (PL’yMa#PR) e

= iEL'y“ﬁueL + iER’V#aHeR

= i(0 & )wa#< eOL )+i(ER)7“8u (er). (3.14)

In this case the doublet is multiplied with its adjoint, resulting in a singlet which can be included to
the Lagrangian. Of course, everything said here for the electron is also true for the other leptons and
the quarks. The kinetic terms for all fermions are therefore

Lyp = iLe@Ly + iR¢@Ry +iLyL, + iR, IR, + iRy IR, (3.15)

where summation over £ = e, u, 7 and ¢ = u,¢,t and ¢’ = d’, s, is implied. Using the operators Pg
and Py, like before, it is easy to shown that this Lagrangian is equal to what we were looking for:

Liw = iU ver, + ilPl + iGdg + i dq'. (3.16)

Symmetries

The Lagrangian is invariant under a global symmetry SU(2)xU(1). This was to be expected, because
the electroweak theory has the same structure as the isospin theory from Chapter 2. Therefore is should
not come as a surprise that the quantum number T associated with SU(2),, is called weak-isospin and
that the quantum number Y of the U(1)y is called the (weak) hypercharge.

The doublets and singlets transform under the SU(2),,xU(1)y as

L(z) — L'(x)=exp <ig TaT—2a> exp (ig'Y) L (z), (3.17a)
R(z) — R (z)=exp(ig’Y)R(z). (3.17Db)

The 7% are the Pauli matrices. Because the right-handed particle R is a singlet under the SU(2),,
it transforms according to the 1-dimensional representation of SU(2), which means that for R the
SU(2),, transformation is the same thing as multiplying with a factor of 1. In other words, right-
handed particles do not feel the force of the weak isospin, the weak force. This has already been
mentioned in Section 3.1. Consequently, this means that for right-handed particles the weak-isospin is
equal to zero.

The adjoints L and R transform as

L@ = L@
an T
= LT (2)7%exp (igY)  exp <ig T“%)

= L(z)exp(—ig'Y)exp (—ig T“;) (3.18)

2 Actually, this is a different way of saying that a mass term would break the SU(2) symmetry of the Lagrangian.
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(using the hermiticity of the Pauli matrices, 7/ = 7,) and
R(z) = R (z) = exp (—ig'Y) R (z). (3.19)

With these expressions it is easy to see that the Lagrangian of (3.15) is indeed invariant under
SU(2),xU(1)y. Note that if we would have had a mass term, the Lagrangian would not be invariant
under the SU(2).

The covariant derivative

We shall now ‘gauge’ the symmetry. If we demand that the Lagrangian stays invariant under the local
gauge symmetry SU(2),,xU(1)y then we need to replace the 9, in (3.15) by?

D, =0, —igB,Y — igW;f%. (3.20)

Here the B,, and W} are the gauge bosons of U(1)y and SU(2),,. Since R is a singlet under the SU(2),
we need to use different expressions for D, L and D, R:

a
DL = (au —igB,Y — igWS%) L, (3.21a)
D,R = (9,—1ig'B,Y)R. (3.21b)
When substituting these into the Lagrangian, we find interaction terms:
iTy"D,L = iLy" <au —ig'B,Y — igW/‘jTQ) L

a

iLA"0,L + ¢’ B, IV"Y L + gWﬁw%L

= Luin,z + Lint,L, (3.22)
and
iRY"D,R = iRy"(9,—ig'B,Y)R
= iRy"0,R+ ¢'B,RY"YR
= Lyin,R *+ Lint,R- (3.23)

In this equations we can see clearly that there is no term for interactions of right-handed particles with
the W bosons.
Kinetic term of the gauge fields

Now that we have introduced the gauge bosons B, and Wy, we shall add the appropriate kinetic
terms. For the U(1) gauge boson B,, we have to add

1 v
L= —ZBWB“ , (3.24)
with B, the field strength given by
B,, =0,B, —-0,B,. (3.25)
We can also write this as
—ig'B,,Y =Dy, D], (3.26)
but then we must use T'= 0, i.e.
D, =9, —i¢'B,Y (3.27)

30ften D, is defined with —ig’Bug to make it look similar to the SU(2) term. From a group theory point of view
this is an unlogical choice, because Y is the U(1) generator and 7%/2 is the SU(2) generator. We shall take here the
same approach as Peskin & Schroeder [4] and use Y instead of Y/2. This has no influence on the physics, only on the
the value of Y assigned to each particle.
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because the B, field carries no weak-isospin. That this is so can be seen from the Lagrangian: there
are no interactions between B;, and Wj. Of course, this also means that the W7 carry no hypercharge.
Therefore for the W field we have

a

. aT
D, =0, —igW, 5 (3.28)
and we write )
L= fZWIfVW‘”“’, (3.29)
with the field strength
e T
_nguV? = [D;M DV] ) (330)
which can be written as
Wi, = 0,W — 9,Wy + ge WIW,. (3.31)

Lagrangian of the massless electroweak theory

We can summarize the total Lagrangian as
L = Lxr + LxgB- (3.32)
The Lyr are the kinetic terms for the fermions,

Lyp = iZf’y”DuLf —|—Z.Rf’y#DuRf

iff’y“ (8# — Z'g/B#Y — igWS%) L+ Z'Rf"}/# (8# — ig/B#Y) Ry, (3.33)
and Lygp the kinetic terms for the gauge bosons,
1 2 1 a abe 2
Lics = - (0.B, — 0,B,)" — 1 (0, W3 = 0, W + ge®™WiWS)”. (3.34)

Summation over the appropriate flavors f = £,q,q" is implied. The interactions between the gauge
bosons and the fermions are inside Lyp.

This Lagrangian gives a nice description of electromagnetic and weak interactions with e.g. the
B,, field as the photon and the W as mediators of the weak force. However, there is one big flaw: all
particles are massless. The gauge bosons W cannot be truly massless because otherwise we would
have seen them already in experiments. How can we give the bosons and fermions a mass without
losing the symmetry SU(2),,xU(1)y that generated the interaction terms?

3.3 Spontaneous symmetry breaking

The reason why all particles are massless is because the symmetry SU(2),,xU(1)y forbids mass terms,
as was shown in (3.13). Therefore the way to solve this is to break the symmetry. But we cannot just
leave out the symmetry, because that would ruin our whole theory. We need a more subtle way of
symmetry breaking.

There are actually different ways for doing this. We could argue for instance, that the symmetry
was never truly exact but just an approximate symmetry. That means that small mass terms in
Lagrangian are allowed that do not satisfy the symmetry. This is called explicit symmetry breaking.

The Standard Model uses a different way of breaking. By introducing a scalar boson with a specific
potential it is possible to induce mass terms for both the gauge bosons and the fermions. This is done
in such a way that all interactions still respect the symmetry, allthough the ground state does not.
This mechanism is called spontaneous symmetry breaking. How it works is explained in the next few
subsections.

25



0.75
0.5
0.25

-0.5

0.5 0.5

Figure 3.1: Plot of the Higgs potential of Eq. (3.36).

Goldstone bosons

To obtain a better understanding of the whole principle, we shall first break a global U(1) symmetry.
Imagine a complex scalar boson ¢ with the Lagrangian

L= (0,97)(0"0) =V (), (3.35)

where the potential V' is given by

V(9) = |0 + A" (3.36)

For p? > 0 and A\ > 0 the potential will have the shape of a Mexican hat (or the bottom of wine
bottle), see Figure 3.1. Note that in this case 2 has the wrong sign to be a scalar mass term.If the
system is in its lowest energy state (the vacuum) then V' will be minimal. That minimum occurs at

6 = 2. (3.37)

In other words, the expectation value for ¢ in the vacuum is (¢) = u/+/2X. For obvious reasons (¢)
is called the vacuum expectation value (VEV). Note that the vacuum state ¢ is degenerate; it can be
anything as long as |¢y| = (¢). For our calculations we shall assume that ¢, is real. This assumption
is valid, because we can always transform this state with an U(1) transformation to any other possible
ground state.

When ¢ is in its ground state, the U(1) symmetry will be broken. This spontaneous breaking
of the symmetry is something that also occurs in many other areas of physics. Imagine for example
a symmetric chamber filled with water vapor. At high temperatures the vapor will be uniformly
distributed throughout the chamber. When the temperature of the chamber is lowered, the vapor will
start to condensate. The first tiny drop of water could form anywhere on the walls of the chamber.
When this happens, the distribution of the water molecules is no longer uniform. We could say that
the symmetry has been broken.

We expand the field ¢ about the ground state:

1

¢(x):¢0+\/§

(61 () +igy (x)) .- (3.38)
The Lagrangian becomes

L= (040" (0"0) —V (6) = 5 0u01)" + 5 (0uba)” —V (9), (3.39)
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with the potential given by

"

Vo) =-15

. 1 1 1
+ 1201+ VAT + VIG5 + A0 + S MG + A (3.40)
Here we have substituted ¢, = p/v2\. Apparently, the real ¢, field has obtained a mass:

W6 = 3 (2?) & = L} (3.41)
with my = /2, while the ¢, field remains massless.

We have just witnessed an example of Goldstone’s theorem: for every spontaneously broken con-
tinuous symmetry, the theory must contain a massless particle. These particles are called Goldstone
bosons. In this case we have broken a U(1) symmetry, which means that only one of the ¢; and ¢,
fields is allowed to remain massless. If we would have broken SU(2) and had started with a complex

doublet like 5 "
_ 119
o= (i), (3.42)

then this would have become a set of three massless Goldstone bosons and one massive particle. Here
three fields remain massless because SU(2) consists of three continuous symmetries.

The Higgs mechanism

When we break a local symmetry, slightly different things happen. As an example we consider again
the Lagrangian of (3.35) but replace the ordinary derivatives with the covariant derivative of a local
U(1) symmetry:

L= (Dug") (D*) + i [8* = Ao]", (3.43)

with
D, =0,—1igA,. (3.44)

The potential has remained the same and therefore ¢ requires the same VEV (¢), we can expand ¢ ()

in the same way as in (3.38)
1

V2

and the potential becomes again like in (3.40) with ¢, massless and m; = /2u.
The kinetic term however, has now become

¢ (x) = do + —5 (91 (x) + iy (2)) , (3.45)

1 1
|Du¢|2 = 3 (8u¢1)2 + B (6u¢2)2 +V2¢,9 (0pg2) Ay + Q%QQAMA# +9(0upy) Audy
1 1
+592AHAM¢% + \/§¢092A/AA#¢1 -9 (8u¢1) Algy + 592A/tAﬂ¢§~ (3.46)

The terms cubic and quartic in the fields A,, ¢;, and ¢, represent the interactions between these
fields. The mass term

2
1
P97 A Al = ;L—AgQAMA“ = §m,24AMA“ (3.47)

indicate that the gauge boson has obtained a mass m 4 = pg/v\. Evidently, breaking a local gauge
symmetry generates a mass term for the gauge boson!
But there is something strange with the Goldstone boson ¢,. The term

\/§¢09 (@@2) Ay (3.48)

would translate into a vertex like [10]:

I

k = V2¢y9 (Ouda) Ay = mak”. (3.49)

We could interpret this as an indication that ¢, has somehow become a part of A4,,.
Using the local U(1) transformation,

¢ — ¢ = exp (ia(z)) ¢, (3.50)
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we can choose the gauge a (z) in such a way that ¢ () becomes real-valued at every point x. This
means that ¢, = 0 in (3.45) and that ¢, will vanish from the theory completely. Evidently, ¢, can not
be an independent physical particle, because the physics is always independent of the choice of gauge.

What has happened? One could say that the Goldstone boson was ‘eaten’ by the gauge boson,
thereby giving the gauge boson a mass term. In Section 2.3 we have already seen that a massless
vector boson can only have two physical polarization states; the longitudinal state is forbidden. A
massive vector boson has an extra degree of freedom: it can have all three polarization states. This
extra degree of freedom is provided by the disappearance of the Goldstone boson.

The generation of mass terms for gauge bosons by means of eating Goldstone bosons, is called the
Higgs mechanism. It is one of the key principles of electroweak theory and the Standard Model.

The Higgs in the Standard Model

We shall now use the Higgs mechanism to generate mass terms for the gauge bosons of the electroweak
theory. Instead of the local U(1) we now have SU(2)y xU(1)y, which means that we need ¢ to be a

complex doublet of scalar fields:
¢" > 1 ( ¢y + iy )
= = — . . 3.51
¢ < & )=\ o5+ie, (3:51)

In the Standard Model ¢ is called a Higgs doublet. Because ¢ is a doublet under the SU(2), its

weak-isospin must be equal to T = % The electric charge of the particles is again given by the

Gell-Mann-Nishijima formula,
Q=T3+Y. (3.52)

We choose for the hypercharge Y = 1/2 such that #° is a neutral particle and ¢ is positively charged.
The Higgs doublet has the usual Lagrangian

Ly = (Du9)T (D'6) — V(619), (3.53)

with the covariant derivative given by
D¢ = <aﬂ —ig'B,Y — igWﬁZ) &
i, Cora T
= Oy — ig B, —igW; 5 o. (3.54)
The Higgs potential V(ng(,zS) is equal to

V(9'0) = —2(6'9) + Me'9)%, (3.55)
with 42 > 0 and A > 0. The minimal potential is then

2
(63 + 63 + 03+ ¢3) = £ (3.56)

th —
' = o)

N =

A common choice for the ground state is

12
bi=2=0,=0, f=-"=0, (3.57)

where v is the vacuum expectation value. With this choice, the field ¢ (z) is neutral which means that
also the vacuum is uncharged. The expansion of ¢ (z) about the ground state is then

— / — 1 0
The neutral scalar field h (x) is called the Higgs boson. The three Goldstone bosons ¢, ¢, and ¢,
will be eaten by the gauge bosons.

The Higgs boson h will obtain a mass term via the Higgs potential in (3.55). According to
Goldstone’s theorem, we must have broken only three out of the four continuous symmetries of
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SU(2),xU(1)y. Apparently, there is still a symmetry left after the breaking. That symmetry is the
U(1)em of quantum electrodynamics. It is easy to demonstrate that this is the unbroken symmetry.

We have already seen that the VEV leaves the vacuum uncharged, ¢ = 0. In other words, the
charge operator leaves the vacuum invariant:

Q{¢) =q(s) =0. (3.59)

Or in terms of transformations,

(8) — exp (ia (2) Q) () = (1 +io(@)Q - 20 (@) Q7 +. ) (@) = (). (3.60)

In the next section we shall explore more on the effects of this electroweak symmetry breaking (EWSB).

3.4 Eigenstates of the gauge bosons

After determining the VEV acquired by the Higgs doublet, it is time to determine the mass terms of
the gauge bosons. To do this, we only need to substitute the VEV into the kinetic part of the Higgs
Lagrangian,

Liw = (D,0)! (D). (3.61)

Inserting the VEV into the potential simply returns the minimum value of the potential, which is just
a constant. Adding a constant term to the Lagrangian has no influence on the equations of motion
and can therefore be ignored.

By using the explicit form of the Pauli matrices, the covariant derivative can be written as

gWS +2¢'BY g (W/} — zWi) ) .

Du=0u=3 < g (W+iW?)  —gW?+2gB,Y (3.62)

For ¢ (x) = (¢) we then find

1 0 w [ g(W!—iW?) )
D d=—D = I K , 3.63
= “(1)) 2\/§<—gW3+9/BM (363
and the Hermitian conjugate

(D #qs) W,}+iW§) —gW2+9'B, ). (3.64)

ikl
Hence, the Higgs sector of the Lagrangian becomes

Ly (¢ = () (D,u9) (D"g) —V

- 1“9 Wt —iw2|® +——(gB —gw?)*. (3.65)

The first term is the mass term of a complex (and therefore a charged) vector field:

11}292 1

1 orir2\* 172 2 -
(W, —iW2)" (W —iWw?) = §mWWﬂ+W ”, (3.66)
with mass
mwy = vg/2. (3.67)
The two mass eigenstates are then
1 )
WE=—(W)FiWw?). (3.68)

V2

The second term in (3.65) is the mass term of an electrically neutral particle,

1v? 3 ’ 2 1 5 2
57 Wi —9'Bu)" = gmz (Z,)" (3.69)
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To find the proper mass eigenstate we write the mass term as

102 1 3
5% (FPWIW?H — 29g'W3BH + g B, B") = 5( W2 B, )M2< ng ) (3.70)
with M? the mass matrix,
v (g —gg
M? = — . 71
4 ( _gg/ g/2 > (3 )

The mass eigenstates are then found by diagonalizing this matrix, with the eigenvalues the m? of the

particles. The normalized eigenstates are found to be:
Z _ 9Wi— 9By 4, =1 ‘W, +9Byu
m /g2 + g2 H /g% + g2

(3.72)

with the masses given by

mz = V@ 9 ma = 0. (373)

2

These results can also be written in terms of the weak mizing angle 8,,. Define

/

g g

cosf,, = W, sinf,, = W’ (3.74)
then
Z, = cosby, W —sinb, B, (3.75a)
A, = sinf, Wl‘j’ + cos ., By. (3.75b)
The inverse equations are
B, = cosb, A, —sinb, Z,, (3.76a)
Wj = sinf, A, +cosby, Z,. (3.76Db)
Using the notation of 6,,, we find the important relation
mwo_ 7%7}9 = cosb,,. (3.77)

my %’U g2 +gl2

The covariant derivative after EWSB

Now that we have found the masses and mass eigenstates of the gauge bosons, we can focus on the
remaining U(1).,, symmetry. The best way to do that, is to examine the covariant derivative. When
we substitute the eigenstates of W/f, Z,, and A, into the explicit form of the D, in (3.62), we find

D o & _ i gWi’ +2¢'BY g (W; — sz)
. oo\ g(Wh+iW2)  —gW?+2¢'B,Y
) Y +1) g A, + —2Xd°43" 7 oW+
_ i QY +1) geAy + =42, gVv2W] 2 -
_ —2vg"2—g2 v 9
2 g\/iwu <2Y — 1) geAu + ﬁZﬂ
where we have used
+gW3+2¢9'B,Y = Lglsin6, A, +cosby Z,]+ 29 [cosby Ay —sinby, Z,]Y
= (2¢9'Y cosf, £ gsinb,) A, + (—2¢'Y sinf,, £+ gcosb,) Z,
= 2V +1)g.A, + —g?tg? ” (3.79)
/92 +g/2
and defined ,
Je = _9%9 ___ g’ cosfy, = gsinb,. (3.80)
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Using the operators T+ and 7% defined by

1
T = 7= WG (rh +ir?), (3.81a)

™ = -7 (3.81b)

we can write D, more elegantly as

_2Yg/2 + 2T392
/g2 + g2 s
: +t -\ _ 3 (¢°T° — g?Y)
= (9H — 19 (WH T + WU« T ) — 10 (T =+ Y) AH — ZWZM. (382)

If we compare the term with A, to what we have in QED, we find that
Q=T3+Y, (3.83)

Du = 8= 5gVZ(WiVaTT + WivVaT™) = 2 | (2 +27%) g A, +

1
2

and that g. is the QED coupling constant, equal to the (absolute) charge of the electron e. Note
that (3.83) was not put in by hand, but is a direct consequence of the breaking of SU(2),xU(1)y —
U(1)em.-

With (3.83) we can also proof that the definition of the W in (3.68) gives the correct charges.
Because the W particles have no interaction with the B, field, their hypercharge is zero: ¥ = 0. Using
the operator @ on the W, we find

QWIT?) = (I°+Y)(WiTh) = WiTT+ = 4 W T, (3.84a)
QW,T7) = (I*+Y) (W, T7)=W,T°T" = —%W;T*. (3.84b)

Indeed, we see that the charges are correct.

Interactions between fermions and gauge bosons

Before we can do any calculations with the Standard Model, we need to know the exact form of the
interaction terms between the fermions and the gauge bosons. To find these we simply substitute the
covariant derivative with Wj[, Z,, and A, into the kinetic Lagrangian of the fermions. For simplicity
we shall only consider the charged-current weak interaction of quarks. This is the dominant interaction
in single-top processes and actually the only interaction at leading order.

If we ignore the neutral currents the covariant derivative reduces to

Dy, =8, —ig(WSTT+W,T™). (3.85)

All right-handed quarks are singlets under the weak SU(2), so for them T+ = T~ = 0. For the first
family of quarks the kinetic Lagrangian (3.33) becomes

EkF,u = izu’Y#D;LLu + Zﬁu’yuDuRu + iﬁd’Y#DuRda
_ _ —/ m . Q 0 Wj ur, o =/ "
Z( ur dp, )’Y (au NG { WH_ 0 d, +ZuR$uR+zdR(3dR
— du+id 3d — Lagyrwrd, — L q Wy, (3.86)
V2 i /2 p
In the last step we have used (3.14):
iqrY" Ouar + 1q " Opqr, = gy  0ugq. (3.87)

With further use of the operators P;, and Pr we see that the interaction terms can be written as

ig _ ig
Ling = ——zupy'Widy, =——x

V2 V2
= —i—gﬂ’yMPLPLd/W+ = —i—gU’YHPLd/W-F
V2 g V2 g

EPR’}/HPLd/W:

ig _ +
—mu’y“ (1 —5)d'W,. (3.88)
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The d’-quark here is not in its mass eigenstate, but is actually a linear combination of quarks as
described by the CKM matrix of (3.3):

d' = Viygd + Vygs + Vih. (3.89)

Apparently, the L;,; actually consists of three independent interactions. For each of them we can
construct the charged-current weak interaction vertex:
4q;
W e ng 3.90
2\/5'7 ( ¥s5) ij- (3.90)

qi

This vertex is valid for the quarks ¢; = u,c,t and ¢; = d, s,b.

3.5 Fermion masses

The Higgs field can also be used to give the fermions a mass term. This is done by means of a Yukawa
interactions between the Higgs doublet, the left-handed doublet and the right-handed singlet:

Ly = —A (Z¢R n EqﬁL) — AL4R + hec, (3.91)
where the h.c. stands for Hermitian conjugate. The constant A is a free parameter of the theory; its
value cannot be predicted by the Standard Model itself. Because we need a different constant for each
fermion in the model, this means we have to add 9 extra free parameters to the theory.

The generation of the mass is a bit different for the quarks than for leptons. This is because of the
fact that there are no right-handed neutrinos in the model.

Mass terms for leptons

For the leptons the Yukawa coupling is simply
Ly == (Red' Lo+ TeoRe) (3.92)
with summation over ¢ = e, i, 7 implied. Using the expansion of ¢ about its VEV,

¢(z) = % < U+%(x) ) (3.93)

the Yukawa couplings turns into

_ )\g — verL )\é — 7 0
ACY’Z = _E(ER)(O ’U—|—h)( 0 >_7§(VZL EL)<U+h)(€R)
e Ae 5
_7%z3(v+h)zL_7%zL(v+h)eR
)\(U — = )\Z 7 7
Y Ol 4 TplR) — 2L (Tpty +Trlr) b
\/§<RL LR) \/E(RL LR)
)\zv

-
——00 — —Vlh. 3.94
7 7 (3.94)

In the last step we have used (3.12):
—mﬂf = —My (ZRKL —I—ZLER) . (3.95)

It is clear that the first term in Ly, is a lepton mass term with the mass equal to

(3.96)



The reason why we can add a fermion mass term in this way, is because the Higgs doublet has exactly
the right size to combine the right-handed singlet and the left-handed doublet together in a proper
way. Without the Higgs doublet this would have been impossible, as we have seen in (3.13).

The second term in (3.94) is an interaction term with the three-points vertex

k= —i% = i me/v. (3.97)

|

Interestingly enough, the coupling with the Higgs boson is proportional to the mass of the lepton. This
is true for all masses in the Standard Model. Evidently, the top quark must have quite a strong coupling
to the Higgs, because the top mass is so large. Therefore, by accurately measuring the properties of
the top we are able to learn more about the properties of the Higgs boson.

Mass terms for quarks

In a similar way as with the leptons, we can use Yukawa terms to generate masses for the quarks.
However, if we would use the same procedure as for the leptons, only the lower half of each left-handed
doublet will acquire a mass. For leptons this is excellent since the neutrinos are considered massless,
but for the quarks this would be totally wrong.

The solution is to use not only the regular Higgs doublet with fields ¢° and ¢, but also a doublet

of its antiparticles, 50 and ¢ . We can place these fields into a doublet any way we like. However,
we don’t want to spoil the SU(2) symmetry and therefore we demand that the anti-Higgs doublet
transforms in exactly the same way under SU(2) as the original doublet. The correct doublet to use

then is o
()Y (F) e

Near the VEV of the ¢ we can expand the doublet ¢ as
1
¢ (z) = —= ( U+g($> > : (3.99)

The Yukawa terms that we add to the Lagrangian are (taking w and d as an example):
Lyu=—XiLy¢Rq — \iLy,¢°Ry + h.c. (3.100)
Using the antisymmetric tensor €;; = (—iTz)ij. this can also be written quite elegantly as
Ly = ~AiLy¢Ra — M\uLuacard) Ru + h.c. (3.101)

Substitution of the expanded ¢ (x) and ¢ (x) into these terms leads to

ACY,u

iy (med + Ruo! Ld> — (ZmCRu Ty Lu>

A I M ~ _
- —7‘% (v+h) (de’L + de;%) = T (0t ) (@ + W) (3.102)

This calculation goes analogously to the one in (3.94). Even though we can write

Ay AyU_ Ay
—— (v+h) (Wrur + UrLug) = LU - 2

V2 V2 V2

we cannot do exactly the same for the d’, since d’ is not a mass eigenstate. We need again the CKM
matrix Vj; of (3.3). Using the notation

auh, (3.103)

d; = (dy,dy,dy) = (d,s,V), (3.104a)
U; = (U1,U2, U3) = (’LL,C, t)a (3104b)
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then the expression of (3.89) becomes
d, = Vid;. (3.105)
Therefore . . B B B
dipdiy, + dipdip = Vij (dirdjr + djdir) = Vijd;d;, (3.106)
and so the Yukawa Lagrangian for all quarks is then

/\d UV” )\d VZ] )\u v /\u, _
d;d; — djdjh — 2w, — “Lq;uh. 3.107
V2 V2 vzt (3.107)

As expected we find similar expressions as with the leptons.

‘CY,q

3.6 Quantum chromodynamics

Sofar we have only discussed the electroweak part of the Standard Model. The strong force is only felt
by the quarks and is described by quantum chromodynamics (QCD). QCD is a gauge theory with an
exact SU(3) color symmetry. Each quark is considered to be a color triplet, for example an up quark
is written as
UR
u=| ug |. (3.108)
up

These triplets transform under the local SU(3). as
Ab
u(z) — o (z) =exp | igs o (z) 5 |u (x). (3.109)

The A’ with b =1,2,...,8 are the eight Gell-Mann matrices and are the generators of SU(3), similar
to the Pauli matrices of SU(2).

To extend electroweak theory with QCD, we only need to make some small additions. It already
contains the correct kinetic Lagrangian for the quarks,

Lyr,q = iqY"0uq = 1GrY"Ouqr + 1GcY" Ouqc + iGpy" 0uqB, (3.110)

but the covariant derivative needs an extra set of gauge bosons, the gluons:

a )\b
D, =0, —igB,Y — z’gw;j% —ig.Gl 5 (3.111)

Adding the gauge bosons GZ to D, means that we also must add an kinetic term for them:

buv b
Lycp,c = —fG "G, (3.112)
with the field strength similar to (2.41):
/u/ a Gb 8 Gb +gsfbchc Gd (3113)

The antisymmetric tensor f°¢¢ are the structure constants of the SU(3) group, which means that
A
[7, 7] = szcd7. (3.114)
Most of them are zero, but using the antisymmetry one can obtain all of them with
f123 - 1 f458 f678 \/_/2

1
FUT 246 _ p25T _ ¢35 _ 516 _ p637 _ 5 (3.115)

Note that the electroweak symmetry breaking has no influence on QCD; after the breaking the quarks
will obtain a mass, but they remain the same color triplet.
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3.7 Summary
The complete Lagrangian of the Standard Model can be summarized as
Lsm = Lyr + Lxep + Ly + Lo + Ly

Here the kinetic terms of the fermions are

Lip = iLePLy +iR(DRy + iLyi PLyi + iRy PRyi + iRgi DRy
The kinetic terms of the Goldstone bosons are

fuc =~ L5, — Lo, - Loy,

with the field strengths given by

B, = 0,.B,—9,B,,

W, = 0Wg—0,W+ ge™WiWy,
b b b bed e ~d

G, = 0.GY - 0,Gl+ g, f* UGG,

(3.116)

(3.117)

(3.118)

(3.119a)
(3.119b)

(3.119c¢)

and f%¢¢ the structure constants of SU(3). The Higgs sector of the Lagrangian consists of the kinetic

term for the Higgs boson
L = (Dug) (DF0),
and the Higgs potential
Lon =~V (6'0) = 1?(0') — A(979)%.

Finally, the Yukawa terms are given by
Ly = —/\gfg¢Rg - /\dlful ORgi — )\uizuia€ab¢zRui + h.c.

In all cases the covariant derivative is given by

a )\b
D, =08, —igB,Y — igW;f% —ig Gl 5

and is summation over leptons ¢ = e, u, 7 and quarks u’ = u, c,t and d* = d, s, b implied.

(3.120)

(3.121)

(3.122)

(3.123)

Table 3.1 lists the representations and quantum numbers of all the particles in the Standard Model.
The value for the weak-isospin T depends on if the particle belongs to a doublet or triplet. The
hypercharge Y is chosen in such a way that the correct charge @) is obtained. Table 3.2 gives a

summary on how to extract masses and interactions from a Lagrangian.

Table 3.1:

SU(3)xSU(2),xU(1)y, and their quantum numbers.

representations quantum numbers
particle SU(3).xSU(2), xU(1)y T3 Y Q=T3+Y
VeL,VuL>VrL (1,2)71/2 —|—1/2 —1/2 0
€L M, TL (1,2) 45 —1/2 -1/2 -1
€R, lRps TR (1,2)_, 0 -1 -1
ur,cr,tr (3:2)11/6 +1/2 +1/6 +2/3
dr,sr,br (372)“/6 -1/2 +1/6 -1/3
UR, CR, R (3,2) 193 0 +2/3 +2/3
dR,SR,bR (3,2)_1/3 0 71/3 *1/3
g (8,2), 0 0 0
wE wo (1,3), +1,0 0 +1,0
B (1,1), 0 0 0
¢, ¢ (1,2) +1/2,-1/2 +1/2 41,0

List of all particles in the Standard Model, how they transform under the groups
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Kinetic terms
Substitute D, = 0,, into the appropriate Lagrangian: Lyr, Lxgn, or LiH.

Mass terms
Fermion mass: substitute ¢ = (¢) into Ly.
Gauge boson mass: substitute ¢ = (¢) into Lxg.
Higgs mass: substitute VEV of ¢ into L,u.

Interactions
Fermions-gauge bosons: expand D, in Lyp.
Fermions-Higgs: substitute ¢ () = (¢) + ¢’ (z) into Ly.
Gauge bosons-Higgs: expand D, in Lig.

Self-interactions
There are no fermion self-interactions.
Gauge boson self-interactions: expand D,, in Lyp.
Higgs self-interactions: substitute ¢ (z) = (¢) + ¢’ (z) into Lyn.

Table 3.2: The procedures to find a specific term in the Lagrangian.
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Chapter 4

Top physics in the Standard Model

Top physics is an excellent probe for new physics. The top has a mass almost 5 orders of magnitude
larger than the lightest quark (~175 GeV). Because of its large mass the top is expected to have a
strong coupling to Higgs bosons. Furthermore, the top can also be used to find new heavy particles
of beyond the Standard Model. When such a heavy particle decays, it is very likely that it will decay
into a top quark, causing the cross section of top production to rise. Besides its heavy mass, the top
also has several other interesting properties. The lifetime of the top is about 1072° seconds, which
is about 20 times faster than the time scale for strong interactions. Therefore the top decays into a
b-quark and a W™ before it can hadronize. This feature gives physicists a unique opportunity to learn
more about unbound quarks.

Before we look at the predictions made by new theoretical models, we should first review the ins and
outs of top production in the Standard Model. Basically there are two distinct ways called single-top
production, and ¢¢ (pronounced as t-t-bar). With single-top processes it is possible to directly measure
the value of the CKM element Vy;,. If that value deviates a lot from unity then that is a sign that there
could be a fourth generation of quarks. Even though single-top production is the main subject of this
thesis, ¢ has been included here in order to provide a more complete picture of top physics. Also, the
tt processes are expected to be the main source of background signals for the single-top processes.

This chapter starts with an analysis of #f in Section 4.1, followed by the analysis of the single-
top process in Section 4.2. In Section 4.3 we present the numerical evaluations of the cross sections
calculated in the first two sections. Section 4.4 deals with the decay of the top. Finally, in Section 4.5
we share some thoughts about what influences we can expect from a theory that extends the Standard
Model.

4.1 Top quark production via tt

The top quark was first discovered in 1995 by the CDF and D@ experiments at the Tevatron (Fermilab).
The process with which this was done, was p+p — t + £, i.e. a proton-antiproton collision producing
a tt pair.

At leading order tf production there are two dominant subprocesses. These are called quark
annihilation (¢¢ — g — tt) and gluon-gluon fusion (g9 — g¢,t — tt). For the first subprocess we
have only one Feynman diagram and for the latter there are three (see Figure 4.1).

Quark-antiquark annihilation

The invariant amplitude for the Feynman diagram of Figure 4.1a is given by

M= [l 00 ] | S| i (00,
= =i () ) B ug) [Ty, - (4.1)

with k = p, + p; and A* the eight Gell-Mann matrices (see Appendix B). The index a = 1,...,8
corresponds to the type of gluon and the indices i, j,k,l = 1,2,3 are the colors of the quarks. Just
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b) ¢ t g t g t
g t g t 9 t

Figure 4.1: The production of tf via quark-annihilation (a) and gluon-gluon fusion (b).

as we always do with spin, we shall sum over final colors and average over initial colors. Note that
because the Gell-Mann matrices are Hermitian,

(A5 = (A5 = A% = (), (4.2)
Because there are three colors, averaging over the initial colors leads to a factor of 1/3 x 1/3 =1/9:

ME = 3305 3 0,00 (), (),

all spin all color

x [0g7"ug) [ty ve] [047" ug)" [y, ve]”

4
B 3524 (W55 A% ()‘b) i ()‘b)lk Z [0g7" ug] [y, ve] [y v] [T, ue]
all color 7t all spin
= 36k:4 ()\a)\b) Tr ()\a)\b> Z [057" ug) [Ggy" vg) [ﬂﬂuvg] [OFy, u] - (4.3)
all spin

Here we have used

;
o1 )" = [0§1%77 g | = win" 10 =l v = 51" vy, (4.4)

and
[y, vil” = vy, ue. (4.5)

The Gell-Mann matrices are normalized according to
Tr ()\“Ab) = 257, (4.6)
and so the product of the traces turns into
Tr (X’)\b> Tr ()\“)\b) — 4. (4.7)
Using the completeness relations, we find

Y Bprtulagy vgl = Y0 (09 (1")ap (ue)s (), ()15 (va)s

N .Zf (va)s (Ua) | (V)ap Z (ug)s (@), | (07)
= [ (g = ma) o (p, +ma) 7
- T {pﬂumu} . (4.8)
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and

Z [ﬁg'y“ut] [@sy,vg) = Tr [(pt_ — mt> Yo (pt + mt) 74 . (4.9)

spin &,t

Evaluating |/\/l\2 using the program FORM [11], we quickly find

4g% 4 167202

2 . A . - .
IM[|” = 02 (U% + f% + 2mfs) 9 @ (uf + t% + 2m?5) , (4.10)
and thus the cross section becomes (see Appendix A)
26 (47 — 1) 1 MP 47ra§(A2+£2+2 25) (411)
= A - = T = U ms;s). .
dirdi 16742 ggt \A T A
The Mandelstam variables used here are defined by
§ = k= (pg+pg)” = 2pqpa; (4.12a)
b= (pg—p)’ —mi = —2pyp1, (4.12b)
iy = (pg—p0)® —mi=—2pp;. (4.12¢)

The value of a; depends heavily on the energy scale of the process. It is conventional to use the oy at
the mass scale of the top quark m;, so here one should read o, = ay (m?)

Gluon-gluon fusion

Calculating the cross section for the gluon-gluon fusion subprocess is much more difficult. As one
can see in Figure 4.1b there are three diagrams involved. One of the diagrams contains a triple-gluon
vertex which makes calculations even harder. Because the actual calculation is tedious and not so
enlightening, we present here only the result [12],

o gy = o3 [Shin i (5 dm)
diydiy 832 | &2 3ty
dtvan —2m3 (b +2m7) 41 — 2m7 (i + 2m7)
3 12 3 ?
tyiy +m? (g — 1t tyin +m? (b —a
13 1U1 AtA( 1 1) 13 1U1 tA(l 1) (4.13)

The parton model and pp, pp — tt cross sections

Because of hadronization it is impossible to do experiments with free quarks. Therefore protons are
collided with (anti)protons, in an attempt to make one of the partons in the first hadron hit a parton
of the second hadron. To do calculations for hadron collisions, we need to know which fraction = of
the proton’s momentum is given to the parton. We also need to know the probability that we can hit
a certain parton in the proton. However, the probability to find a specific parton depends heavily on
the momentum of that parton.

The protons collide with a large momentum, P. If the momentum is large enough, we can neglect
both the mass of the parton and that of the proton, |P| > m, M. We are then allowed to write the
parton momentum p as

p =P, (4.14)

where x is the momentum fraction, a number between 0 and 1 [13].

The probability to find parton ¢ with a momentum z; P inside the proton is given by the parton
distribution function f (z;, 1), PDF for short. The PDF is a function of the momentum fraction z; and
the scale p. To be precise, f (x;) dz; represents the number of partons of type i that have a momentum
fraction between x; and x; + dz;. The scale p specifies which renormalization scale is used. When the
PDF is used to make QCD predictions for a certain process, u should be approximately of the same
size as the momenta that is involved in the process. Since all of the top production processes involve
momenta in the order of the mass of the top quark, we shall take p = my. A plot of f (z;, u = my) is
shown in Figure 4.2.
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The total differential cross section for pp — tt can be found by summing over the different partons
for both the cross sections for q7 — tt and gg — tt,

d?6 "
=) = Z / & (g7 — 1) f (24) f (wq) dgdy

£ / 5 (99 — 1) f (24, f (2g,) dirgy . (4.15)

91,92

To find the total differential cross section for pp — tt, we need to use the pDF for antiprotons. There
is no need for a separate function however; the only difference between the proton and antiproton is
that the u- and d-quarks are @ and d in the antiproton. Hence, we can use the same f (z;) but with
the interchanges u < @ and d < d.

1

0.01 0.1 1
T

Figure 4.2: Parton distribution functions at the scale y = my, relevant for top quark production (taken
from [14]).

4.2 Single-top production

There are a number of different ways to produce a single top quark. At tree-level there exist three
subprocesses. These processes are the s-channel process,

q+q - W —=t40, (4.16)
the t-channel process,

g+b—WT = ¢ +t, (4.17)
and the Wt-associated process,

g+b—t—ot+ W™ (4.18)

The accents on the ¢’ and ¢’ are there to indicate that those quarks have a different flavor than the q.
The diagrams for each process are shown in Figures 4.3, 4.4, and 4.5.

The s-channel single-top

As a particular example of an s-channel single-top process we calculate here solely the amplitude for
u+4d — WT — t +b. For any other s-channel single-top process one can simply replace the d-quark
by an 3- or b-quark, and the u-quark can be replaced by a c-quark. The presence of the top quark in
the proton is small enough to be neglected. Changing the quark flavors has no effect on the invariant
amplitude (4.27), with the exception that the V,4 must also be replaced by the appropriate element
of the CKM matrix. The Feynman diagram for the s-channel process is shown in Figure 4.3.
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d,5,b b
Figure 4.3: The Feynman diagram of the single-top s-channel subprocess.

Using the Feynman rules of Table 2.1 we translate this diagram into

_iGw —igu igw 7
—iM = [ 2\/5’7 (1—’75)Vuduu] [kz_;;b%v} {ubﬁ’y (1_75)thvb:|, (4.19)

with k& = p, + p; the momentum of the W. The matrix element squared becomes (averaging over
initial spins and summing over final spins):

2

9w|Vd| |Vio|” Guw o
M = Z e | (=) ] | e | [ (1= 5) vg)
all spin w
= 256gw|Vud| Vi * X5V, a2 (4.20)

Writing the amplitude in this way will proof to be very useful later on when we examine the Topflavor
and the Littlest Higgs model. Here we have defined the tensors X#*, Y., » and Z YA as

Xeeo= 0y oy (1= 5) wd] 07" (1= 75) wal”, (4.21a)
spin u,d
g;u/ Gk *
Y, KUN — |: :| |: :| 5 (421b)
I k2 . k2 W
77 = Z [aw (1 —7s5) vg] [@™ (1= 5) Ua]* . (4.21c)
spin t,E

First we calculate the tensor X#*. Because 057* (1 — 7v5) 4y is a complex 1 x 1 matrix it is the same
as its Hermitian conjugate:

— K * K T
B (L=vs)ua]™ = [var"y" (1 —75) uu]' = ul, (1 —75) 711004
= ul, (1= 75) Y703 = ul 2 (1 + 75) 7704
= Uy (I +75)7"vg = @™ (1 = v5) vg. (4.22)

Then, using the completeness relations,

xXr= 3 B (= s) ] [y (1= 75) val”
= Y @)a (" (1 =75))ag Wa)g (@), (Y (1= 75)),5 (va)s

= > (05 00 (" (1 =75)ap Y (wa)g (@), (7 (1= 75)),5

spin d spin u
= (pa—ma), (" (0= 5D (P, ), 07 (=73,
= Tr Kp‘f — md-> (1 — ) (pu + mu) ~7 (1 — 75)} . (4.23)
The third tensor Z¥* is very similar to X#*, so we can immediately write that down:

2 =Y e (- [i (- 25) ]

spin t,b

r [(pt * mt) 7 (1= 7) (Pz; - mé) (- 75)} : (4.24)
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d,s,b U, ¢

Figure 4.4: The two Feynman diagrams of the single-top ¢-channel subprocess.

The final thing we have to do is calculate the tensor Y),..x,

Guv G
Vs = —I028 (4.25)
(k2 —miy)

This expression has to be multiplied with X**Z"*. Setting m, = mg = mj = 0 and using FORM to
calculate the traces, we find a most elegant result:

64 (4 — m?) 4
ey zoh = S mi) (4.26)
(8 —miy)
The |M|? is then
— 1 i —m?)a
AP = 3t ial? v L2 (a.27)
5 —miy
with § = k2 = (p, +pg)” and @t = (pg —p)*.
The total cross section for the process pp — tb via the s-channel subprocess is
— 1 o —m?) i t—m?2)t
S OME =g [p, )y, Lo (1.28)
all partons (S - W) (S - mW)
where Fy,/, and Fy/, are flux factors given by
Fus = uydy |Vud\2 + U152 |Vus|2 + u1by \Vub\Q
terds |Veal® + €152 |Ves|* + crba [Vi | (4.29a)
Fis = updi |Vaal® +uasy [Vis|® + usdy [Vi|?
teady [Veal® + 281 [Veo|* + 2b [Vio . (4.29b)

Here we have used the notation ¢; for the parton distribution function of parton ¢ in proton j.

The t-channel single-top

Let us now examine a close cousin of the s-channel. The Feynman diagrams for the ¢-channel process
are shown in Figure 4.4. It is clear that both processes are almost the same: Interchanging p,, and —pg
in the s-channel process u + d — t + b gives you the ¢-channel process b+ d — t + @, which is exactly
the same as interchanging § «» . This means that we can find the amplitude simply by crossing the
results of u +d — t + b:

— 1 5§—m?)s
M = g0 [Vl Vi (7)2 (4.30)
(t —miy)
Subsequently, by using the interchange § «<» @ we find the amplitude for the second diagram:
— 1 o —m?)a
IM[* = e |Vaaal* [Vis (—;)2 (4.31)
(t —miy)
The total cross section for the ¢-channel subprocess is then
— 1 §—m?)3 i —m?)d
SoMP = 193 Fs/t(A—2t)2+Fu/t(A ;)2
all partons (t - mW) (t - mW)
§—m?)s t—m?)t
+ Pg/u { ;) 2 +}?t/u t) PRIR (4'32)
(@ —m3y) o —myy)
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where Fy,/, and Fy/, are flux factors given by

Fue = diVial® |2 (|Vaal® + Vsl + 1Viol*) + @2 (Vel® 4+ Vel + Ve ) |
51 [Vial? [z (|Vaal® + Vs + Vi) 4@ (Veal” + Vsl + Ve )
51 [Viol? [ (1Vaaal” + [Vl + WVaal) + 2 (Ve + Vo + Va?) ] (433)
and
Fup = duVial® [da ([Vaal® + [Veal”) + s (IVasl® + Visl?) b2 (Vi + V)
51 [Vial? [ds (1Vaal® + Veal?) + 5 (1Vasl® + Vs ) + b5 (Vi + [Vasl?)]
51 [Viol? [da ([Vaal® + Veal”) + 52 (1Vasl? + Ves ) + b2 (1Val* + Vo) |, (4:39)

and similar for F}/, and Fy/,.
If we define

thh = t—mi=(pa— pfi)g —mg, (4.35a)
4 = 4= (pa—py)°, (4.35D)

such that § + & + 4y = 0, then the differential cross section for the first diagram becomes

d?6 1 5—m?)3 A )
T = 6793” Vaal” [Vis)* — ( ; ) 0 (3 ). (4.36)
sauy a (t1 +mi — mW)
We rather have df; in the denominator than ds. Writing § as § = —t — i1, then
ddi, = ( 05 4i, + 28 dﬁl) diy = —diydiy — (din)? = —di1di. (4.37)
otq 0ty
Therefore,
d*o 1 9 9 s (s — m%)
=——aq. | Vaud|” | V4 é t , 4.38
dt i 9w [Vaal™ [V (4 — i) (s+t1+w) (4.38)

. 2 2 2 2
with s = (pg+ )7, t1 = (pa — pg)” — m; and u; = (pp — pa)”-
The invariant amplitudes for both the s-channel and the t-channel have been compared to those in
the article [15] and were found to be equal (see Tables 4.3 and 4.4).

Wt-associated production

The Feynman diagrams for Wit-associated production are shown in Figure 4.5. As one can see, this
subprocess is a mixture of strong interactions and weak interactions. At the Tevatron this process can
be ignored, but at the LHC the Wt-associated process will be responsible for 25% of all the single-top
events [16].

In this thesis project we have chosen to put our emphasis on single-top processes that only involve
weak interactions. Therefore we present here only the Feynman diagrams, we will not perform any
calculations for this process.

a) g t b) g t

d,s,b w d,s,b w

Figure 4.5: The two Feynman diagrams of the single-top Wt-associated subprocess.
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4.3 Numerical results for top production

In order to verify a theoretical model we need to be able to turn our calculation into predictions
that can be checked in an experiment. In this section we introduce some important variables often
used in experiments, followed by the predictions that the Standard Model makes for ¢t and single-top
production.

Rapidity, pseudorapidity, and transverse momentum

The most important observable of a process is the cross section, which tells you how often an event of
that process may occur. Even if it is not possible to measure the cross section directly, one can often
still measure a branching ratio, the ratio between two cross sections.

But in a typical accelerator experiment we can do more than just count the number of events we are
interested in. By combining different types of detectors, it is possible to identify the particle, measure
its energy F, and determine its momentum:

p=(E,p) = (E,pz,py,p-) = (E, |p|sinb cos ¢, |p|sin O sin ¢, |p| cos b)) .

The z-axis is chosen to point along the proton beam!, so 6 is the angle between the beam and the
particle. The initial momentum of the protons (and of course the partons) is unknown. Therefore
we cannot use conservation of momentum in this way. However, we do can use conservation of the

transverse momentum,
— 3 _ 2 2
pr = |p|sin€ = |/p2 + p2,

because pr = 0 before the collisions and should therefore also be zero after the collisions.

Because the whole system is symmetric under ¢, the angle does not give us any information about
the process. The angle 6 on the other hand does, and is therefore a very useful quantity to measure.
However, instead of working with 6 particle physicists prefer to use the pseudorapidity,

2= -ta 1 (10))

The reason for this is that it is approximately equal to the rapidity of the particle,

Y= E In (E + pz)
2 E - Pz .
The rapidity can be regarded as the relativistic analog of velocity. In special relativity one does not
add the velocity of two particles, but adds their rapidities: y14+2 = y1 + y2-
For massless particles the rapidity is equal to the pseudorapidity and for massive particles n > y.
In single-top processes we have only two particles in the final state: the top quark and a much lighter

b-quark (or W boson for the Wt associated process), which means that 6, = 6; + 180° and hence
1, = 1,. Compared to the large top mass, we can ignore the mass of the b-quark, so y, = 7.

Results for tt

Using the Monte Carlo program described in Chapter 5, we find similar results as stated in several
articles. Not only is this an good verification of the amplitudes, it is also an excellent test for the
Monte Carlo program itself. The cross sections for pp — ¢qq,g9g — tt and pp — ¢, gg — tt are shown
in Table 4.1. The results are in rather good agreement with the cross sections of Table 4.2 which is
taken from [17].

In the tables it is clear to see that at the Tevatron the q§ — tt subprocess is much more dominant
than the gg — tt process. The reason for this becomes clear from Figure 4.2. Between x = 0.2 and
x = 1 the valance quarks u and d carry most of the momentum of the proton. Because the Tevatron
is a pp-collider, this means that the biggest source for ¢t comes from wu and dd, i.e. the gg-channel.
The LHC is a proton-proton collider and has therefore much less gg combinations available. Hence,
the gluon-fusion process is more dominant at the LHC.

n the case of proton-proton collisions the exact direction of the z-axis is not important. I.e. all LHC plots should
show a clear symmetry.
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In Figures 4.6-4.11 the transverse momentum, pseudorapidity, and the rapidity of the top quark
for both the Tevatron and the LHC are displayed. The transverse momenta all have a very typical
shape. The pp with the highest occurrence lies around 75 GeV, but one can see that it shifts slightly
to the right at higher CM-energies.

The pseudorapidity and rapidity plots all show a clear symmetry around n = y = 0. This is easy
to understand for the Tevatron, because the whole process is symmetric (pp — tt). However, this
is somewhat strange for the LHC, because there we have two protons in the initial state. For the
gluon-fusion subprocess this does not make a difference, because there are just as many gluons in a
proton as in an antiproton. However, for quark-antiquark annihilation we need an antiquark which
can only be a sea quark in this case. If it this is a u-antiquark or a d-antiquark, it can annihilate with
one of the valence quarks of the other proton, otherwise it will annihilate with one of the sea quarks.
In any case, the quark-antiquark annihilation does not see a difference between one proton and the
other.

One interesting feature about the pseudorapidity at the LHC, is that it has a small dip near = 0.
This means that the top quark tends to propagate more in the same direction as the initial hadrons.
If we compare the rapidity plots of the LHC with the Tevatron, then we see that this effect is absent.
Evidently, the origin of this effect is due to the highly relativistic momentum of the top quark (rapidity
is invariant under Lorentz boosts, but pseudorapidity is not).

In general we can conclude that the shape of the plots for the Tevatron do not change much if we
use a higher CM-energy. The area under the graphs increases slightly, but because the that area must
be equal to the cross section, that only tells you that the cross section goes up. The area under a
graph can be used as a simple check to tell if the plot can be trusted or not.

oro (97 — tt) (pb) | oro (99 — tt) (pb) | oro (pb)
Tevatron (1/s = 1.8 TeV, pp) | 4.45 (96%) 0.20 (4%) 4.65 (100%)
Tevatron (y/5 = 2.0 TeV, pp) | 5.87 (94%) 0.38 (6%) 6.25 (100%)
LHC (/5 = 14 TeV, pp) | 73.1 (14%) 467 (86%) 540 (100%)

Table 4.1: Cross sections for ¢ at leading-order in QCD. Behind each value are given in parentheses
the percentage of the total cross section. For the Monte Carlo simulation the PDF table CTEQ5L was
used, with all scales set to p = m; = 175 GeV.

onro (Pb) | g7 —tt | g9 — tt

Tevatron (y/s = 1.8 TeV, pp) | 4.87 £10% | 90% 10%

Tevatron (y/s = 2.0 TeV, pp) | 6.70 £ 10% | 85% 15%
LHC (y/s =14 TeV, pp) | 803 £ 15% | 10% 90%

Table 4.2: Cross sections for tf at next-to-leading-order in QCD. Also shown is the percentage of the
total cross section from the quark-antiquark-annihilation and gluon-fusion subprocesses [18].
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Figure 4.6: Transverse momentum for pp — tt at the Tevatron for /s = 1.8 TeV, 1.96 TeV and 2.0
TeV.
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Figure 4.7: Transverse momentum for pp — tt at the LHC for /s = 14 TeV.
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Figure 4.8: Pseudorapidity for pp — tt at the Tevatron for /s = 1.8 TeV, 1.96 TeV and 2.0 TeV.
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Figure 4.9: Pseudorapidity momentum for pp — ¢t at the LHC for /s = 14 TeV.
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Figure 4.10: Rapidity for pp — tt at the Tevatron for /s = 1.8 TeV, 1.96 TeV and 2.0 TeV.
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Figure 4.11: Rapidity momentum for pp — ¢t at the LHC for /s = 14 TeV.
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Results for single-top

The results for the single-top simulations are stated in Table 4.3. As a comparison we have added here
Table 4.4 that displays the cross sections according to [15]. Our values are a bit higher than those
in the article. This could be because of the use of different parameters, e.g. different CKM values,
different W mass, etc.

A noticeable thing is that the cross sections for single- top are all a lot smaller than for ¢£. This is
because tt is a strong process which has an amphtude of oc @2, while the s-channel and ¢-channel are
weak processes with an amplitude of o o2, = g2 / (47)* < o2.

oLo (pb)
NG s-channel t-channel
Tevatron (y/s = 1.8 TeV), pp — tX | 0.261 +0.001 | 0.654 =+0.001
Tevatron (y/s = 1.96 TeV), pp — tX | 0.306 £0.001 | 0.890 +0.001
Tevatron (y/s =2 TeV), pp — tX | 0.317 +0.001 | 0.956 +0.001
)
),

LHC (/s =14 TeV), pp — tX | 457 4001 | 1464 +0.4
LHC (/s = 14 TeV

pp—tX | 2.77 +0.01 84.5 0.2

Table 4.3: Leading-order cross sections for single-top production. For the evaluation the CTEQ5L
table was used, all scales were set at © = m;, and we have used 5 iterations with 1,000,000 events per
iteration.

Process Vs oro (pb) onLo (pb)

s-channel | Tevatron (y/s = 1.8 TeV), pp — tX 0.259 0.380 +0.002
Tevatron (y/s = 1.96 TeV), pp — tX 0.304 0.447  +0.002
Tevatron (y/s =2 TeV), pp — tX 0.315 0.463 £0.002

LHC (/s =14 TeV), pp — tX |  4.53 6.55 +0.03

LHC (/s = 14 TeV), pp — X | 2.74 407 £0.02
t-channel | Tevatron (/s = 1.8 TeV), pp — tX 0.648 0.702  £0.003
)
),
)
)

Tevatron (y/s = 1.96 TeV), pp — tX 0.883 0.959 £0.002
Tevatron (y/s =2 TeV), pp — tX 0.948 1.029  +0.004
LHC (5 =14 TeV), pp — tX | 1448 | 152.6 =+0.6
LHC (5 =14 TeV), pp — IX | 83.4 90.0 +0.5

Table 4.4: LO and NLO cross sections for single-top production at the Tevatron and LHC for m; = 175
GeV. Cross sections are evaluated with CTEQSL and CTEQ5M1 PDFs, and all scales set to m¢. Errors
include only Monte Carlo statistics [15].
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In Figures 4.12-4.17 we present the results for the pr, and the (pseudo)rapidity for the s-channel
and t-channel processes, as produced by our Monte Carlo program. Note that in some graphs the
differential cross section has been scaled to produce a more meaningful plot. One can see that for low
pr at the Tevatron the subprocess is very likely to be a t-channel process, while for pr > 150 GeV it
is more likely that the quark was produced via the s-channel. However, the cross section is very low
for pr > 150 GeV and therefore we may conclude that at the Tevatron the ¢-channel will always be
more dominant. We can make the same conclusion for the LHC; there the lines cross at an even higher
energy (not shown in the plots).

Why the t-channel is more dominant than the s-channel is because of kinetic reasons. As can be
seen in the Feynman diagrams in Figures 4.3 and 4.4, the s-channel process is a back-to-back process,
while the t-channel is more like a scattering process and therefore kinematically favored. Putting it
differently, in the s-channel the W boson needs to have enough energy to be able to decay into a top
and a bottom quark. For the ¢-channel the W boson is allowed to be less energetic.

The (pseudo)rapidity of the top quark shows again a clear symmetry around n = y = 0. Just
as with ¢t production, the single-top processes do not see the difference between one proton and the
other, which results therefore in symmetric (pseudo)rapidity plots. However, in contrast to ¢t there is
a clear asymmetry in the Tevatron plots. The asymmetry is most clearly visible in the pseudorapidity
plot: the top quark seems to prefer a positive value for n, which means that the top will more likely
have its momentum in the same direction as the proton. The top antiquark shows exactly the same
asymmetry, but with its maximum at negative values for . We can explain this by looking at the
quark content of the proton and antiproton. If we look at the s-channel Feynman diagram in Figure
4.3, we see that the most dominant s-channel process is v + d — t 4+ b because in the hadrons the u
and d are the most available. There are valence u-quarks in the proton and valence d-quarks in the
antiproton, so some asymmetry was to be expected. Because the s-channel is a back-to-back process,
this asymmetry is not that large.

Why the asymmetry in the ¢-channel pseudorapidity is so large at the Tevatron, can be explained
with the Feynman diagrams in Figure 4.4. From Figure 4.4a it is clear that we can expect that the
top favors the same direction as the proton, because the proton contains a lot of d-quarks while the
antiproton contains the same amount of d-quarks. However, the diagram in 4.4b has the opposite
effect. There are approximately twice as many u-quarks in a proton as there are d-quarks. For the
antiproton the amounts are about the same (they are sea-quarks). Apparently, in this case the top
quark is more likely to move in the same direction as the antiproton. The most dominant process
however, is the one in Figure 4.4a with d + d — t + @, because that is the only t-channel process that
does not need sea-quarks. We conclude that for the ¢-channel the top momentum is more likely to be
in the same direction as the proton (and the momentum of the top antiquark in the same direction as
the antiproton of course).
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Figure 4.12: Transverse momentum for the single-top process pp — tX at the Tevatron (/s = 2 TeV).
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Figure 4.13: Transverse momentum for the single-top processes pp — tX and pp — tX at the LHC
(v/s =14 TeV). Note that the cross sections for the s-channels are multiplied with a factor of 10.
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Figure 4.14: Pseudorapidity for the s-channel single-top process at the Tevatron (1/s = 2 TeV) and
LHC (y/s = 14 TeV). Note that the cross section for the Tevatron is multiplied with a factor of 10.
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Figure 4.15: Pseudorapidity for the ¢-channel single-top process at the Tevatron (y/s = 2 TeV) and
LHC (y/s = 14 TeV). Note that the cross section for the Tevatron is multiplied with a factor of 100.
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Figure 4.16: Rapidity for the s-channel single-top process at the Tevatron (y/s = 2 TeV) and LHC
(y/s =14 TeV). Note that the cross section for the Tevatron is multiplied with a factor of 10.
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Figure 4.17: Rapidity for the s-channel single-top process at the Tevatron (1/s = 2 TeV) and LHC
(v/s =14 TeV). Note that the cross section for the Tevatron is multiplied with a factor of 100.

60 I |

PP — X at 2 TeV (x100) ------
pp — tX at 14 TeV ——
2 C0 pp— X at 14 TeV ————- —

40 -

30

do/dy (pb)

20

10

53



4.4 Top decay

The top quark is really a unique quark. Because of its large mass it has an extremely short lifetime
(~ 1072 seconds). This lifetime is so short that the top decays before it can hadronize. The top quark
is the only known quark that has this property. In general, quarks live long enough to form a bound
state with quarks and antiquarks spontaneously that are created from the vacuum. For example, when
a b-quark is created it almost immediately forms a B meson by hadronizing with an @- or d-quark.
After some time the B meson decays resulting in a jet of hadrons. As it happens, the B meson has a
relative long lifetime and can travel a measurable distance before decaying. By measuring this distance
one can determine if a jet originated from a b-quark. This method is called b-tagging.

According to the Standard Model, the dominant top decay mode is ¢t — W ™b. The partial width
into the final state W+gq is proportion to |th|2. Measurements by CDF Collaboration indicate that
17)

2
BR(t = Wb) _ [Vio| =0.947931 (4.39)
BR(t—Wq) Vi + [Via* + [Vio|? ‘
This implies that |Vip| > |Via| , |Vis| but does not tell us the absolute magnitude of Vi,
The W boson can decay in two different ways. There is leptonic decay,

W — €+ vy, (4.40)
with ¢ = e, pu, 7, and there is jet decay
W —q+q — 2 jets, (4.41)

where (¢q,7) = (wcf) ,(c,3). Other jet decays like W — ¢ + b are CKM suppressed. Because the
quarks carry color, we find that the decay ratio is approximately
r(W—"{l+v,) 3 1

TW—q+q) 2x3 2 (442)

This branching ratio agrees with the data in the Particle Physics Booklet [19]. The b-quark always
decays into a jet. And because the top decays dominantly into a b-quark and a W, we see that the
top quark only has two decay channels depending on how the W decays. There is a leptonic decay of
the top,

t—W+b— L+ v+ jet, (4.43)

and there is the 3-jets decay of the top
t—=W+b—g+q +b— 3 jets. (4.44)

Using b-tagging it should be easy to detect a top via the leptonic decay. Unfortunately there are
several other processes that have the same signature. For this thesis project we have not done any
research about background signals of single-top, for more information we refer the interested reader to
the literature.

Decay channels of tf

There are three different decay channels for the t# process. Dileptonic decay,
t+t—=WH+b+W  +b—Ll+vi+b+l+0p+b— C+v+ L+ 0y +2 jets, (4.45)
semileptonic decay,

t+t—-WH4+b+W +b — L4+vi+b+q+q+b—L+ve+4jets (4.46a)
— g+ b+ L+ T +b— L+ Dy + 4 jets, (4.46b)

and all-jets decay,
t+t—=WH4+b+W +b—q+q+b+q+qg+b— 6 jets. (4.47)
The branching ratios are (ignoring all CKM suppressed decays):

dileptonic : semileptonic : all-jets = 1: 4 : 4. (4.48)
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Decay channels of single-top

The decay channels are different for each subprocess. For the s-channel we have

t+b—=WT+b+b — l+vi+b+b—l+uv+2jets (4.49a)
— q+q+b+b— 4 jets. (4.49b)

The t-channel has exactly the same signature, with the difference that it has only one b-jet in the final
state:

t+q—Wr4+b+q — C(+vi+b+q—L+v,+2jets (4.50a)
— q+q+b+q— 4jets. (4.50Db)

This difference might be detected with the aid of b-tagging. Finally, the Wt-associated single-top
production has the decay channels

t+ W™ = WH4+b+W~ — qg+qd+b+q+qg— 5 jets (4.51a)
— (+vi+b+q+qG—C+vy+3jets (4.51b)
— A4 vy +b+l+v,—l+v+ 047+ 1 jet. (4.51c)

Top decay width

As an exercise we demonstrate in this subsection how one can calculate the lifetime 7 = 1/T" of the
top quark. To find the decay width T" of the top quark, we first draw the Feynman diagram:

b
¢ (4.52)
w
The invariant amplitude is given by
—iM =€} [ig/]g (1 —yg) | ur. (4.53)

We need to sum over both spin states of the b, all three helicity states of the W, and take the average
of both spin states of t. The invariant amplitude squared is then

ME = 0 Y M

all spin all helicity

?_Z Do eusr D [y (1= vs) w [y (1) e (4.54)

all helicity all spin

With the use of the completeness relations
Z ENEV = _gMV + V2 /1'7 (455&)
— myy,
helicity

duu = ptm, (4.55D)

spin
we can write

37w (1 - vs) we @ (1 —7s) wl”

all spin

= > w0 =) w [m (v —7"ys) w)

all spin
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= Z (W) (V" — ’Y“%)a,@ (Ut),@’ (ﬂt)7 (v = 7”75)75 (ub) s

all spin
= Z (u)s () (V" = 7V5) Z (ut) g (@e), (V7 = 7"5)5
spin b spin t

= (P+m)s, 0" = Y"V5)as (pt + mt)ﬁW (= 75),5
= Tr [(p"'mb) 7 (1 —=7s) (pt—i—mt) 7" (1—’75)} ;
and

- 2
Guw PwvDPwW
ME = 2 (g, o D)
16 K m%,v

x Tr {(p +mp) Y (1= 7s5) (Pt + mt) 7 (1 - 75)} .

This equation can be easily simplified with FORM, resulting in

N 2 4
P = e [ (= mi)* 44 (o ) s

w

2 4

w

(4.56)

(4.57)

(4.58)

In the last step we have neglected the mass of the b-quark. To find the decay width using (2.79),

|pb| 2 92 m? 2 2
r— Y- —om2, |,
8rm? M| 327m? [Pl mi, +my mw

we first need to determine the momentum py.
In the rest frame of the top quark, the four-momenta of the particle are given by

p? = (mt,0,0,0) ’

P = (E,0,0,|py]) = (Eb,o,o,,/Eg mg>,
(Eb’o’o’ - |pb|) = (EW7OaOa - \/ Elz/V - mlz/V) .

Momentum conservation tells us that p) = pl + p{j,, and therefore

Py

my = Ep+ Ew,
Eg — mg = Ea, — m%v.
Solving this set of equations results in
mf—l—mg—m%v N mf—m%v
Eb = ~ = |pb| .
th 2mt

Substituting the values my ~ 80 GeV, m; ~ 175 GeV and g2 ~ 0.43, we finally find

2 4
Jw my 2 2
I = — -2
327wm? [ {m%v oy mw]
2 2 2 4
Jw my — My my 2 2
= —_— -2
32mrm? { 2my ] [m%v i mw}
2 3
~ Jw 79 Gev
64m myy,

The lifetime of the top must then be
1
T= T= 0.56 GeV ™! =4 x 1072° sec.

which agrees with the 1072° seconds as stated earlier in this chapter.
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Chapter 5

The Monte Carlo program

In the previous chapter we have shown how to calculate the invariant amplitude for a process, and we
have shown several plots of the (pseudo)rapidity and transverse momentum of the top. In this chapter
we explain more about the step between the amplitude and the plots: the Monte Carlo.

If the differential cross section is known, we need to calculate an integral of the form

%6 tX) 2 e
o(pp — tX) Z/ 8%5?8:1 )5 (841t 4+ a1) f(zq) f (zg) dirdiydz,day . (5.1)

a,q’

If there are more than two particles in the final state, we are not able to explicitly determine the
differential cross section. In that case we first have to calculate

dé
dt,diy

— IM[%dQ, (5.2)

where d(@ is the Lorentz invariant phase space.

In any case, we need to numerically evaluate a multi-dimensional integral. There are several ways
to do this, but the Monte Carlo technique as described in this chapter is considered to be the most
efficient for high dimensions. Why this is so, is explained in Section 5.1. How the Monte Carlo
technique exactly works, is shown in the Section 5.2, including some extensions of the basic idea. In
Section 5.3 we talk about the structure of the Monte Carlo program which was used to obtain most of
the cross sections and plots in this thesis. In that section we also show some simple ways of testing of
the Monte Carlo and state their results.

The first two sections of this chapter are largely based on an excellent introduction to this technique:
Introduction to Monte Carlo methods, by Stefan Weinzierl [20].

5.1 Classical numerical integration

Algorithms for numerical integration have been around for centuries. The classical approach for eval-
uating 1-dimensional integrals is always the same. Given the integral

/w m dv f (), (5.3)

first divide the interval [zg,2,] into n sub-intervals, and evaluate f for n + 1 points xg,z1,...,Z,.
Then estimate the area under the curve between each two points x; and z;1, and sum over all areas.
This gives you an estimate of the value of the integral.

Basically there are two ways of doing this: with or without a uniform grid of points. The Newton-
Cotes formulas work with a uniform grid where each grid point z; is given by z; = xo + jAz, with
Az = (z, — x9) /n. The Gaussian quadrature rules on the other hand, use orthogonal polynomials to
determine the optimal set for ;. These are often more efficient than the Newton-Cotes formulas, but
are much harder to implement.
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Newton-Cotes formulas

The easiest way to evaluate an integral numerically, is by using the trapezoidal rule

TotAr Az 3
[ e f@) = S0 o)+ £ (oot A2)) - 5 (B0 1 () (54)
xo
where g < £, < 2o + Az. The area of the function f (x) between the points z¢ and zo + Az is
estimated by the first term, while the second term tells you the size of the error in that estimation.
Dividing the integral into n sub-intervals and summing over the area of each sub-interval, we find

S | (@ — o) L (2 —0)’
[Canse = 3| ) £ A - T )
o j:O
In — 0 - 1 (l'n_l'O)S Fr
= T wifw) -5 1" (5:5)
j=0

with weights wy = w, =1/2, and w; =1 for 1 < j <n — 1. The term

1 — //
=~ ;) (&) (5.6)

can be considered as the average error. Since the exact values of £, are unknown, we cannot calculate
this term and we estimate the value of the integral with

[ s @ =S ), (5.7
zo 7=0

while the error is of order O (1/n?). To do this integration, we need n + 1 evaluations of f (z). The
number of function-evaluations is important, because this is usually the most time-consuming.

An big improvement to the trapezoidal rule is the so-called Simpson’s rule. It uses the evaluation
of f (z) at three points:

zot+Az Az 1
/ . dz f (z) = = [f (o — Az) 4+ 4f (z0) + f (x + Az)] — % (Az)® f® (&), (5.8)
with g — Az < €, < x9 + Az. The total integral then becomes

Tn 5
/ do f (z) = 2o 20 ij flz;) 180@ Fo, (5.9)

with wg = wy, = 1/3, and w; = 4/3 for even j, and w; = 2/3 if j is odd. We see that Simpson’s rule
leads to numerical integration with an error of order O (1/n?)
Simpson’s rule can be improved even further. Boole’s rule uses the evaluation of f (x) at five points,

To+2Az
do f@) = 2SS (o~ 28) 821 (r0 — A2) 4127 (a0)
To—2Ax

8 (Ax)”

(6)
eV €). (5.10)

+ 32f (w0 + Az) + 7f (x0 + 2A7)] —

which leads to an error of order O (1/n°)

The trapezoidal rule, Simpson’s rule, and Boole’s rule are all examples of the more general class of
Newton-Cotes formulas. If you start with a rule that uses 2k — 1 evaluations of f (x), one ends up with
a numerical integration of order O(1/n2*). However, these formulas have two mayor problems. If the
function is not smooth, the values for the derivatives f(2¥) (z) can become quite large, causing a large
error term. Secondly, when k becomes large some of the coefficients in the Newton-Cotes formulas
become large and of mixed sign. It is well known that when you add or subtract small numbers from
big numbers, the result will be substantially large numerical errors. Therefore the trapezoidal rule and
Simpson’s rule are most often used instead of the rules of higher order.
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Gaussian quadrature rules

The Gaussian quadrature rules are a generalization of the Newton-Cotes formulas. Instead of using
a uniform grid of points, we now choose the points in such a way to get the best estimation for the
integral. But how do we determine the optimal grid? And how do find the proper weight for each
point?

The trick with Gaussian quadrature rules is that we approximate f (x) with a polynomial. We can
do this only for the interval x € [—1, 1], because for |z| > 1 the values of the polynomials tend to
become very large. We can extend our interval to [0, 0] or [—00, c0] by using a weight function W (x).
The integral we wish to evaluate is then

b
:/ dx W (z) f (x). (5.11)

The weight function makes sure that the integral nicely converges on the given interval. More explicitly,
W (z) is defined such that W (z) > 0 for all z € [a, b], f: dz W (xz) > 0 and f: dx "W (x) < oo for
alln=0,1,2,....

Given the integral of (5.11) the Fundamental Theorem of Gaussian Quadrature [21] states that the
optimal choice for a grid of n points is given by the z; for which

P, (z;) =0, (5.12)

where P, is the n-th orthogonal polynomial with respect to the weight function W:

b
/ dz W (2) Ps (2) P () = S (5.13)

The roots x; of the orthogonal polynomials associated with the W on the interval are real and distinct
and are located in the interior of the interval [a,b]. For example, if n =4 and W (z) = exp (—x?) for
the interval (—oo, 00),

1 :/ dz exp (—2?) f (2), (5.14)
then the grid points x; are given by the roots of the 4-th Hermite polynomial
Hy (x) = 162% — 4822 + 12, (5.15)

-_ﬁ:—\/612\f (5.16)

To find a polynomial that closely approximates the function f(x), we use Lagrange interpolation
through the n points f (z;):

which are

o)=Y %Jc (), (5.17)

where
mn(2) = (xr—x0) (x — 1) (T — ) . (5.18)
The integral (5.11) is then

b n n
_ n (2) | _ .
/a¢>n<z>w —/ ij o) G @)W @ e+ —;wjf(men (5.19)
where F,, is the error

_f e / dz W (z) [ ()], (5.20)

and where w; are weight factors given by

Mm@ W ()
w; —/a ( dx. (5.21)

z —xj)m, ()

This integral is independent of the function f (x). In Gaussian quadrature rules the weights are all
positive and therefore we do not have here the same problems as with the Newton-Cotes formulas.
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Multi-dimensional integration

It is not hard to extend the Newton-Cotes formulas to multi-dimensional integrals. For example, an
integral over the d-dimensional hypercube [0, 1]d can be evaluated with the trapezoidal rule as

/ddxf(xl,...,xd)=%2~--ij1~--wj1f<%,...%>+(’)<%). (5.22)

J1=0  ja=0

For this calculation we need to evaluate the function N = (n + 1)d ~ n times. For high dimensions
this number will get really big which means that the algorithm will be really slow. The error is still of
order O (1/n?), but in terms of the total number of function evaluations N it is O(1/N%).

Using Simpson’s rule instead of the trapezoidal rule improves the situation a bit, but not by much.
The error is of order O (1/n*) = O(1/N*/9). The real solution to this problem is to use Monte Carlo
integration. In the next section we will show that for a Monte Carlo the error goes like O(1/v/N). In
other words, we can halve the error if we take four times as many sample points. This technique is
not so fast, but at least it is independent of the dimension. It will therefore be a better option than
Simpson’s rule when d > 8.

5.2 Monte Carlo techniques

In a way, Monte Carlo integration can be seen as an extension to the classical numerical integration
methods. The Gaussian quadrature rules are more efficient than the Newton-Cotes formulas, because a
more efficient grid is used, meaning that we need less function evaluations to get to the same accuracy.
With Monte Carlo we get a much better efficiency by not using grid points at all. Instead we choose
our points randomly in the integration space. That this actually works might seem to be a miracle at
first, but will soon be made clear.

There are many advantages in using a Monte Carlo. The implementation is relatively simple, it can
easily handle complicated integration boundaries, and as said before, the efficiency is independent of
the dimension of the integral. However, the basic Monte Carlo method is far from perfect: it converges
quite slowly with a rate of O(1/v/N) to the correct value. There are several techniques to improve
this, and these will be discussed in this section after we explain the basic principle of the Monte Carlo
method.

Basic principle

Evaluating an integral is equivalent to calculating the mean value of a function within a certain interval
[a,b]. Therefore we can also estimate the value of an integral by taking a large number of samples
from [a, b] and then determine the average. This is the principle behind Monte Carlo integration.

If x; = (u1,...,uq) is a random sample from the hypercube [0, l]d then the average value of N
samples is
1N
n= ,;f (Xn) - (5.23)

Given the integral
I:/dxf(x):/dduf(ul,...,ud), (5.24)

then according to the law of large numbers our estimate p converges to the true value of the integral,

. 1
lim N Z f(xn) =1 (5.25)

Hence, I is the mean value of our distribution, with p its estimate. Choosing a finite N causes an
error, which can be estimated by using the variance. It can be shown that if f is square integrable!,

N 2 2
;ﬁ/dxl.../de(%Zf(xn)I) = ]\(ff), (5.26)

LIf f is not square integrable the estimate F will still converge to the value I, but the error estimate will not be
reliable anymore.
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where o2 (f) is the variance of the function f (x),
7 (£) = [ax (76 =D (5.27)

From Equation (5.26) we see the statistical error E of the estimate p is on average o (f) /v/N, i.e. of
order O(1/v/N). Note also that there is no reference to the dimension d in the error.

That the error is independent of the dimension can also be seen with the following. According to
the center limit theorem the probability that the error lies between I + ao (f) / VN is given by

| o(f) _ 1y o)\ _ 1 [ _2
ngnoop<—amgﬁgf(xn)—1gaﬁ>_m _adtexp< 2). (5.28)

Because the integral I is unknown, we cannot use (5.27) to calculate o (f) /v N. Instead we must
estimate the variance with

o
8= L o) -7 [antro0 -1 = (5.20)

Using (5.23) this can also be written as
5= LS (1ol 2 ) 42) = & S G (5.:30)

Improvements

Improving the rate of the convergence can be done by lowering the variance in Equation (5.26). This
can be done in a number of different ways. In a technique known as stratified sampling one divides
the full integration space in several subspaces. For example, if we divide the hypercube [0, l]d in two
equally large parts a and b, the total statistical error becomes

1 jak(f) a3 (f)
r=\"N, TN,

(5.31)

where O’? (f) is the variance of f(x) in the subspace j, and N; is the number of samples drawn from

subspace j. Clearly, if o2 (f) > o7 (f) it would be wise to take N, > Nj, because that would lower
the total variance. In general, by choosing the correct subspaces one can lower the statistical error
significantly. The best results are obtained when NN; is chosen proportional to a? (f)-

Importance sampling is a different technique which uses random numbers drawn from a pre-defined
probability distribution P (x). The probability density function for this distribution is then

_dP(x) 9P (uq,...,uq)
T odx Oup---Oug

p(x) (5.32)

with p(x) > 0 and
/dx p(x) =1 (5.33)

With the help of this function we can write our integral I as

I:/dx f(x) :/]‘iggp(x) dX:/MdP(X). (5.34)

p(x)

Our estimate of I is then

1 al [ (%n)
= ;p(XH), (5.35)

=

and for the (estimated) variance we have

2_l a f (%) 2_ 2
S‘N,;(p(xn)) i (5:36)
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From this it is clear that if we choose a p(x) with a similar shape as |f (x)|, that the variance can
become very small. The perfect choice is
p(x) = fx) __J&) (5.37)
Tregdx 1 |

for which the error goes to zero for large N. However, because the integral I is unknown it is impossible
to calculate p (x) in this way.

We have to be careful with importance sampling techniques: if somewhere p (x) approaches zero,
the variance S? might become intolerably large.

The adaptive VEGAS-algorithm

Stratified sampling and importance sampling can only be used efficiently if one has knowledge about
the integral prior to the integration. Unfortunately this information is often not available. The solution
to this is to use an adaptive algorithm. Starting from some default setting, the algorithm does a quick
numerical integration and uses that result to learn more about the integral itself. With that knowledge
the algorithm does another integration, just as quickly, but more efficient. This is then done again
and again. After each step, the integration becomes more and more efficient.

An example of such an algorithm is the VEGAS algorithm [22]. It is based upon both importance
sampling and stratified sampling. It starts by dividing the integration space in a rectangular grid of
subspaces?. Using the results of the integration of each subspace the grid is adjusted accordingly, in a
similar manner as was done with the stratified sampling technique.

To become even more efficient, the VEGAS algorithm tries to approximate (5.37) with a step
function

R ACOIN ( )I

X) = w; ~
i.e. by giving each subspace j a value w;. In two dlmensmns p would look like a 2-dimensional
histogram with m? bins, where m is the number of subspaces per dimension. For d dimensions that
would mean that we need to store m? bins in our computer memory, a number that grows exponentially
with d. To prevent that, we assume that p (x) can be factorized:

p(ut,...,ug) =p1(ur)-pa(uz)-... pa(uq). (5.39)

Storing this in our memory would only acquire m X d bins. The probability density function p should
approximate f, so (5.39) is only effective when also f is approximately factorizable. In other words,
using p only increases the efficiency of the Monte Carlo substantially when the peaks of f are well-
localized.

Each iteration 4 results in an estimate for I,

1 N;
17ﬁz_:

(5.38)

(5.40)

and an estimate for the statistic error F,

2“51'2:1\%2(;;&:3)2_“?‘ (5.41)

The results of r iterations can be combined into one cumulative estimate of I, weighted by the number
of function evaluations N; and their variances S;:

i=1

With the VEGAS algorithm it also possible to calculate a x2? per degree of freedom:

1 T - 2
X /dof = =3~ (e 52“) . (5.43)
1=1 ?

The value of this should be close to one, and can be used to check if the error estimates S; are reliable.

2Note that in this case we do not choose samples that are points on the grid (as with the classical integration methods).
In Monte Carlo’s the grid is only there to devide the total integration space in the smaller subspaces.
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5.3 The program

There are many excellent Monte Carlo programs available for calculating cross sections for many
different processes known in high energy physics. For pedagogical reasons however, we have create our
own Monte Carlo. In this section we discuss the structure of the final program, in order to give the
reader a nice example of the implementation of a Monte Carlo which uses the VEGAS algorithm. An
example of the generated output in the terminal is seen in Figure 5.2. The classes and their relations
are summarized in the diagram of Figure 5.1.

Version:

Random number generator:
PDF tabel:

Mass of top quark:
Scales:

Number of dimensions:
Number of iterations:
Number of events/iter:
Accelerator/energy:

April 19th, 2006

RANMAR

CTEQ5L

m[t] = 175 GeV

mu[R] = mu[F] = 175 GeV
4

5

200000

LHC (pp at 14 TeV)

Process: Standard Model s-channel single-top
(anti-top in final state)

Cross sections in pb.

iteration 1: 2.85539 +/- 0.12043 Total: 2.85539 +/- 0.12043
iteration 2: 2.78367 +/- 0.0183155 Total: 2.78529 +/- 0.0181073
iteration 3: 2.7687 +/- 0.0121595 Total: 2.77386 +/- 0.0100946
iteration 4 2.77193 +/- 0.0114858 Total: 2.77302 +/- 0.00758238
iteration 5 2.77369 +/- 0.0119767 Total: 2.77321 +/- 0.00640644

Result = 2.77321 +/- 0.00640644, Chi2 = 0.943374

Area of pT histogram: 2.78784 pb
Area of rapidity histogram: 2.79068 pb
Area of pseudorapidity histogram: 2.7778 pb

Finished! Simulation took 23 seconds (0.383333 minutes)

Figure 5.1: Output of the Monte Carlo program for the Standard Model single-top s-channel process

at the LHC, with ¢ in the final state.

PhaseSpaceGenerator MonteCarlo Sampler
—sqrtS : double < —sampler : Sampler » —grid : double[ ][ ]
+getPhaseSpace() —psGen : PhaseSpaceGenerator —random : RandomGenerator

—pdfTable : PdfTable
+get()
—hisPT : Histogram
+put()
—hisRapidity : Hist
isRapidity istogram —adjustGrid()
—hisPseudorap : Histogram
+start()
—calcCrossSection()
—calcMatrixElement ()
\4
LorentzVector
—t : double A
—x : double v PdfTable v
—y : double Histogram —pdfValues : double| ][] RandomGenerator
—z : double —values : double] | —file : string —dim : int
+rapidity() +£11() +readTableFile() +ranmar()
+pseudorapidity () +save() +getPdf() +sobol()

Figure 5.2: Class diagram of the Monte Carlo program. Only the most relevant functions and their

relations are shown here.
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The MonteCarlo class

The central nervous system of the program is the MonteCarlo class. It contains all the simulation
settings including the number of iterations, the number of events (samples) in each iteration, which
type of random generator is used, the hadronic center-of-mass energy /s, and the process that is to
be analyzed. The class contains several public functions to make it possible to change these settings.

The main task of this class is quite simple. When the function start () is called, the program starts
to run a simulation using the given settings. After initializing all the needed objects and printing the
settings to the terminal, the program enters a simple loop:

while (sampler.get(r, wgt)) {
dsig = calcDiffCrossSection(r, wgt);
sampler.put(r, wgt, dsig);

}

These lines form the core of the program. In the first line we ask the sampler for an event, using
the function get (double r[], double& wgt). This function fills the array r with random values and
assigns to wgt the weight of this sample. This weight is proportional to the size of the subspace and is
there to correct for the fact that more samples will be drawn from the larger subspaces. The Sampler
class keeps track of the number of iterations done and makes sure that get () will return false if it
has reached the maximal number of iterations, as specified by the Monte Carlo settings.

In the second line the cross section is calculated for the given event. Finally in the third line the
sample r, the weight wgt and evaluated value dsig are given back to the Sampler. These values will
be used by the Sampler to estimate the best adjustment to be made to the grid when the iteration is
finished. How this is done exactly is explained in the next section.

Calculating the cross section

In calcDiffCrossSection() the first step in calculating the cross section is to obtain the momentum
fractions ;7 and x5 of the initial two partons. These are two variables over which we need to integrate
and therefore we obtain these values by x1 = r[0] and x2 = r[1], where r is our array with random
values.
In order to create a top quark, the initial partons should have an energy large enough to produce
the top mass,
1798 > M3, (5.44)

If this inequality is satisfied, the next step is calculating the phase space. This is done with the
function getPhaseSpace() of the PhaseSpaceGenerator class which calculates the momenta of the
initial and final particles, and returns the phase space d@Q. More about this in the section about the
PhaseSpaceGenerator.

Knowing the momenta of all the particles, we are now able to calculate the total invariant amplitude
for this event. This is done by the function calcMatrixElement () which uses the PDF values of the

PdfTable class. For example, we saw in Chapter 4 that the |/\/l|2 for the tt process via quark-antiquark
annihilation was given by

4167202
9 &2
The invariant amplitude summed over all available quarks and anti-quarks is then

IM[* = (a2 + 13 + 2m?3) . (5.45)

S IMP = IMP By, (5.46)
a,q

where the gg-flux @47 is given by

Q; = f1(xu) fo(za) + f1(za) fo (@u) + f1 (xa) f2 (xg) + f1 (xg) f2 (za)
+f1(xe) fo (xe) + f1 (we) fo (xe) + f1 (zs) f2 (ws5) + f1 (25) f2 (2s)
+f1 (@) f2 (23) + f1 (x3) f2 () - (5.47)

Here f; (z) is the parton distribution function of parton p for proton ¢. After the amplitude and the
phase space are determined, the cross section for this particular event is then calculated by

do = (|MP@,q) dQ. (5.48)
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Also the (pseudo)rapidity and the transverse momentum of the top quark are calculated. These are
then added to their corresponding histogram together with a weight factor w to indicate how much the
value should contribute to the histogram. For example, for the histogram of do/dpr we add w X pr
instead of pp. The weight factor is equal to do multiplied by the wgt from the event. In this way
do /dpr will be proportionally low when do is low, and because of the wgt we may be sure that the

size of the subspace has no influence the histogram?.

The Sampler class

The VEGAS algorithm is hidden inside the Sampler class. The Sampler fabricates event samples
x; for the MonteCarlo and receives in return the function evaluations f (x;). These evaluations are
stored in histograms, one for each dimension. After an iteration is finished, these histograms are used
to adjust the grid such that the subspace is small for the places where the slope of f is large.

There are three important functions in this class: get() returns a sample x;, put() stores the
given f(x;) into the histograms and the private function adjustGrid() changes the grid after each
iteration. When get(double r[], double& wgt) is called, the RandomGenerator class is used to
obtain a pseudorandom number for each dimension. Each random number is then split into two
smaller numbers, an integer and a double. The integer is used to randomly pick a subspace, and after
that the double is used to randomly pick a position z within that subspace. This is done for each
dimension and the vector of z-values is then returned as the array r. The weight wgt is determined by

_ 11
B NevNithj,

where V; is the volume of the subspace, and Ng., Nj; are the total number of events and iterations.
The function put(r, wgt, dsig) is not much more complicated. The goal is to approximate the
optimal probability density function p in (5.38) for which

p(u1,...,uq) = p1(ur)-p2 (u2) ... pa(ua), (5.50)

where the p; (u;) are treated as histograms. Given a f(x;) = f (u;1,uj2,...,u;q), this value is then
added to the corresponding bins of each histogram.

The most complicated part of the Sampler is in the adjustGrid() function. We shall not examine
the exact implementation of the function in much detail, because that is beyond the scope of this
thesis. We can however show the algorithm in action by evaluating for example the integral

/f (z,y) dx dy = /01 exp (—10 (z— %)2 —10(y — %)2) dz dy. (5.51)

This is also a perfect way for testing the Sampler. Notice that the function f (z,y) can be factorized,
we therefore expect a maximal adjustment of the grid.

Each dimension is divided into 50 subspaces. Since f (z,y) is a function of two dimensions, we
have here a 2-dimensional plane divided into 50 x 50 small squares. The program always starts with
a uniform grid. After the first iteration the grid points are distributed as can be seen in the left plot
of Figure 5.4. After five iteractions the grid becomes more and more dense near the center. This can
be seen in the right plot of Figure 5.4.

After five iterations, the grid look like Figure 5.4b. It hardly changes anymore after an iteration
and one can see clearly that the subspaces are more dense at the places where the integrand f (z,y)
is behaving more wildly: the slope of the function is larger near the origin. The Sampler finds the
correct value of 0.298. This simple test has convinced us that Sampler is doing its work properly.

The RandomGenerator class

Creating random numbers is not as simple as one might expect. This is because the efficiency and
accuracy of the Monte Carlo are directly related to the efficiency and accuracy of the random number
generator. We highlight here three points of criteria that indicate how well the generator behaves.

3Even though the exact size of the subspaces should have no influence, don’t forget that deviding the integration
space in different subspaces does provoke that most samples are drawn from the largest subspace. Where the integrand
behaves more ‘wildly’, we need a bigger to obtain a better accuracy.
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Figure 5.4: The distribution of grid points for (5.51) after the first iteration (left plot) and after 5
iterations (right plot).

First of all, the distribution. To prevent parts of the integration space to be biased, the generated
numbers need to have a very uniform distribution. This is not an easy task, since a computer is a
deterministic machine and hence can never produce truly random numbers. We need an algorithm
that produces numbers that look random (pseudo-random numbers) or numbers that are not random
at all, but do have a very uniform distribution (quasi-random numbers).

In many random generators the next random number is determined by using the previous number.
Unfortunately, these have the nasty feature of repeating itself after a while. For the Monte Carlo
this means that increasing the number of events per iteration no longer increases the accuracy of the
calculation. A good random generator should therefore have a very long period.

Finally, the algorithm for generating the random numbers must be very efficient. This is because for
Ny iterations, N, events per iteration, and an integral of d dimensions, we need to run the algorithm
Nit X Ngy X d times. The speed of the random generator can therefore have a large impact on the
overall speed of the Monte Carlo program.

The RandomGenerator class has two algorithms build in. The ranmar () function produces pseudo-
random numbers by using the RANMAR algorithm, and sobol() uses Sobol sequences to return a
quasi-random number.
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RANMAR

An easy way to produce random numbers is the multiplicative linear congruential generator:
s; = (as;—1 + ¢) mod m. (5.52)

The numbers generated are integers between 0 and m. The integers a and ¢ are two predefined
constants. If these are chosen wisely, one can get the maximal period of m. For example, the set with
a = 69069, ¢ = 0 and m = 232 has the maximal period.

An improvement of this algorithm is the Lagged Fibonacci generator:

8i = (Si—p + Si—q) mod m. (5.53)

RANMAR [23] is an extension of this generator. It uses

si = (Si—o7 + Si—33) mod 2°*, (5.54)
combined with a simple sequence
t = { t;—1 — 7654321 " ift; 4 - 7654321 > 0, (5.55)
t;_1 — 7654321 4+ 2°* — 3 otherwise.
The number produced by the algorithm is then
s; = (r; — t;) mod 224, (5.56)

Dividing the integer s; by 224 results in a random number between 0 and 1.

Sobol sequences

The Sobol generator produces quasi-random numbers that have a very uniform distribution. Instead
of arithmetic operations, it uses only bitwise exclusive-OR, operations. This makes the algorithm run
quite fast on a computer, but unfortunately it also makes the implementation rather complicated.
Therefore we shall not go into details here and refer the interested reader to the article of I.M. Sobol,
[24].

Testing

Testing the generator can be easily done by looking at its distribution (this is called the frequency test).
For both generators we have produced 100,000 random numbers and placed them into a histogram.
The result were two histograms with in each bin approximately the same number of values. Our
conclusion is that both generators passed the frequency test.

In all simulations done for this thesis, the RANMAR algorithm was used. The main reason for this
is that the RANMAR algorithm is better understood and works just as good for our purposes.

The PhaseSpaceGenerator class

The PhaseSpaceGenerator class has two important tasks: determining the momenta of all the initial
and final particles, and calculating the phase space factor d@). Both are done by the same function,
getPhaseSpace(). In this thesis project we have worked solely with processes where there are only
two particles in the final state. The PhaseSpaceGenerator class can also be used to calculate the
more general process A+ B — C'+ D + X, but in this section we only discuss the most simple case
where there is no X.

In the lab frame, the hadrons are assumed to collide with equal, but opposite, momenta In this
frame the momenta of the (massless) partons are

pa = (EAva) =TA- (%\/§7O707% S) )
PB = (EBapB) =B - (%\/5,0,0, _%\/g) . (557>

The momentum fractions are determined with the random numbers according to xA = r[0] and xB
= r[1]. As usual, /s is the center-of-mass energy of the hadrons.
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We need to do the calculations in the center-of-mass (CM) frame of the partons. The boost we
need to transform to that frame is

Ey—Ep xa—17B

= = , 5.58
& Es+Ep  za+up (5.58)
and the rapidity is then
1 1+5,
y21n<1_ﬂz> (5.59)

Using the rapidity makes it is easier to boost from one frame to another. The parton momenta in the
CM frame of the partons is

pa = (cosh(y)Ea —sinh(y)paz,0,0,—sinh (y) E4 + cosh (y) paz)
= (4v5,0,0,35) (5.60)
pg = (cosh(y) Ep —sinh (y)pss, 0,0, —sinh (y) Eg + cosh (v) ps.) (5.61)

= (%x/E, 0,0, —%x/E) (5.62)
where V3 is the CM-energy of the partons,

V3 = \/Toxi\/5. (5.63)

The next step is to determine in which direction d2 the particles C' and D will go. This cannot
be calculated, we need to use the random numbers r[2] and r[3] for that. The angle ¢ should be
somewhere between 0 and 27, so

¢ = 27y, (5.64)

because for the random numbers r; € [0,1]. The angle 6 € [0, 7] is determined with
cosf =1—2r3. (5.65)
The reason why we are not using # = 7rs is because
dQ = sin 6dfd¢ = —d (cos 0) dg, (5.66)

and therefore the distribution of # must be uniform in cos®6.
We have now reached the point that we can almost calculate the phase space [25],

1 [pc| Joge]
dQ = ———d) = ds. 5.67
@ 64725 |Pa| 32725/ (67
To find an expression for the momenta of the final particles, we note that |pc| = |pp| and
Bo + Bp = \/ma + pol® + \/m3 + [pof* = V5. (5.68)

Solving this equation for |p¢|, we find that

1
Bo| = WE\/§2 +md +md — 28m2, — 25m3 — 2mEmd,. (5.69)
The phase space weight wps that is returned by the function getPhaseSpace() is

o _Ipcl ,_ IPcl
“32725v/3 875V/3

Instead of df) we use 4w, because summing over all weight factors wyps, the d€2 will give a contribution
of exactly

(5.70)

wps =

/dQ = 4. (5.71)

The constant c¢,, is there to give the cross section the correct units.
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In the CM frame of the partons, the momenta of particles C and D are

Pc = (lf)Cl ,0,0, |f)C|)
Pp (IPcl,0,0,—[bcl) (5.72)

Before these momenta are returned by the function, we first have to boost them back to the original
CM frame of the hadrons:

pc = (cosh (—y) FEo — sinh (—=y) pc2,0,0, —sinh (—y) E¢ + cosh (—y) ﬁ0z> ,
pp = (cosh (—y) Ep — sinh (—y) pps, 0,0, — sinh (—y) Ep + cosh (—y) ﬁDZ> . (5.73)

Here we have used the rapidity y of Equation (5.59).

The PdfTable class

The PdfTable class provides the parton distribution function (PDF) that is used by the MonteCarlo
class to calculate the total invariant amplitude. This class basically contains only two functions:
readTableFile(string file) for reading the CTEQ files, and the function getPdf (double x,
double mu) which returns an array with the PDF value for each parton. The argument z is the
momentum fraction and g is the renormalization scale, usually set to m; = 175 GeV. Because the
table only contains a limited amount of data points, getPdf () is essentially an interpolation algorithm
that evaluates the correct PDF values.

To check if the class is working properly, we have tried to reproduce the graphs in Figure 4.2. The
result is shown in Figure 5.5. Comparing both figures one sees an excellent agreement. We conclude
that the PdfTable class is working as expected.
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Figure 5.5: The parton distribution functions at scale u = 175 GeV.

The classes LorentzVector and Histogram

Finally, there are two more classes in the program that are quite small but nonetheless important. The
LorentzVector class is makes calculations for the phase space much easier by offering a large number
of operator functions to do simple arithmetics as well as dot products and boosting. Quite useful are
also the functions for calculating the rapidity and the pseudo-rapidity of the Lorentz-vector.

The Histogram class is vital for collecting the data needed to draw the histograms of the transverse
momentum and the (pseudo)rapidity. When the simulation is finished, the Histograms save their data
to a text file with the extension *.his. The actual drawing is done by a separate program like GnuPlot
[26] or ROOT [27], that reads the his-files and plots the histograms. A simple check that the Histogram
class is working properly is done by determining the area of the histogram. This should be equal to
the total cross section of the process, which is the case for all histograms shown in this thesis.
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Chapter 6

Topflavor models

After the development of the Standard Model (SM), theoretical physicists have developed a large
number of new theories extending the SM. An obvious way to create such an extension is by starting
with a Lagrangian with a certain symmetry and then break it to SU(3).xSU(2),, xU(1)y, the symmetry
structure of the SM. Of course there are many different ways to do this. A lot of these new models
were falsified by accurate electroweak measurements, but a number of them survived and a few theories
became very popular.

One interesting theory, is the theory of Topflavor!. It was introduced in 1996 by David J. Muller
and Satyanarayan Nandi [29] as an explanation for the exceptionally heavy mass of the top quark.
Topflavor is the Standard Model extended with an extra SU(2) gauge group, similar to the SU(2) flavor
symmetry of the up and down quark. Only the top-bottom doublet transforms under this new SU(2),
hence the name Topflavor. The way to implement this, is by simply assigning the proper quantum
numbers to the fermions.

In the first section, after determining the symmetric structure of this theory, we determine the
Topflavor Lagrangian. This section is followed by two sections that describe what happens during
the two steps of symmetry breaking. In these sections the mass eigenstates of the gauge bosons are
determined. Subsequently, in Section 6.4 we present the couplings between the fermions and the gauge
bosons. These are then used in Section 6.5 for calculating the cross sections of single-top processes. In
the final section we present and discuss the results that were found with the Monte Carlo simulations.

6.1 The Topflavor Lagrangian

Topflavor is the Standard Model extended with an extra SU(2) group, i.e. the Topflavor Lagrangian
has the gauge symmetry SU(3).xSU(2);xSU(2),xU(1)y. The label I stands for light and the label
h for heavy. The first and second generation of the (left-handed) fermions transforms as doublets
under SU(2); and as singlets under SU(2),. For the heavy fermions in the third generation the story
is exactly the opposite: they transform as doublets under SU(2), and as singlets under SU(2);.

For energies lower than the electroweak breaking scale, O(v = 175 GeV), the model must reduce
to the Standard Model. In the Topflavor model discussed in this chapter we shall use a complex Higgs
scalar X that spontaneously breaks the original Topflavor symmetry by acquiring a vacuum expectation
value (VEV) of u:

SU(2), x SU(2),, x U(1)y — SU(2),, x U(1)y. (6.1)

For simplicity we ignore the color group, because it plays no active role in the symmetry breaking
process. At even lower energies the theory breaks down as usual,

SU(2),, x U(1)y — U(1) (6.2)

em?

which happens when a second complex Higgs scalar doublet H acquires its VEV at scale v, with v < u.
The second breaking is called electroweak symmetry breaking (EWSB).

1This model can be considered as being part of a much larger class of models called Technicolor. An excellent review
about this topic is given in [28]. A similar theory to Topflavor is Topcolor which uses a SU(3) gauge group, similar to
the color group of QCD.
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Now that we have determined the symmetric structure of our theory, it is not hard to write down
the Lagrangian. The Topflavor Lagrangian consists of the same parts as in the Standard Model:

Lrr = Ly + LxaB + Lxu + Loa + Ly (6.3)

However, the covariant derivative here is extended with an extra set of gauge bosons?,

a a

) ) o T . w T
D, =9, —i¢'B,Y — zglVVW? — zghWhM?. (6.4)

Apart from the D, the kinetic fermion term remains the same:
Lyp = iZngLz + iﬁgﬁR@ + ZZW ﬂLui + Zﬁuz mRui + iﬁdi ldez‘, (6.5)

with summation over leptons ¢ = e, u, 7 and quarks u’ = u,c,t and d’ = d, s,b implied. The kinetic
term for the gauge bosons obtains one extra term for the extra three gauge bosons,

1 v 1 aurv a 1 aurv a
[':kGB = —ZBH Buy - ZVVl / VVl;,LV - ZWhl Whuu’ (66)
with the field strengths given by

B,, = 0.B,—0,B,, (6.7a)
Wi, = 0.Wi = 0,Wf, + g™ Wy, Wi, (6.7b)
Wi, = 0.Wi, —0,Wi, + gne® Wy, Wg,. (6.7¢)

All fermions in Topflavor theory transform as

. . . o T

¥ (z) — ' (z) = exp (ig'Y) exp (zngl 2) exp <zghTh 2) Y (x), (6.8)

Here the Y is the hypercharge of fermion, and 7j, T}, are new quantum numbers similar to the weak-
isospin 1" of the SM. The quantum numbers for each field in the theory are listed in Table 6.1.

The Higgs sector

The Higgs sector of the Topflavor Lagrangian is much different then in the Standard Model. This time
we have two Higgs fields that we need construct in such a way that they produce the correct symmetry
breaking. The simplest of the two is the H doublet. This doublet must play the same role as the
Higgs in the SM and must therefore have the same quantum numbers and representations. Under
SU(2);xSU(2),xU(1)y it transforms as?

H:(2,1),,. (6.9)

With this choice for the H we can use it to generate masses for the light fermions. In order to obtain
mass terms for the heavy fermions we can add another H to the theory that transform as (1,2), /2
However, in the next subsection we introduce an alternative method.

It is clear that we can give H the same shape as in the Standard Model,

_ o1 (z) + &5 ()
H () = ( v+ h(x)+ig, (z) ) (6.10)

The ¢, ¢4, and ¢, are the Goldstone bosons that will be eaten by the three gauge bosons Wj[ and Z,
after the electroweak symmetry breaking (EWSB). The h () then becomes a massive Higgs particle.

The Higgs field ¥ (z) cannot be written as a complex doublet, because if we want to use ¥ to
break SU(2);xSU(2);, — SU(2), it has to transform under both SU(2) groups. In other words, ¥
transforms as

S (2.2),. (6.11)

2As stated before, we leave out the QCD part of this theory.
30ften the H field is given Y = 1 with D, = 9,, — ig’B#%. However, we shall follow here the same approach as in
Chapter 3 and take Y = 1/2 with D, = 9, —ig'B,Y.
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Explicitly, the ¥ must transform as
ch — Z/Cd _ R;:(J,R;llbzab’ (612)

where R; and Ry, are transformation matrices belonging to the groups SU(2); and SU(2),. Note that
these must have different indices, otherwise they are not independent. We see from the indices that
Y (z) can be written as a 2 X 2 matrix,

. a4 a u+o+i ix1 +
S (2) = u+ o (z) +ir%y (x)( ixl—x:<3 uj—(la—);i(g ) (6.13)

As usual the 7 here are the Pauli matrices. We shall later see that the x;, x5, and x5 are Goldstone

bosons that will be eaten by the three heavy gauge bosons Wl’f and Z;/A after the first symmetry

breaking. The u is the VEV of the field and o (z) becomes a massive Higgs particle just like h ().
Without using the tensor notation, we see that 3 transform as

2 = () = (R)“ (£)™ (R)™ = (R)** (£)™ (le)bd — RSR]. (6.14)

To reverse the indices in R;, we could also use the transpose. However, Rr,f does not belong to SU(2)p,
which is easy to see by looking at the second Pauli matrix:

T3 = —Ty. (6.15)

Taking the Hermitian conjugate leaves all Pauli matrices invariant and hence R}LL does belong to SU(2),.
By using the quantum numbers in (6.9) we see that the covariant derivative for H is

iy .
D,H =0,H — %BMH - ZQﬂWl‘;T‘IH. (6.16)

For ¥ we need to keep in mind how the field transforms. We find

DY

) " 70 . " e T
8u2 + _Znglu7 Y+ X _ZghWh;L7

= 95— ingl‘L%E +ignmwi, = (6.17)

? .
Finally, in order to have spontaneous symmetry breaking via the Higgs mechanism, we must of course
include a Higgs potential. For the H we choose the usual potential,

Vi = —uy (HUH) + Mg (HH)®, (6.18)

with
HYH = (v+h)" + ¢7 + 63 + ¢5. (6.19)

We need a similar potential for ¥ (x). However, X% is a 2 x 2 matrix, not a scalar:

Y = (uto—ixiTte) (uto+itexy)

(u+0)” + Xa TaToXp

(u+ 0)2 + XX (Gap + i€apeTe) X

(u+0)” + Xa Xa + iXa €abeTeXs (6.20)

To obtain a real scalar value similar to the term HTH, we must remove the last term by taking the
trace:

1 1
;T (EE) = ST ((u +0)” + Xa Xa T ixffeabcfcxb)
= (w4 +x3+ 3+ (6.21)
The Higgs sector of the Topflavor Lagrangian can be written as

Ly = Lxn + Lpn, (6.22)
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with the kinetic terms

Lin = (D, H)' (D" H) + %Tr (D) (D)), (6.23)
and potentials
Loy = —Vy(H'H) Vs (Tr (27))
— L HTH 4\ (H'H) - % T (1) + % (Tr (27x))”. (6.24)

Topflavor with seesaw mechanism

We also need Yukawa terms to generate masses for the fermions using the Higgs bosons. Instead of
using the original model of [29], we shall use an extension called Topflavor with Seesaw Mechanism
[30]. The main difference is that in the original theory the whole third generation transforms under
SU(2)p, while in this new model only the top-bottom family transform under SU(2)j, with the tau
lepton transforming in the same way as the lighter families. This can explain why the top is so much
heavier than the tau lepton.

We can explain the principle of the seesaw mechanism [31] with a 2 x 2 matrix like

M2:( 0 ’Z) (6.25)

m

The value of b has to be large, and m is of an intermediate size. In order to find the mass eigenstates
of the particles, we need to diagonalize this matrix. Their masses follow from the eigenvalues:

b Vb 4 4m?

As 5 (6.26)
Since b > m, one particle receives a really large mass,
AL~ b. (6.27)
The determinant of the matrix is equal to
IM?| = A_X; = —m”. (6.28)

This means that if one mass goes up, the other goes down — just like a seesaw. Indeed, the other
particle has a really small mass,
b — Vb% + 4m? 2
A = b= vbm+dm”  m~ +0O (m4) ] (6.29)
2 b
The seesaw mechanism can be used to explain e.g. the small neutrino masses. In our Topflavor model

the mechanism is used to generate a top mass, which is small compared to the masses of two new
quarks, 7 and B. These left-handed quarks are doublet under SU(2),,

(L
Sp = ( o ) , (6.30)
while the right-handed quarks form a doublet under SU(2)p,
_( r
Sgr = ( Br ) (6.31)
The Yukawa terms for the third quark family are
£Y73rd = —%ELZSR — ystgLHcf,R — ysbgLHbR - /@ftSR + h.C.7 (632)

where H€ is the anti-Higgs doublet,
H¢ = —itoH". (6.33)
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particle | SU(3). SU(2); SU2), U(l)y
(tr,br)T 3 1 2 +1/6
tr 3 1 1 +2/3
br 3 1 1 -1/3
(71, B)" 3 2 1 +1/6
(Tr, Br)" 3 1 2 +1/6
(Vrr,7L) 1 2 1 -1/2
TR 1 1 1 -1
N 1 2 2 0
H 1 2 1 +1/2

Table 6.1: Representations of all fields in the Topflavor model (taken from [30]). The representations
for the first and second family of leptons and quarks do not change in Topflavor, they are all singlets
under the SU(2)y,.

When H and ¥ obtain there VEV’s,

1 0 1 u 0
H)=—— , Yy=— , 6.34
w=-5(v) @500 0) (030
the Yukawa terms turn into
Y - 0 K tR
Lysa = —(t Tr) < me Mg > < Tn >
(5, By Y bR ) | e (6.35)
L=k msy, Mg Br ” '

where Mg = yu/V?2, mg = yav/vV2, and mg, = yav/v/2. The values of ys, ys and yg, are all of
order 1. Because u > v, we see that these matrices cause a seesaw mechanism. The masses of the
quarks are

s «/Ms)® :
my, = Matf 1M+@<m_t4> ,
Mgsy/1+7r 2(1+7) Mg
my = b _ (mg/Ms)* O(”ﬁf)
MsvItr 2(1+1)° Mg) |’
22 4r +3
My = MgV1+7r|1+—t 2+ 0 (28],
2(1+7) 81+ (=)
22 4r 4+ 3
Mg = MgV1+r|l+ b 24+ 0 (28], 6.36
30+ e o) (6:36)

where r = (f<a/M5)2 ~ O (1) and 2z, = myp/k with 2, € 2z < 1.

In the remainder of this chapter we shall not go further into the properties of the 7 and B quarks,
we shall focus on the gauge bosons. For us, the only difference between the original Topflavor model
and the one with the seesaw mechanism, is the fact that tau lepton will not couple strongly to the
heavy gauge bosons.

Finally, we must mention that the Yukawa terms for the light families are simply the same as in
the Standard Model:

Ly = —AgszR@ — )\dizuiHRdi — )\uizuiHCRui + h.c., (6.37)

summation over leptons ¢ = e, u, 7 and the light quarks 4’ = u,c and d* = d, s implied. There are
no Yukawa terms with light fermions and the ¥ field. This is because there are no light right-handed
doublets.
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6.2 Breaking of SU(2);xSU(2), — SU(2),

In this section we determine which gauge bosons obtain a mass when X acquires its VEV,

(z>:%(g 2) (6.38)

As stated in Table 3.2 in Chapter 3, we can find the masses and mass eigenstates of the gauge bosons
by substituting ¥ = (X) into the kinetic Higgs term Ly of (6.23). Because the H field has no influence
on the breaking of SU(2);xSU(2);, — SU(2)w, we only need to examine the kinetic term of X:

1
Lins =5 Tr ((D#E)T (D“E)) . (6.39)
We find
- a Ta - a Ta
Dy(¥) = 0,(%) - Zngm; (X) +ign (X) Whu?
Zu a a a
= _ﬁ (ngl# - ghWh#) T (6.40)
and )
i
D, <Z>T = 2—\/5 (ngz(L - ghWﬁu) T (6.41)
Their product is
T W u? a a bu bpu\ _a b
(D (ENT (D (2)) = 2 (Wi, — 9uWi) (@W7* = gaWy# ) 727", (6.42)

and the kinetic Higgs term is therefore

[

U
Lynzy = 16 (QZWZ(L - ghW;zlu) (nglb# - ghW}gﬂ) Tr (TaTb)
u2 a a a
= 16 (Wi, — 9nWi,.) (nglbﬂ - ghW;f#) (25 b)
u2 2 a2 a ap 2 a \2
= ) {gl (qu) *2gl9thuWh + i (Whu) }
1 a a 2 Wa#
= S (Wi Wi )M ( o ) (6.43)
The mass matrix M? is given by
w2 g2 _
M2 = — l Iigh ) . 6.44
4 ( —919hn 9;21 ( )

This is exactly the same matrix as in (3.71) The eigenvalues of this matrix are

M = 0, (6.45a)
2 u? 2
My = (97 +92) (6.45b)
with the normalized eigenstates
Wi = (g W™+ g W) [N\ 9i + g (6.462)
Wyt = (—aW™ + g Wit) [\ g + g5 (6.46b)

In the Standard Model we simplified these expressions by introducing the mixing angle 6,,. We can
do this again with a different mixing angle ¢ defined by

dh

> sing = | (6.47)
g9; + 95,

cos ¢ = )
9i + 9
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such that
Wi = cos¢ W™ +sing W;", (6.48a)
Wyt = —sing W™ 4 cos¢p W (6.48Db)
We have found that the breaking SU(2);xSU(2),xU(1)y — SU(2),xU(1)y using () causes three
gauge bosons to obtain a mass: Wy". The remaining gauge bosons W{*" and B* (the gauge boson of

U(1)y) are left massless. It is clear that the massless W and B* can be identified with the Standard
Model gauge bosons before electroweak symmetry breaking.

6.3 Electroweak symmetry breaking

In order to compare the Topflavor model with the Standard Model, we must determine the masses and
mass eigenstates of the gauge bosons after EWSB. The VEV of the H field is

1 0
<H>ﬁ< v > (6.49)
This has no influence on the ¥ part of Lyg,
1 2 apy2 1 2 apy2
ﬁkH7<g> = §M1 (Wl ) +§M2 (W2 ) (6.50)
1U2 apy2
= 37 (QZZJF!J}%) (W3")", (6.51)
but only changes
Ly = (D,H) (DFH). (6.52)
First we calculate
ig’ il ra _a
Du(H) = 0, (H) ~ 5B, (H) Wi ()
g (0} (M ) ()
2v2 M\ v 2V/2 Wllu +ZW5L fVVli v
gy ( 0 )_ igiv ( Wy, — W, >
2v2 \ By 2v/2 *Wl?;’t
: 1 _ 12
— < o ng ’Wgt) ) (6.53)
2V2\  ¢B.—aW,
and .
i .
D, (H) = N (o (Wh+im2) oB.—gWi ). (6.54)
The result is
c —h’ng—W B, — W, 6.55
kH,(H) — ’ I — b lﬂ‘ + 9 4 (g gi lu) ( : )
1v g? 2
= 3 [(Wﬁu) + (W) }+5Z(gB — W) (6.56)

The most straightforward way of determining the mass eigenstates of all 7 gauge bosons, is by deter-
mining the 7 x 7 mass matrix:

1
Ly = EkH,(H) + EkH,(E) = §GTM2G, (6.57)
with the vector G defined by
Gh= (W} wl, w2 Wz WP Wi B,). (6.58)
With this choice for G’ the mass matrix obtains a nice diagonal form:
A% 0 0
MZ=| 0 A2 0 |, (6.59)
0 0 B?

76



with

Az ( (0®/u® +1) g7 —aign ) _ v ( (1/z+1) g7 —agn ) (6.60)
1 —919n 92 4 —919h g% )’ '
and
v2p [ Ve +Dgi —qn —g'a/x
B? = e —919n 9 0 . (6.61)
—d'qi/x 0 g% /x

Here we have defined z as )

T = % (6.62)

Note that because u > v we have z > 1.

Mass eigenstate of the photon

We expect after diagonalization to find only one massless gauge boson, the photon. In the SM the
photon mass eigenstate was a linear combination of fields including the B, field. Indeed, when we
diagonalize the B? matrix, we find again that it has one eigenvalue equal to zero. The normalized
eigenstate associated with this eigenvalue is

geWi g Wi taBy 1 (14 1o 1
Ap = 2.2 1 2,2 1 2,2 = 5 Wi+ —Wi,+—=Bu), (6.63)
V9?97 + 979 + 997, V1/62 \gi g g

where we have defined g, with
1 1 1 1
= (6.64)
92 9% g 9”
We could imagine A, as a unit vector in the 3-dimensional space of (Wliv W,‘:’M, B,,). The coupling
constants then determine the direction of this vector:

Je YGe Ye
A, ==,=,= ). 6.65

g (gl 9n 9') (6.65)
Because we have here a normal 3-dimensional space, we could introduce spherical coordinates. A

common choice is

Je _ §inf cos o, 9e — ginfsin o, g—f = cosf. (6.66)
g

gi 9h
Note that the ¢ here is the same as in (6.47). In terms of these mixing angles, we have

A, =sin6 (cos¢ Wﬁt +sin¢ W,z:’#) +cosb B,,. (6.67)

Mass eigenstates of the Z and 7’
The other two eigenvalues of the B2 matrix are

Mg (z +sin ¢) M}

2sin? ¢ cos2? ¢ 2cos? 6

M3 =

. Mg\/(sinz ¢cos? ¢ — (z + sin* ¢) cos? 9)2 + 45in° ¢ cos? ¢ cos? 0

, 6.68
2 cos? 0sin® ¢ cos? ¢ (6.68)
with _—
gov
M= -2 —. 6.69
07 4sin%6 (6.69)
For very large values of x = u?/v? > 1 we see that these masses become
Mg ME
lim M2 = ——C2 . (6.70)
z—00 2sin” ¢ cos? ¢ 2sin” ¢ cos? ¢

Evidently M_ vanishes when u — oo. This means that M_ must be the mass of the light Z boson
and M, the mass of much heavier Z’-boson. If we expand the expressions around 1/z = 0 we find

a4
M2 =M? = Mg {1 - b”; ¢ .0 (i)] (6.71)

cos2 0 x2
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and for 7/,

.2 .4
1
M2 = M? = M? = YR 6.72
7 + % | sin® ¢ cos? ¢ + st ® T rcos2g T x2 (6.72)
In the limit £ — oo one finds that the eigenstates are
lim Z, = Zy, =cosf (cos¢ Wli +sin¢ Wﬁu) —sind B, (6.73a)
lim 7}, = Zy, = —sing Wj, + cos¢ W, (6.73b)

The eigenstates of Z,, and Zj, for finite values of x can be nicely written as a perturbation of the states
Z1, and Zs,. To order O (xfz) we find

. 3
_ sin” ¢ cos ¢
Zy = Zit ~cosd Zoy, (6.74a)
.3
sin® ¢ cos ¢
zZ, = ——r—"17 Zay,.- .74b
H x cos O 1n F L2u (6.74b)

Mass eigenstates of the W and W’

The masses and mass eigenstates of the W and W' follow from the matrix A2, in a similar manner.
The mass of the W is

sin’ 2cos? ¢ — 1) sin® ¢ 1
Y Y L 1 .
W 0 [ . = +0 )| (6.75)
and for the W/,
. 2 .4
1
M2, = M2 * sin ¢ s d o (L)), 6.76
w 0 Lin2 ¢ cos? ¢ + cos? ¢ + T + 2 (6.76)
Their ratio is , , )
My,  sin® ¢cos” ¢ 1
= Ool=)- 6.77
M, x * <x2> (6.77)
For the eigenstates we have to use
Wi = (W, FiWg) V2, (6.784)
Wi, = (Wi, TiWg,) /V2, (6.78b)

in order to have mass eigenstates that correspond to the same particles as in the SM. The eigenstates
of the Wf and W;Li are then [32]

Wpi _ le; n sin gbcosgbwi, (6.790)

Wi = —MTC()WW& + W, (6.79D)
where the le; and Wziu correspond to the eigenstates in the limit x — oo,

Wf; = cos¢ T/Vlt +sin¢g Whiu, (6.80a)

Wi, = —sing Wi +cos¢ Wit (6.80Db)

We can make some interesting remarks. For example, in contrary to the gauge bosons of the SM, the
heavy gauge bosons W'+ and Z’ all have the same mass,

x sin? ¢

sin? pcos2¢p  cos?¢]’

MZ, = M2, = M2 (6.81)
up to the order O (z°) = O(1). A more important remark can be made about the ratio My /M for
which M

M—‘Z = cos b, (6.82)

up to order O (x_l). Not surprisingly, the angle 6 is the same as the weak mixing angle 6,, of the
SM. This is actually a very important property of the Topflavor theory, because this ratio has been
measured to high accuracy. If this theory would predict a ratio that is too far off, it would indicate
that theory is flawed.
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6.4 Fermion - gauge boson couplings

Before we can calculate any cross sections with the Topflavor model, we need to determine the vertices.
i.e. the couplings. The way to do this, is by evaluating the kinetic term for the fermions in our
Lagrangian,

Ly =iLiy"D,Ly + iRgy" D, Ry. (6.83)

The covariant derivative is
D, =0, —ig' B,Y —igWi, T —ignW;, Ty, (6.84)

with T = 79/2 the generators of the SU(2);, and TP = 7°/2 the generators of SU(2),. As we have
seen in Chapter 3 with the Standard Model, it is better to use here

1 1 1
TH =7t = — (7' +ir?) = —= (T +£47?), 6.85a
37 = g (T i) = 5 (1) (0:852)
such that
W T+ WRIP = W, (TT+T7) —iWz, (T -T7)
1 _ 1 _ _
= S(WiE+we) @ +17) + 5 (Wit —w) (T -17)
= Wl;Tf + Wl';TJr. (6.86)
The covariant derivative is then
D, = 9,—i¢'B,Y —ig (Wl;Tl_ + V[/l:Tl-i- + VVl?LTlg)
—ign (W}:HT}: +WETE + W,?HT,§> . (6.87)

The next step is to write D, in terms of the mass eigenstates. To keep things simple, we examine here
only the eigenstate A,. Solving for Wliv W;:’M, and B, we obtain

VVl?;L = [sinfcosd| A, + ..., (6.88a)
Wi, = [sinfsing] A, +..., (6.88b)
B, = [cosb]A,+..., (6.88¢)

where the dots stand for expressions with Z,, and Z;L. Substituting this into D,, brings us

D, = 0,—igY[cosO] A, —igT} [sinfcos¢| A, —ignT} [sinfsing] A, + ...
. Je Je . Je . .
= i (my‘m“ Snfcosg Ll Snfcosd+ MT5’51“951“¢> At
= Oy —ige Y+TP+T;) Ay + ...
= 0, —igeQA, +.... (6.89)

From this it is clear that the charge operator @ is
Q=Y +T}+ T3, (6.90)

and that g. = e is the QED coupling constant.
We can do all of this also for the other gauge bosons. To order O (:c’l) the complete expression is

sin? ¢

D, = 0, —ig.QA, —igy [Tf +TE 4+ (T cos® ¢ — T sin® ¢)} W
sin? ¢

T

Juw
cos 6
_ cos¢, . sing,_ . sin®pcosd . " pn
—iGw T, — " — T, +17) | W,
tGu Lin¢ b cosp ! (Ty +17) | Wy

—1 [Tf’ + TP — Qsin® 0 + (T,zf cos? ¢ — T} sin® gzb)} Z,

) cosp,_, sing, ., sin®pcose . 3 . 2 '
—igy T3 — T3 — T3 4T3 — 0)| 7. 6.91
ig {sinqﬁ P cosg Py (T + T — Qsin®0) | Z], (6.91)
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The weak coupling constant is again g,, = ge/ sin 6.

To find the coupling between a fermion and a gauge boson, you simply substitute this D, into
the Lagrangian Lyp with the quantum numbers corresponding to the fermion. As an example, the
interaction between a fermion and the W'~ boson is

L"kF,W’ = 'Lff’y#D“Lf + ’LRf"Y#D“Rf
— cos¢__  sing__  sin®pcosd , _ ,_
= guwLy* T~ — — T T L , .92
Guwligy Lincﬁ b cose ! - (T, +1,7)| Ly, (6.92)

where we have used the fact that for right-handed particles T; = T, = 0. If the fermion is top quark
then T; = 0 also for the left-handed part, and therefore

.. 3 _
Lip e = ngﬂu Cf)S(b _sin ¢ cos ¢ T—LtW'_
’ sin ¢ T 2 K
.3
_ gl(_ - ) u Cosgbism ¢ cos ¢ 0 ,
V2 b bp ) Lincﬁ T tr, Wi
Gw [cos¢  sin®pcosd] — ,
= == — byttt W/ . 6.93
o | AW, (6.93)
Using the helicity operators P;, and Pg,
Ggw [cos¢ sin®¢cosg] ,_
L . = — by*(1— tw,
kF, W't 23 [sinqS - 7 ( ¥s) M
.3
Gw |COS¢@  sin® ¢cos ¢ — _ - —
— Viad + Viss + Vipb) v* (1 — tW,—, 6.94
o |0 - SO (o Vi V)0 (L) WL (690
with V;; the CKM matrix. This translates into the vertices like
t 3
W’ igw |[COs¢ sin”pcosg|
= — 1-— Vip- 6.95
2\/§Lin¢ . V(1 =75) Vi (6.95)
b
In a similar way we find the interactions between the W~ boson and the top:
- - _ | sin? ¢ 2 — w2 -
Lwrwe = Gulpy" |17 + 1), +T (Th cos” ¢ — 1 sin qb) LW,
.92 2
Guw sin“ ¢ cos® ¢ - _ - _
= o [1 + " } (Viad + Vis + Vipb) 4* (1 = v5) tW,,. (6.96)
For the W~ boson with other quarks (¢ = u, ¢ such that T, = 0):
Juw Sin4 (b 3 — T n _
Lyrwg = —2\/5 1— (V:de + Vys5 + qub) (1 — ) W, (6.97)
and for the W'~ boson with ¢ = u, c:
Juw sing  sin®¢cosd - _ - _
L g = — — Vyad 4+ Vyss + Vb)) A (1 — W, . 6.98
KF,W'q 2\/5{0%05 . (Vaad 4 Vgs5 + Vapb) v (1 — 75) gW, (6.98)

From the equations (6.94), (6.96), (6.97), and (6.98) we find the following changes in the couplings.
When we compare SM — Topflavor we find for the W bosons

2 2
ng;fb - ngtb = Jw |:1 + w} %b (Same for V%da V;fs)u (6993)
X
sint ¢
ngud - ngud = Gw |:1 - - :| Vud (Same for Vus, Vub7 Vcd; ‘/CS, Vcb)' (699b)



Apparently the couplings in Topflavor model are a bit different from the SM. The couplings of the W’
are

.3
COS Sin COS
9Uly = 9w [Sinz — (i ¢] Vip (same for Vig, Vis), (6.100a)
. .. 3
GUly = gu [_:22 _sm (‘;COS(‘S} Via  (same for Vi, Vi, Voa, Ves, Vig).  (6.100b)

6.5 Single-top in the Topflavor model

The s-channel single-top process is influenced a lot by the introduction of new gauge bosons. Instead
of having only the W as the propagator, it is now also possible to have the heavy W' boson as
propagator?. The new Feynman diagram is:

u,c t
W, W’
(6.101)
d,s,b b

Calculating the invariant amplitude for this process is not that hard. In Chapter 4 we have already
determined the M for s-channel single-top without the heavy W':

— 1 ga | VadVoGuw | 1 o ?
M[" = 1 Z 61 [0g7" (1 = 75) U] e [aey” (1 —5) vg]
all spin w
Ly A
= — g X" Y, a2, 102
256gw HEVA (6 0 )
with k = p, + pg the momentum of the W. The tensors X#*, Y., and Z> are
X0 = T [ (L= 5) P, (L= 75)] (6.103a)
Yir = [Vaal® [Vio]? | 22 I 6.103b
o = Wl Wal? | 72| | 722 (6.103b)
7 = Tr [(pt n mt) 7 (1= 5) ™ (1 — 75)} . (6.103c)
The only thing that changes in the Topflavor model is the tensor Y.y,
U Und u,U., 2
Yikor = “ VIR 6.104
W = T ME T R = MG, + iy Ty | S (6.104)

The decay width I'yy of the heavy W' is needed to prevent the occurrence of a singularity at k2 = MEV,.
The width of the light W is not needed because the energy of the partons § = k2 will be in general
much larger than MZ,. According to [33] the width of the W’ gauge boson is given by

2
Jw 2 2
I'y=—"*(——+t M. 1

1272 (tan2¢ a ¢> (6.105)

The products Uy U,q and U, U, ,; are

c 2 2 4
Sin COS Sin
UpUua = <1 + %) (1 - ¢> VioVud
-4 2 2
_ (1 _sim¢g  sinécoso o (x_2)> Voo Viuds (6.106)
X xr

4At CM-energies of several TeV’s the partons can aquire energies a much higher than the VEV of the electroweak
scale, v &~ 175 GeV. One could argue that at this level the Higgs doublet now also contains a positively charged Higgs
boson, H*, which can also act as the propagator! Even though this is essentially true, we do not have to include this
particle. The fact is that the HT is actually a Goldstone boson which is ‘hidden’ inside the W boson as it longitudinal
polarization state.
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and

UL, = cos ¢ B sin® ¢ cos ¢ _sinng _ sin® ¢ cos ¢
“ sin ¢ x cos ¢ x

(_1 N sint ¢ 3 sin? ¢ cos? ¢
x x

) VioVua

+0 ($_2)> VioVud
= —UwUua- (6.107)

The squared value of U U,q is

sin? sin? ¢ cos? B
U |Unal® = <1 -2 ¢ 4o d)x ¢ 40 (x 2)) Vio|? [Viual? (6.108)

We prefer to write this in terms of My instead of x. Using (6.77),

sin® gcos? ¢  MP,

. =1p (6.109)
W/
we find
.4 .2 2
sin sin” ¢ cos
Ol sl = (1270 4 O
2 M, 2 2
= (1+2(—tan®¢+1) a2 ) Vel [Vaal™ (6.110)
W/
The tensor Y., » can now be written as
1 -1 2
Yirwn = |Uss|” |Unal® v x- 6.111
T2 | tb‘ ‘ d| kQ_MI%V+k2_M€V/+iMW’FW’ GuvGrx ( )
The invariant amplitude for the s-channel is then
ME = gt Vi Vil [(a = m2) ] [1 42 (1 — tan? g) 2
MP = 0k Vel Wal? [(@ = m?) a] |1+ 2 (1 = tan? g) 2]
W/
1 2(5— M2, 1
X - — ( iv) + ,(6.112)

(5—M2) <(§ — M2,)* + M2 ,rgv,) (5 — M2,)* + M2, T2,

with § = k2 = (pu + p;)* and @ = (p; — p¢)*. This equation is equal to the one stated in [33].

We do not expect a big change in the cross section for the ¢-channel process. The contribution of
the W’ goes like 1/(f — M2,,)?, where # is the difference between the momenta of the initial partons
squared. This difference can be neglected if we compare it to the mass of the heavy gauge bosons,
t < MZ3,,, and therefore the contribution of the W’ can be ignored. Le. the results for the Topflavor
t-channel are the same as those for the ¢t-channel in the Standard Model.

Also for the Wit-associated process we do not expect much change, the presence of a heavy W’ has
little influence on the Wtb-coupling We do expect however to see a similar process,

b+g—t—t+W. (6.113)
The cross section for this process will have the shape of a Breit-Wigner resonance with its maximum

at s = MEV,.

6.6 Monte Carlo results

Precise electroweak measurements give bounds to the values of the free parameters of the Topflavor
model. As can be seen from the equations for the W and Z masses in (6.75) and (6.71), the parameters
sin® ¢ and 1 /x must be small enough to ensure that the Topflavor predictions agree with experimental
results. The masses of the W’ and Z’ are directly related to sin?¢ and 1/z, via Equation (6.77).
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Therefore one can also use M2, = M2, as a free Topflavor parameter, instead of the ratio z = u?/v?.

According to [34] valid ranges are

800 GeV
0.05

My < 2000 GeV, (6.114a)

<
< sin® ¢ < 0.25. (6.114b)
In Figures 6.1 and 6.2 the cross sections for the s-channel single-top process are shown, for different
values of sin® ¢ and My,. For comparison we have included in Figure 6.3 the same graphs, but for
next-to-leading order [34]. One can see that for the Tevatron the NLO values are about 1.4 times larger
than the LO values. We can find approximately the same factor in Table 4.2: the ratio onLo/oLo for
the s-channel at the Tevatron with /s = 2 TeV, is 1.47. Of course this is no solid proof that Figure
6.2 absolutely agrees with Figure 6.3; the values of Table 4.2 are for the Standard Model, while the
plots presented here are for Topflavor. But we do recognize that the curves of Figures 6.1 and 6.2
nicely follow the curves of Figure 6.3, e.g. none of the LO curves crosses its NLO curve. Also for the
LHC we find that ratio onro/oLo in the Topflavor plots roughly agrees with the values in Table 4.2,
in all cases around 1.4. If we compare the s-channel cross sections of the Standard Model to those of
the Topflavor, we see that the Topflavor s-channel cross sections can be up to four times larger for
the LHC. Even if My has a large mass of around 2 TeV the cross section is increased by about 25%.
At the Tevatron there are no big differences between the Standard Model cross section and those in
Topflavor. Therefore it is unlikely that the Tevatron will discover the W’ via the s-channel.

The pr of the top quark for different values of My is presented in Figure 6.4-6.7, and for different
values of sin? ¢ in Figure 6.8 and 6.9. It is clear that the heavy W' has a strong influence on the
s-channel single-top process. If the mass is relatively low (below 1 TeV) then the pr shows a clear
peak near pp = My, /2. This can be easily explained with kinematics. The left peak is the same
maximum as the one in the pp plots of the Standard Model (Figure 4.7 and 4.8). By introducing
a second, heavier W boson, we introduce a second peak. The pp of the top quark has its second
maximum around half the mass of the W’ because there the W is close to becoming a real particle. If
there is enough energy then it is easier to create a real particle than a virtual one®, hence the increase
in cross section. The mass of the top quark is small compared to the W’ mass. This means that when
the heavy boson decays (W'* — tb), each quark will receive about half the energy of the W', i.e. the
momentum of the top will be p; =~ My /2.

As one can see in Figure 6.8 and 6.9, a small mixing angle leads to a small second peak. How
can we explain this? The answer is inside Equation (6.105): the decay width of the W’. The decay
width is included in the invariant amplitude to avoid a singularity when W’ becomes real; k? ~ M.
Evidently, when I'yy» becomes smaller, the resonance quickly increase in size. The width is proportional

to
2 2cos? ¢ sin?¢  2(1-— sin? ) sin? ¢
Ty ox —5— +tan®¢ = - = - . 6.115
W tan? ¢ ¢ sin?¢  cos?¢ sin? ¢ (1 —sin®¢) ( )

If sin® ¢ becomes really small, then

2 (1 — sin? gb)2 +sint ¢ 2
sin’ ¢ (1 — sin® d)) ~ sin? ¢

and this becomes very large for small values of sin? ¢. Therefore a small sin? ¢ results into a smaller
resonance, hence a small second peak.

Figures 6.10-6.17 show the pseudo(rapidity) of the top. These are quite similar to the ones in the
Standard Model, except for having a larger area (which is because the cross section is higher than in
the SM). The only noticeable thing is that in the pseudorapidity for the LHC (Figure 6.13) the small
dip disappears when My is large and sin? ¢ is low.

The results for the £ at the Tevatron are the same as the results for the ¢. For the LHC the t cross
sections are all roughly 50% lower than the ¢ values. That is because the LHC collides two protons,
each built from two u-quarks and one d-quark. To produce an s-channel top quark, we need a u-quark
(and a d-quark). To produce an s-channel top antiquark, we need a d-quark (and a @-quark). Hence,
the cross section for the top is twice as large.

5Tn mathematical terms: if the particle is (almost) real, then k2 ~ m?2 and the denominator in the propagator of the
s-channel becomes very small. This results into a large increase of the invariant implitude, i.e. a large cross section near
k2 =m?2.
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Figure 6.1: Cross section of the s-channel single-top in the Topflavor model, as a function of My =
Myz/. The o here is the cross section for the Tevatron (pp, v/s = 2 TeV). At the Tevatron the results
for ¢ are equal to those for the ¢.
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Figure 6.2: Cross section of the s-channel single-top in the Topflavor model, as a function of My =
Mz:. The o here is the cross section for the LHC (pp, /s = 14 TeV).
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Figure 6.3: The NLO rate of the s-channel process ¢¢’ — W, W’ — tb in pb at the Tevatron (lower
curves) and LHC (upper curves), for the Topflavor model with sin® ¢ = 0.05 (solid curves) and sin? ¢ =
0.25 (dashed curves), a a function of Mz = My. The Tevatron cross sections are multiplied by a
factor of 10. At the Tevatron, the ¢ production rate is equal to the ¢ rate. At the LHC the ¢ rates are
shown for sin? ¢ = 0.05 (dotted curve) and sin? ¢ = 0.25 (dot-dashed curve). Taken from [34].
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Figure 6.4: Transverse momentum for s-channel single-top in the Topflavor model, at the Tevatron
(pp, v/s = 2 TeV). We have plotted here the pr of the t-quark for different values of My, always with
sin? ¢ = 0.25. At the Tevatron the results for ¢ are equal to those for the .
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Figure 6.5: Transverse momentum for s-channel single-top in the Topflavor model, at the Tevatron
(pp, v/s = 2 TeV). We have plotted here the pr of the t-quark for different values of My, always with
sin? ¢ = 0.05. At the Tevatron the results for ¢ are equal to those for the .
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Figure 6.6: Transverse momentum for s-channel single-top in the Topflavor model, at the LHC (pp,
/s = 14 TeV). We have plotted here the py of the t-quark for different values of My, always with
sin? ¢ = 0.25. The pp of the t-quark has the same shape as the t-quark, but is roughly 50% lower.
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Figure 6.7: Transverse momentum for s-channel single-top in the Topflavor model, at the LHC (pp,
/s = 14 TeV). We have plotted here the pr of the t-quark for different values of My, always with
sin? ¢ = 0.05. The pp of the t-quark has the same shape as the t-quark, but is roughly 50% lower.
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Figure 6.8: Transverse momentum for s-channel single-top in the Topflavor model, at the Tevatron
(pp, /5 = 2 TeV). We have plotted here the py of the t-quark for different values of sin? ¢. The mass
of the heavy W boson is here My = 800 GeV. At the Tevatron the results for ¢ are equal to those for
the t.
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Figure 6.9: Transverse momentum for s-channel single-top in the Topflavor model, at the LHC (pp,
/s = 14 TeV). We have plotted here the pr of the t-quark for different values of sin® ¢. The mass of
the heavy W boson is here My = 800 GeV. The pr of the t-quark has the same shape as the t-quark,
but is roughly 50% lower.
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Figure 6.10: Pseudorapidity for s-channel single-top in the Topflavor model, at the Tevatron (pp,
/s = 2 TeV). We have plotted here the n of the t-quark for different values of My, always with
sin? ¢ = 0.25. At the Tevatron the results for ¢ are equal to those for the .
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Figure 6.11: Pseudorapidity for s-channel single-top in the Topflavor model, at the Tevatron (pp,
/s = 2 TeV). We have plotted here the n of the t-quark for different values of My, always with
sin? ¢ = 0.05. At the Tevatron the results for ¢ are equal to those for the .
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Figure 6.12: Pseudorapidity for s-channel single-top in the Topflavor model, at the LHC (pp, /s = 14
TeV). We have plotted here the 1 of the t-quark for different values of My, always with sin? ¢ = 0.25.
The pr of the t-quark has the same shape as the t-quark, but is roughly 50% lower.
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Figure 6.13: Pseudorapidity for s-channel single-top in the Topflavor model, at the LHC (pp, /s = 14
TeV). We have plotted here the 5 of the t-quark for different values of My, always with sin? ¢ = 0.05.
The pr of the t-quark has the same shape as the t-quark, but is roughly 50% lower.
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Figure 6.14: Rapidity for s-channel single-top in the Topflavor model, at the Tevatron (pp, /s = 2
TeV). We have plotted here the y of the t-quark for different values of My, always with sin? ¢ = 0.25.
At the Tevatron the results for ¢ are equal to those for the ¢.
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Figure 6.15: Rapidity for s-channel single-top in the Topflavor model, at the Tevatron (pp, /s = 2
TeV). We have plotted here the y of the t-quark for different values of My, always with sin? ¢ = 0.05.
At the Tevatron the results for ¢ are equal to those for the ¢.
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Figure 6.16: Rapidity for s-channel single-top in the Topflavor model, at the LHC (pp, /s = 14 TeV).
We have plotted here the y of the t-quark for different values of My, always with sin? ¢ = 0.25. The
pr of the t-quark has the same shape as the t-quark, but is roughly 50% lower.
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Figure 6.17: Rapidity for s-channel single-top in the Topflavor model, at the LHC (pp, /s = 14 TeV).
We have plotted here the y of the t-quark for different values of My, always with sin® ¢ = 0.05. The
pr of the t-quark has the same shape as the t-quark, but is roughly 50% lower.
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Chapter 7

Little Higgs models

Recently, a new class of extensions to the Standard Model has been developed. These Little Higgs
models provide a natural way of giving the Higgs boson its mass. In the Standard Model the Higgs
mass suffers from the so-called hierarchy problem, something that is solved in Little Higgs theory.
We shall explain more about the hierarchy problem in the first section of this chapter. After that we
focus more on one particular model: the Littlest Higgs. This model has become quite popular in a
short period of time. In Section 7.2 we present the symmetric structure of this model, followed by the
calculation of the mass eigenstates of the gauge bosons in Section 7.3. In Section 7.4. the invariant
amplitudes for single-top are determined, with the results presented and discussed in Section 7.5.

7.1 The hierarchy problem

At tree level the Standard Model is a stable, well-behaving quantum field theory, but problems arise
when we include diagrams with loops. To calculate loop diagrams we need integrate over the momenta
of the fermions inside the loops. These integrals are often quadratically divergent and need to cancel
with the integrals of other loop diagrams. In the Standard Model the calculation of the Higgs mass
is a problem. There are three diagrams that give a large contribution to the Higgs mass, see Figure
7.1. Assuming that the Standard Model remains valid up to a cut-off scale of A ~ 10 TeV, the three
diagrams give [35]

3

2,2 2
top loop - @)\tA ~ —(2 TeV)=, (7.1a)
1
gauge boson loop 16—292A2 ~ (700 GeV)?, (7.1b)
T
. L 12,0 2
Higgs loop 167r2>\ A (500 GeV)~. (7.1c)
The Higgs mass is then
mi = miee — (2 TeV)? + (700 GeV)? + (500 GeV)?. (7.2)

The parameters A, g, and X need some careful fine-tuning to make sure that all divergences are exactly
cancelled (Figure 7.2). This is possible, but is however a very unnatural situation. We would prefer
to have a theory where all quadratic divergences are canceled because of symmetries or some other
property of the theory. The need for fine-tuning is called the hierarchy problem.

There are several extensions of the Standard Model that solve the hierarchy problem. In super-
symmetric theories each particle has a superpartner that gives the same loop diagrams, but with the

a)

Figure 7.1: The three most significant loop contributions to the Higgs mass. In (a) the top loop
diagram, in (b) the Higgs loop diagram, and in (c) the gauge boson loop diagram.
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Figure 7.2: The fine-tuning required to obtasin an acceptable Higgs mass in the Standard Model with
cut-off scale A ~ 10 TeV (taken from [36]).

opposite sign. Therefore the supersymmetry causes a perfect cancellation of quadratic divergences.
There are still logarithmic divergences, but these do not invoke any fine-tuning. In this chapter we
examine a different class of theories: Little Higgs models. In these models the Higgs boson has a
stable mass because it is a pseudo-Goldstone boson'. Such a boson results from a spontaneously bro-
ken approximate global symmetry. A small mass term or Yukawa term breaks the global symmetry
explicitly, providing a small mass for the otherwise massless Goldstone boson. This term must be
small to prevent the theory from loosing the symmetry completely.

Early attempts to create such a theory were unsuccessful: the quadratic divergences to the Higgs
mass remained. The first successful Little Higgs model which canceled all relevant quadratic diver-
gences was constructed by Arkani-Hamed, Cohen, and Georgi in 2001 [37]. Subsequently, a lot of new
Little Higgs models were constructed, e.g. [38], [39], [40]. In this chapter we treat one of the most
popular models, the so-called Littlest Higgs [41].

7.2 The Littlest Higgs

Little Higgs models can be categorized by the symmetry breaking they are based upon. In the case of
the Littlest Higgs we have the breaking of SU(5) — SO(5), which occurs at a scale f of the order of 1
TeV. We introduce here an old notation: when the symmetry is global, the group is underlined. Within
the global SU(5) symmetry we imbed an SU(2); xU(1); xSU(2)2xU(1)2 gauge symmetry. After the

breaking SU(5) — SO(5) the gauge symmetry will break down to the Standard Model symmetry:

[SU(2);xU(1),]*> — SU(2),xU(1)y. Of course, at scale v we have again the electroweak symmetry
breaking.

Even though the symmetry breaking to U(1).,, goes into two steps (just like Topflavor), this theory
only needs one Higgs field: a 5 x 5 matrix field called ¥. When 3 acquires a vacuum expectation value,
Goldstone bosons appear to the theory. These are then identified with the SM Higgs fields.

For the correct breaking to happen, we need the VEV of the ¥ to be

1oxo
() = %o = 1 . (7.3)
1ayxo

What causes ¥ to acquire exactly this VEV is not explained in the theory. But that this VEV leads
to the correct symmetry breaking can be shown by writing

Yo =A% = AT A, (7.4)
where the matrix A is given by
1 1412 1—1
1—1 1—13

With A we can define a new set of SU(5) generators X, = A\,A™!, where A\, are the usual SU(5)
generators as stated in Appendix B. It is easy to see that just like the A,, the X, also satisfy the Lie

IThis is a natural idea; the same principle occurs also for pions, which can be regarded as pseudo-Goldstone bosons
generated by the chiral symmetry breaking U(3) xU(3)r —U(3)r+r in QCD.

94



algebra of SU(5). If

[)\m Ab} = ifabc>\c, (76)
then
[Xa, Xb} = [A)\GA_l, A/\bA_l] = A)\aA_lA)\bA_l — A/\bA_lA)\aA_l
= AN AT AN AT = A M) AT = A(ifapee) AT
= ifareANAT! =i fape X (7.7)
The X, are defined in such a way that
XoXo = (ANATY) A2 = AN A = + (AN A) " = £ (X, 20)" = £50X ], (7.8)

with the plus sign for the 14 symmetric A\, and the minus sign for the 10 antisymmetric A,.
The matrix field ¥ transforms as

Y=Y =USUT = exp (iagX,) Sexp (i, X, ), (7.9)

where U is a SU(5) operator. The generators of the unbroken symmetry SO(5) are the ones that leave
the vacuum invariant:

exp (i, Xg) Yo exp (iozaX;f) =Y (7.10)
Up to order O (a2) we find

(1+i0aXa) Zo (1 +iaaX, ) = S0 + iag (XoXo + S0 Xy ) + O (a2), (7.11)

and therefore the SO(5) generators are given by:

X.Y0+ T X} =0. (7.12)

We see that these generators are the 10 matrices T, = A\, A™! for which ), is antisymmetric. The
other 14 generators S, = AXgA~' with symmetric \,, are broken.

Introducing the gauge symmetries

Sofar we have only demonstrated the breaking of the global symmetries. We shall now gauge a part of
the SU(5) symmetry to introduce gauge bosons to the theory. We cannot turn the whole SU(5) into a
local symmetry, because then all Goldstone bosons would be eaten by the gauge bosons and we would
not have any Goldstone bosons left that can be identified as the Standard Model Higgs. Therefore we
only gauge a small part of the SU(5).

The kinetic term of X is given by

2

Lyg = fZ Tr [(D#E)Jr (D“E)} _ f?

ZTr|D#E|2, (7.13)

with the covariant derivative D,, chosen in such a way that we have a [SU(2);xU(1);]? gauge symmetry:

2
DY =0,% iy [g;We (Q3% + Q") + gjB,; (V;E +2Y]")] . (7.14)

Jj=1

The generators @ correspond to the SU(2); gauge symmetry and the generators Y; to the U(1);. A
good way to embed these subgroups into the SU(5) is:

1/ 7@ 1
a = = Y, = —di -3,-3,2,2,2 7.1
Ql 2( 03><3 >7 1 10 lag( 37 37 ) &y )u ( 53’)
a 1 [ 03x3 _1
Q= 5 ( ) Yo = g5 ding (—2,-2,-2,3,3). (7.15b)

With this choice one can easily check that their linear combinations,

1

Q"= 7% (Q1+@Q3), Y =Y1+Ys, (7.16)

Sl

2
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remain unbroken after the symmetry breaking:

Qa¥o+%0Q, = 0 (7.17a)
Y¥o+SoYT = 0 (7.17b)

Therefore the generators @), and Y are identified as the generators of the SM electroweak group
SU(?)w XU(l)y.

The Q¢ and Y; still allow for a global SU(3) symmetry in the lower 3 x 3 block. Also the Q% and
Y5 allow for a global SU(3) symmetry, but there the symmetry is in the upper 3 x 3 block. These are
two different symmetries, the first will be notated with SU(3); and the latter with SU(3),.

Goldstone bosons

Goldstone’s theorem tells us that the symmetry breaking SU (5) — SO (5) leaves us with 14 massless
Goldstone bosons, because there are 14 broken generators. At the same time the Higgs mechanism tells
us that breaking the gauge symmetry [SU(2);xU(1);]2 — SU(2),,xU(1)y causes four gauge bosons to
become massive. This means that we are left with only 10 physical Goldstone fields.

To handle these fields, it is convenient to expand X about the expectation value:

Y = exp(iagSs) Soexp (iaaS) ) = (1 +1i0aS) So (1 + i S,y ) + O (o)
= g+ iag (SeXo+ 205, ) + O (a2)
= Yo+ 2i0gS,%0 + O (a2)
= Ygexp (2ia,S,)
Yoexp (2I1/f), (7.18)

where we have used S,3¢ = X0ST and defined the matrix
II=m7,5S, = fa,S,. (7.19)

Using S, as defined before, we can write IT explicitly as [42]

x+n/(2v5)  h/V2 ¢!
= nv /N2 —2n/v/5 ht/\v2 , (7.20)
¢ h/vV2 X" +n/(2V5)

with 7 a real singlet, x = x*7%/2 a Hermitian, traceless 2 x 2 matrix, h a complex doublet and ¢ a
2 x 2 symmetric matrix. These fields represent the 14 Goldstone bosons. Under SU(2),,xU(1)y they
transform as

10® 30 © 241 3. (7.21)

The breaking of the gauge group [SU(2);xU(1);]? causes the 1 and x to be eaten. What remains left
are the h and ¢ which are identified as two Higgs fields:

++ ¢f
h:(f,fLZ), ¢:<¢£ ﬁ) (7.22)
V2

When these reach their VEV the electroweak symmetry breaking occurs.
Because the VEV f has such a large value, it is useful to expand ¥ in powers of 1/f,

b

Lo exp (2ilL/f) = Zo + ?EOH +0 (%)

9 O2x2  h*/V2 ¢ 1
Zo+7 RY/V2 0 AT/V2 +O<F>’
o} R/V2  0axo

(7.23)
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Gauge bosons and their interaction with Higgs bosons

Now that we have determined the structure of the Littlest Higgs theory, it is time to determine the
mass eigenstates of the gauge bosons after the 3 has acquired its VEV. Substituting 3y into the
Lagrangian gives

1f? 2
EkH7ZD = 51 TI' |DHZO|
1 .f2 a a \2 1 f2 1 2
= 37 (Wi, — g2Ws,)" + 315 (91B1y — 92B2y)
1 f2 a a o a
= §Z (Q%Wluwlau + g§W2uW2al - 29192W1;,LW2(1“)
1 f2 1 12 17 12 13 I 13
+§Zg (9 B1uBY + g5 By BY — 24,95 B1,BY)
Lo a2, Lo 2 1,09 a2 Lo 2
= My (We)™ + 5 Mk (Bu)™ + 5 Miv: (W) + 5 M (B,)"- (7.24)
To find the mass eigenstates of the W and B fields we first read off the mass matrices,
f? < 9 —9ge )
Mz = L 1 , 7.25a
w 4 —9192 95 ( )
f2 1 < 9/2 _g/ g/
M% = —— ! 2, 7.25b
B 45\ —g9195 9% (7.25b)

and diagonalize them. Note that these are again the same matrices as with the Standard Model, so
the eigenstates are the orthogonal transformations

Wi = sWi, +cWy, Wt = —cWi, +sWsy,, (7.26a)
B, = B, + By, B, = —¢'Biy + s'Bay, (7.26Db)
where the mixing angles are given by
92 g1
s = —, c= ——, (7.27a)
Vi + g Vai+a
g: 91
s = —22 d=——1 (7.27b)
912 +952 g/12 +g/22
The masses are then
f2
m%, = 0, M2, = T (91 +93) . (7.28a)
2 _ s [Pl e g
m3y = 0, M3, = T (97 +9%) . (7.28b)

The W’ and the B’ are new heavy gauge bosons and the W and the B are the gauge bosons from the
Standard Model.

For this model it is interesting to also take a look at the interactions between the gauge bosons
and the Higgs bosons h and ¢. To find these interactions we simply substitute the expansion (7.23) of
¥ (z) into the Lagrangian, and substitute the W'y, BY', fields for their mass eigenstates. The relevant
terms are

g9’ (CZ — 52) b b
Larw = T [Wewh - S LW T [mh(sa + 26T g5 + 2aa¢TabT¢}
2 4 4
g a a C — S a a
-% lmg W'er Ty {h* h+ 2¢T¢} - %W{L W Ty [20 ¢TabT¢H . (7.29)
and
C/2 _ 8/2 1
Lawp = ¢°|BuB" - %B#Bm Tr [4hTh+¢T¢]
) 1, (CIZ _ 5’2)2 :
/ / ! ! /
—¢? | B,B"Tr {4h h] — BBV Tx [¢le] . (7.30)
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Figure 7.3: Cancellation of the quadratic divergences due to the gauge bosons [43].

The g and ¢’ are the same couplings as in the Standard Model,

g = g15= gac, (7.31a)
g = g1 =g, (7.31b)

and the weak mixing angle is defined as usual:

/

g g
S = ————, Cp = ———.
w /92 + g7 w /92 T g2

In the Standard Model these interaction terms between the gauge bosons and the Higgs lead to quadrat-
ically divergent contributions to the Higgs boson mass (Figure 7.1b). However, in this model the Higgs
does not only have interactions with the W and the B, but also with the heavy W’ and B’. As can
be seen in the equations (7.29) and (7.30) the couplings are equally strong, but have opposite sign.
Therefore the contributions cancel each other exactly, see Figure 7.3.

(7.32)

The Higgs potential

To make the electroweak symmetry breaking possible, the Higgs bosons need a quartic potential. In the
Littlest Higgs model this potential is not explicitly added to the Lagrangian, but comes from radiative
corrections at one- and higher-loop level. This potential was invented by Coleman and Weinberg in
1973 and is therefore most often referred to as the Coleman-Weinberg potential [44]. For the Higgs
fields h and ¢ it can be written as

V (h,¢) = Ago f2 Tr (¢T¢) + iAo S (hT¢T h— hwh*) — 2B h 4 A (hTR)?, (7.33)

where we have left out small terms that involve ¢* and h2¢?. This potential allows for the proper

electroweak breaking, with
1 0 (0 0
m=2(0) w=-i(g ) (730

The coefficients A2, Apgn and A\ps depend on the VEV’s f,v’,v and on . Their relationship is [45]

1 ,LL2 )\h¢h ’02
Apa = —Ag2, v v = —. 7.35
Mg At = Ao /A2 D, f (7.35)
From this we find
fv'
)‘}l¢h = 2/\4)2 ’UT’ (7.36&)
4p? 1
A - . (7.36b)
v [1 — (4 f Jv2) }
By diagonalizing the Higgs mass matrix, we find the mass eigenstates ® and H with masses
2
1
Mz ~ Qm%{f—2 S (7.37a)
v [1 — (40" f Jv2) }
m% o~ 2u° (7.37b)
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Because we want M2 > 0, we also find that

1}/2 ’U2

7 < 672" (7.38)
The self-interactions of the Higgs fields ® and H lead again to divergent loop diagrams, but at one-
loop order these are logarithmically divergent and not quadratically divergent like in the Standard
Model. This is much better, because a logarithmically divergent integral diverges much slower than a
quadratically divergent one. In other words, the needed cancellations are much smaller in this case.
The two-loop diagrams still lead to quadratically divergent integrals, but because they are two-loop
also their contribution is small.

Fermion masses

By introducing a new set of gauge bosons we were able to cancel the loop diagram of Figure 7.1b. In
a similar way we can cancel the loop diagram of Figure 7.1a by introducing a new set of quarks, ¢ and
t'°. They transform under the two global SU(3)s as (3,1) and (3,1). These only need to interact with
the third family of quarks, because we only need to cancel the diagrams with the top-loops.

The Yukawa term can be written as

1 ~~,
Ly = 5)\1f€ijk€zyXi2szkyugc + A ftl'* +hec., (7.39)

where x is the row vector x; = (bg, ts, ﬂ and uj is the right-handed top quark of the SM. The indices
1,j, k are summed over 1,2,3 and the indices z,y are summed over 4,5. Note that the Yukawa term
is invariant under the SU(3)s if A; = 0, and that it is be invariant under the SU(3); if Ax = 0.
If we expand Ly with the ¥ as given in (7.23), we find
A1~ - -

Ly = —%th*hugc + A flul — i V2qshtulf + Ao fHi' +he. + ... (7.40)
In this expansion we have left out the contribution of the heavier ¢ boson. The g3 is a row vector
defined by ¢3 = (b3, t3). The terms A; ftuf and Ao ft¢'® should be combined to yield the mass eigenstate
ie:

~ 1 . e
tc = —— (Alug + )\Qt/c) , (741)

VAT + A3
By substituting this mass eigenstate into (7.40) we find the mass term for the :
—mtte = fA/ AT+ A3EC, (7.42)
and the Standard Model Yukawa coupling for the top quark:
A1

The mixing between the right-handed top quark u} and the new quark ¢ can be parameterized with

Atgzhug = (7.43)

A

= —. 7.44
PLEIDY: (7.44)

rr

Note that 0 < x;, < 1, and that there is no mixing when x;, = A\; = 0. If z, = 1(i.e. Ay = 0) then the
mass eigenstate ¢ is equal to the right-handed top quark.

In the Yukawa term (7.40) the top loop of Figure 7.1a is cancelled. One can show this with the
use of the mass eigenstates ¢ and #, but it can also be explained in terms of g3, u, and . How this
cancellation happens is shown in Figure 7.4.
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Figure 7.4: Cancellation of the quadratic divergences due to the top quark, from (7.40). Taken from
[43].

7.3 Electroweak symmetry breaking

We have seen how the Littlest Higgs theory solves the hierarchy problem, now we must determine the
mass eigenstates of the gauge bosons after the EWSB. We substitute the VEV’s (7.34) into the X (z)
of (7.23) to get

0 0 0 1 0
0 0 ww/f 0 1-2v/f 1
=10 w/f 1 0 w/f +0 (fQ) . (7.45)
1 0 0 0 0
0 142)/f iv/f O 0
This expression we insert into
1 2
Lin = 5% Tr|D, 2%, (7.46)

and then we diagonalize the resulting mass matrix. These calculations with 5 x 5 matrices can best
be done with the aid of a program like Maple or Mathematica. After some patience one finds the
following mass eigenstates. There are four neutral gauge bosons,?

A = suW?2+cewB, (7.47a)
/ ’1}2 / U2
Zr = coW3—s,B+aW —WB 428 B 7.47b
zZ f2 zZ fQ
2 2
Ay = B+ xH%WB e % (coW? — 5,B), (7.47¢)
U2 ’ U2
Zy = WB°-— a:HFB’ —zy 7 (coW? —s,B), (7.47d)
where
5 ,SCSIC/ (628/2 +820/2)
th = 399 (5g2s"2c2 — g252¢2)’ (7.48a)
’ ].
Yy = —g, ¢ (* —s?), (7.48Db)
o8 = f%s'cl (= 7). (7.48c¢)
Their masses are given by
M3, = 0, (7.49a)
2 2
2 _ 2 v L 1., 202 | O 22 v
Mz = mz[1—ﬁ(6+1(c —5°%) +Z(c —3))4—8”—2}, (7.49b)
2 2
M= w2 (L T 7.49
An Mz | 5amp2y2 * 4s52¢%s2 )’ (749¢)
2 2
2 _ 2 f LHSy
My = M (— -l ﬁ) : (7.49d)

2In order to write Ay, and Zy, in the standard form, we have absorbed a minus sign into the definition of B.
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where m,, and m, are the masses of the Standard Model W and Z, given by
qgu

me = (7.50a)
- 9
me = o (7.50b)

The Ap, is the photon, and the Zj, is the Z boson of the Standard Model. The gauge bosons Ay and
Zy are new heavy particles.
Besides the neutral bosons, the Littlest Higgs model also predicts two charged gauge bosons,

2

wE = wE4 ﬁsc (2 —s*) W', (7.51a)
2
Wi = Wt ;?sc (=)W= (7.51Db)
The masses are
v2 /1 1 2 v'?

MVQVLi = md [1 ~ (6 +7 (? - 5?%) ) + 4?] ) (7.52a)

2

2 _ o [t

The Wy, is the Standard Model W boson, the Wy is a new heavy charged gauge boson.

Couplings

To find the couplings between the fermions and the gauge bosons, we follow the usual recipe. First
we rewrite the covariant derivative D), in terms of the mass eigenstates, and then we substitute that
expression into the kinetic Lagrangian term of the fermions. The resulting interactions for the charged
gauge bosons with quarks are (up to order v2/f?)

(A
m 122
W = ég% |:1 — 5?02 (C2 — 82):| ’YH (1 - 75) Vuda (7538“)
d
t
1774 19w v (1, 1,y M
:2\/5 1—F §IL+§C (C _S) v (1_75)‘/%7 (753b)
b

for the light Standard Model W boson, and

Zgw z Y (1 =75) Vaas (7.54a)

7 (1= 75) Vi, (7.54b)

>WW Zg“’ C

for the heavy Wy boson. See Equation (7.44) for the definition of 27,. Note that the coupling with
the Wy is the same for each combination of quarks (apart from the value of V;; of course). For the
couplings with the W, the (u,d) can be replaced by (u,s), (u,b), (¢,d), (¢, s), or (¢,b), and the (¢,b)
can be replaced by (t,d) or (¢,s).

All of the results presented in this subsection have been checked with [46].

101



7.4 Single-top in the Littlest Higgs model

The Littlest Higgs has almost the same gauge symmetry as Topflavor. Therefore we can copy a lot of
the formulas that we have used in Chapter 6. For the s-channel single-top process ud — W, Wy — tb
the invariant amplitude is again

M = 2;6 G X" Y ein 27 (7.55)
with
X0 = T [ (1= 35)p,0" (=75 (7.56)
22 = Tr[(p,+m) v (=) (1= 5)] (7.57)
and o )
Yyunor = kfﬁ’)(]{;gh . MVQVZtZLU%WHFwH GuvGier- (7.58)

Just like with Topflavor, we need to use the decay width I'yy,, of the heavy Wy to prevent the
occurrence of a singularity at k = p, + pg = Mw,,. However, because the couplings in the Littlest
Higgs are much different from those in Topflavor, we have here a different expression for the width
[46]:

9w ©
Wy = 1¢= 3 MWH. (7.59)

For the Littlest Higgs the expressions for U;; and Uj; follow from

1 1
9wl = gu [1 7 < x3 + 3¢ 2 (- 32)>] Vi, (7.60a)
U = gu1-122@ )|y, 7.60b
Jwlud = Guw _iﬁc (C _3) ud) (7.60b)
and .

ngi/j = _gw;‘/ij- (761)

To make a comparison with the Topflavor easier, we shall use (7.52b),

2 1 2 1 2
% = s2c2 M2 mi 2 S 22 ]\Zéw g (7.62)
Wi w wi

to write all expressions in terms of the heavy mass, My, . The product UyU,q becomes

v2 (1 1 102
UpUpa = <1 f2< L—|—2c(2 52)>> (1 2f2 (62_52)>thvud

v? 1
= [1 7 (c + ?s% — 5932L) + (9(1}4/]"4)} Vio Vad (7.63)
2¢% — 22 m?
= |} - TCQLMQ VioVud, (7.64)
and the U/ U] ; is simply
A
U 1Ual” = 7 Vil [Vaal”

Putting everything together, we see that the invariant amplitude for the s-channel is
— 3 1
2 2 27/ N
MP = Jgb Vaa* Vil [(3— m2)

a? 2003 (8 — M‘%VH) N 32

X | =
5 (- M)+ MR, T, ) (3 M) M, TR

., (7.65)

Wy
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(taking 5 > My, ) with

2¢% — 2 m?

a = 1-=—"_JL v (7.66a)
2,2 2 ’
2s%¢ MW§
C2
po= = (7.66b)

The Mandelstam variables are as usual: § = k2 = (p, 4+ pg)° and @ = (pg — pi)°>.

At tree-level the t-channel in the Littlest Higgs will not differ much from the Standard Model t-
channel. The argument is the same as with Topflavor: the contribution 1/(# — MI%VH)2 is just too small
to have an influence. Also for the Wit-associated process we have the same thing as with Topflavor.
The Wtb coupling in (7.60a) does not differ enough from the SM coupling to cause a noticeable effect
in experiment.

We must make one additional note here. The Littlest Higgs model has a much larger Higgs sector
than the Standard Model (from the 14 pseudo-Goldstone bosons we had, only 7 were eaten). Therefore
one could expect to have an extra s-channel process like ud — ht — tb. In fact, there exists an

interaction vertex between u, d, and ®* where [46]

L v + 20’ .
RV R e (7.67)

but there is no interaction between ¢, b, and ®+. The reason for this is that the (u,d) has a different
Yukawa term than the (t,b). However, there are extra s-channel processes possible that have the ¢ and
a T in its final state (the T is a mass eigenstate of the t-quark).

7.5 Monte Carlo results

The valid ranges for the free parameters in the Littlest Higgs model are [47]:

f > 1Tev, (7.68a)
04 < 1 <0.6, (7.68D)
0 < ¢<05. (7.68¢)

The lower bound for the mass My, is about the same as for the My, in Topflavor (~ 800 GeV),
therefore we have used in our Littlest Higgs (LH) simulations the same range as with Topflavor.

Note that the mixing angle ¢? in the LH has the same meaning as the sin® ¢ in Topflavor. The
notation ¢ is used to indicate that it is the cosine of some mixing angle. It is a bit unfortunate that
the cosine is used in the Little Higgs, while the sine is used in Topflavor.

An interesting difference between the Littlest Higgs and Topflavor, is that we have here an extra
parameter that the Topflavor does not have: z. Unfortunately the range of x, is rather narrow and
small changes do not influence the single-top equations much. We only encounter xy, in the equation

for |M|2, where it changes the value of « a bit, see Equation (7.66a). The result of this, is that any
changes of z;, have not let to an significant change of the cross section in any way.

We present the cross sections for the Tevatron and the LHC in Figures 7.5 - 7.10. In Figure 7.5 the
cross section is presented as a function of My, , in a similar way as Figure 6.1 and 6.2 in the Topflavor
chapter. The LH cross sections are of about the same size, up to 30 pb for t-production at the LHC.
This has been checked with [48], we come again to the conclusion that the Wy should be easy to find,
if it has a relatively small mass.

The results are somewhat disappointing because a lot is the same as in the Topflavor model.
Changing the value of ¢ has exactly the same effect as changing sin? ¢ in the previous chapter (compare
Figure 7.7 and 7.8 with Figure 6.8 and 6.9). The only interesting difference is that the parameter c? is
allowed to be larger than the sin? ¢ is allowed to. This larger parameter space results the possibility
of higher peaks in the pr, as can be seen in Figure 7.7 and 7.8.

Also the pseudo(rapidity) plots show a large similarity with those of Topflavor. As an example we
have included Figure 7.10 which shows the mass dependence of the top quark pseudorapidity at the
Tevatron.
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Figure 7.5: Cross section of the s-channel single-top in the Littlest Higgs model, as a function of Myy,,.
Here we have used ¢? = 0.3 and z7, = 0.5. For the Tevatron the results for ¢ are equal to those for the
t. Note that the cross sections of the Tevatron has been multiplied by a factor of 10.
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Figure 7.6: Cross section of the s-channel single-top in the Littlest Higgs model, as a function of c2.
Here we have used My, = 1000 GeV and x;, = 0.5. For the Tevatron the results for ¢ are equal to
those for the . Note that the cross sections of the Tevatron has been multiplied by a factor of 10.
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Figure 7.7: Transverse momentum for s-channel single-top in the Littlest Higgs model, at the Tevatron
(pp, /s = 2 TeV), for different values of Myy,,. In all cases ¢ = 0.3 and x7, = 0.5. The results for ¢
are equal to those shown here.
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Figure 7.8: Transverse momentum for s-channel single-top in the Littlest Higgs model, at the LHC
(pp, /3 = 14 TeV), for different values of Myy,,. In all cases ¢? = 0.3 and z, = 0.5. The results for £
have the same shape, but are roughly 50% lower.
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Figure 7.9: Transverse momentum for s-channel single-top in the Littlest Higgs model, at the Tevatron
(pp, /s = 2 TeV), for different values of ¢2. In all cases My,, = 1000 GeV and x7, = 0.5. The results
for t are equal to those shown here.
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Figure 7.10: Pseudorapidity for s-channel single-top in the Littlest Higgs model, at the Tevatron (pp,
Vs = 2 TeV). We have plotted here the n of the t-quark for different values of My,,, always with
¢ =0.3 and 7, = 0.5. At the Tevatron the results for ¢ are equal to those for the £.
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Chapter 8

Conclusions

If we assume that there is physics beyond the Standard Model, then one could ask ‘If so, what could
we discover?’ Now that we have reached the end of this thesis, we can answer this question simply
with ‘More particles and higher cross sections!”. The time to finish a thesis project is limited and it
was therefore impossible to examine more models and more processes. We have however learned a
great deal and found that the existence of an extra set of gauge bosons is a realistic option, as well as
extra quarks. One of the most important discoveries shall be the verification of the existence of Higgs
bosons. These particles are crucial for gauge theories with spontaneous symmetry breaking®.

The results of this thesis can be best described with Table 8.1, which summarizes our findings of
the chapters 4, 6, and 7. We see that the event rates for single-top at the Tevatron are rather low.
More importantly we see that it is virtually impossible to distinguish between the different models at
the Tevatron using only the s-channel single-top cross sections. Only if the heavy W is light enough,
the Tevatron will have a chance to find any signature of new physics this way. Especially the large
spike in the pp graphs could then be used as a potential smoking-gun signature.

The chance of discovering a sign of the Littlest Higgs or Topflavor is fortunately much higher at
the LHC. Even if the heavy W boson has a mass of around 2 TeV, it would be possible to see a clear
difference between the Standard Model s-channel and that of the other models. It is even possible to
see the difference between the Littlest Higgs and Topflavor, if we compare the ¢ cross sections and the
t cross sections.

The Monte Carlo program seems to be working fine, but it is a bit worrying that our cross sections
of Table 4.3 do not perfectly agree with those of Table 4.4. It might be necessary to perform more
elaborate tests, but we do not expect large chances in the results presented in this thesis. Extensive
testing is mandatory however, if the Monte Carlo program would ever be extended. Many extensions
of the program are possible. The program could be extended with the Wt-associated production, or
it could even be upgraded to do next-to-leading order (NLO) calculations.

As stated in Section 4.4 about top decay, the s-channel and the t-channel both give exactly the
same signal in an experiment. One can only make a distinction using the b-tagging technique, but this

1Tt must be mentioned that the electroweak symmetry breaking is also possible with the usual Higgs boson [49].

LHC (pp — tX) | LHC (pp — tX) Tevatron

oinpb | ev/day | oinpb | ev/day | o in pb | ev/day
Standard Model (¢-channel) 144.8 | 125,000 | 834 72,000 | 0.948 8
Standard Model (s-channel) 4.53 3,900 2.74 2,400 0.315 3
Topflavor (Myy = 1 TeV) 16 | 13800 | 81 | 7,000 | 0.42 4
Topflavor (M = 2 TeV) 5.6 4,800 3.2 2,800 0.33 3
Littlest Higgs (Mw, =1 TeV) 17 14,700 11.7 10,100 0.32 3
Littlest Higgs (My, =2 TeV) | 50 | 4300 | 37 | 3200 | 0.30 3

Table 8.1: Cross sections and event rates for single-top processes in the Standard Model, the Topflavor
model (with sin? ¢ = 0.25), and the Littlest Higgs model (with ¢? = 0.3 and x7, = 0.5). The t-channel
cross section is the same for all three models. We have used here /s = 2 TeV for the Tevatron, and
high-luminosity for the LHC (L = 103* ecm~2s7!). The Standard Model cross sections are copied from
Table 4.4 and the data of Table 1.1 has been used to calculate the event rates.

107



is not always possible for each event. To account for this, one should simulate the detector by including
hadronization and apply the proper cutoffs. Even though these options are already available in the
current program, they have not been used. This could be an interesting subject for further research,
as well as a more elaborate analysis of the background signals for single-top production. Finally, there
are still a lot of more theoretical explorations possible. One could investigate the possibility of flavor
changing neutral currents (FCNC) and custodial SU(2) symmetry in the Littlest Higgs model. Another
interesting topic is to do more research about Topflavor and its big brother, Technicolor.

The gauge symmetry of the Littlest Higgs model is, apart from an extra U(1), the same as in
Topflavor. We have seen the result of this: both models predict an extra set of W, Z bosons. Even
though Topflavor and the Little Higgs have a lot in common, there are some distinct differences. One
clear example is the width of the W’ (or W), which is different for both models. Probably the
best way to check which model describes nature correctly, is by measuring the W'-couplings with the
quarks. Chapters 6 and 7 predict some clear relations between U}, and U] ; the Standard Model CKM
matrix. Also relations like

U (Ul = U] Ual? (8.1)

as in Topflavor, are strong predictions that provide for an easy way to check the model. But the
main difference between the models does not lie in the experimental results, but in their theoretical
structure. The Littlest Higgs model treats the Higgs as a pseudo-Goldstone boson, while in Topflavor
it is the usual scalar boson. With Topflavor the third generation of quarks transforms differently than
the other generations, while in the Littlest Higgs there is no such distinction. It is interesting to see
that we can find two theories that are so different theoretically, are so similar in experiment.
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Appendix A

Differential cross sections

Because the top has such a high mass, we can ignore the mass of the other quarks. We therefore take
a look at the differential cross section for the process A+ B — C'+ D where my = mpg = 0. We define

s = (pa+pp)’ =mi+my+2pa pp
(pc +pp)* = m& +m3 + 2pc - pp, (A.la)
t = (pa—pc)=m%+mé—2pa-pc
= (p —pp)* =m% +m% —2pp - pp, (A.1b)
u = (pp—pc)’=m%+mi—2pp-pc
= (pa—pp)’ =m4 +m% —2p4s-pp. (A.lc)
The differential cross section can be written as
-2
M
do — %d@, (A.2)
with F' the flux
2
1
F:4\/(p,4-p3)2—m?4m23 =4 (55) = 2s. (A.3)
and d@ the Lorentz-invariant phase space,
d*pc d*pp
d = (2m)*s® + —pa—
Q (2m) (pc +pp —pa —PB) 2 2B0 (@n) 25,
1
= @y 8Y (pc +pp — pa — pp) d'pcdy (P —mE) d'ppdy (05 —mb),  (A4)
where 0 (p2 — m2) =0 (po) 1) (p2 — m2). We now define two new invariants,
tp = t—mi, (A.5a)
2
Uy = uU—mp, (A.5Db)
such that s +t; +u; = 0. Wit the use of E¢ + Ep = /s we then find
1
aQ = (%)26(4) (pc +pp — pa —pB) 84 (P — m&) 0(Ep) d (ph, — mp) d*ppd*pc
1
= (27)25+ (pzc - mé) 0 (Vs—Ecg)é ((pA +pp—pc)’ — m2D) d*pe
1
= W(SJF (pe —mg) 0 (Vs —Ec)d ((pA +p8)° +pE — 2pc - (pa +B) — m%) d*pc
1
= W6+ (P& —m&) 0 (Vs — Ec) 6 (s +m — 2 (pe - pa) — 2 (po - pB) —mb) d*pe
1
= (27)26+ (p2 —m&) 0 (Vs — Ec)d (s +mé +t—mg +u—mg —mp) d'pe
1
= 30+ e —me) 0 (Vs — Be)d(s+t +w)d'pe (A.6)
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It is useful to switch to the lightcone coordinates,

0 3 0 3
pe+p — P — P
Tl v P e (A7)
such that N N
o D" +p 3 P —p
= = A8
pC \/§ pC’ \/5 ( )
In the CM frame we then have
1
ra = (EA70707EA) = 5\/5(1a0a0a 1)7 (Aga‘)
1
PB = (EB,0,0, 7EB) = 5\/5(150507 71)? (Agb)
and therefore
2pa-pc = +/5(1,0,0,1) - (p%,pé, 08 PE)
= Vs (e —pt) =V2sp~ =, (A.10)
and
_ 0 .1 .2 .3
2pB ‘pPc = \/§(1707O771) : (pC7pC7pCapC)
It is then easy to see that
g Opg
) g = _
P = dpbdplarbarl. = ‘( G e
opt op—
1 1
= |[ 2 Y3 ||dptdp d’pr=dptdp d’pr
V2 V2
apT  opt 0 1
- |< g om > dtiduid’pr = |< . gﬂ ) dt1durd’pr
Dt Ouy V2s
1
= —dtduyd? A.12
5;dtduid’pr, (A.12)
and
2 2 2 2
ve = (&) = (p6) — (&) — V%)
1 N2 1 N2
= §(p++p ) —(pT)2—§(p+—p )
= 2p"p —p7
t
- %—p%. (A.13)
Hence, d@) becomes
L (p"+p urty 2 pt+p ) 1 0
= —0 ) — - 0 — —— | —dt1durd
dQ An2 ( NG > (s Pr —m¢ Vs NG %5 1aura”pr
1 —uy —t1 uily 2 2) ( —u1 — tl) 2
= 0 ) —mg — 0 § — —— | dt1durd
st (avm ) (15 e wh) 0 (VA - R ) dnduadtor
1 t
= g0 (-l h)s (% —m2 — p%> 0 (25 + uy + t1) dtdur d’pr, (A.14)

where we have left off the delta function 6 (s + ¢t; + 1), implying the constraint s + ¢ +u; = 0. We
can use this constraint to get rid of the theta functions:

1 uit
I L
1 uyt
— %6 (% — mzc — p%«) dtlduldsz. (A'15>
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Here we have used 6 (s) = 1 because s = E4 + E > 0. This delta function can be rewritten as

u1t1 1 ultl
5(7 mép%) R O ('pT A m2c>
u
2 L1 —mg

1 t
t—— <pT|—|— ugl—m%>. (A.16)

uity .2
2 . mg

The latter term is zero because |py| > 0. The 2-dimensional vector py = (plc,pQC) can be rewritten
in the polar coordinates (|pr|,®). The infinitesimal area is then

d’pr = |pr| d|pr| do. (A.17)

Integrating d@ over |pr| and ¢ results in

1 1 uit
Q = g [5 (PTl —y/ m2c> lpr| dlpr| d(b] dt1duy
Y 82 ul_tl _mQ S
\/ C
" & ]
872 32 ul_tl _mc

27 1
= 8?26(8+t1 +u1)dt1du1

= —5 (8 +t1 + ul) dtiduy. (A18)
8ms

S + tl + ’U,l) dtldul

This we substitute in the expression for the differential cross section,

d?o
dtldul 167‘(’

The §-function is often left off:

d?c _—‘ |
dtidu; ~ 16ms2

(with s +t1 + u; = 0). (A.20)
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Appendix B

Special unitary groups

The special unitary group SU(N) is the set of N x N unitary matrices with determinant +1. One
encounters these groups quite often in quantum mechanics, because quantum mechanical operators
are unitary. An arbitrary unitary matrix can always be written as

U=exp(iH), (B.1)
where H is an Hermitian, traceless matrix,
HY'=H,  TrH=0. (B.2)

That H must be traceless follows from det U = 1. Each traceless Hermitian N x N matrix can be
written as a linear combination of N2 — 1 Hermitian matrices:

H =aT*, (B.3)

where summation over a = 1,2,..., N2 — 1 is implied. The constant matrices 7% are called the
generators of the SU(N) group, because with these matrices it is possible to generate every possible
unitary transformation U. For an infinitesimal small rotation we find

U =exp (ia"T*) = 1+ia*T* + O (o). (B.4)

A special property of the SU(NN) group is that an arbitrary unitary transformation can be obtained
by performing multiple rotations subsequently:
U= lim (1+ia®T*)" = exp (ia®T*). (B.5)
n—oo
A continuous group with this structure is called a Lie group. Such a group is characterized by its Lie
algebra, i.e. the commutator of two generators can be written as a linear combination of the other
generators:
[T, T%] = if**T, (B.6)
where f®¢ are the structure constants of the group. If we choose the set of generators in such a way

that
Tr (T°T") = Crd™, (B.7)

with C'r a constant (a so-called Casimir number), then we can write the f¢ as

fobe = — T ([T, 7] - T°).. (B.8)
Cr
With this, one can show that the structure constants are completely antisymmetry, i.e. fo¢ = — fbac =
fbe@. From the identity
(7%, [T°,7°]] + [T°, [T, 7] + [T°, [T*,T"]] =0 (B.9)

follows that the structure constants must also obey

fadEfbcd + fdefcad + fcdefabd =0. (BlO)
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This relation is called the Jacobi identity.
Let us define a set of matrices 7%, whose element (b, ¢) is given by

(T%),. = —ifebe. (B.11)
The commutator is
[Ta7 Tb] = (Ta)cd (Tb)de - (Tb)cd (Ta)de

— _facdfbde + fbcdfade — fcadfbde + fbcdfade

— _fcdefabd _ Z-fabd (Z-fdce) —_ ifabd (Td)

= jfabeTe, (B.12)
We see that the matrices 7% have the same Lie algebra and therefore belong to the group SU(N),
just like the T do. The T® are called the fundamental representation, because they are N x N
matrices. The 7% are (N2 — 1) X (N2 — 1) matrices and are called the adjoint representation. There
are many other representations possible, each with matrices of a certain dimension. The trivial, or
singlet representation, is the set of 1 x 1 matrices. To obey the Lie algebra (B.6), it is clear that each

generator in the trivial representation must be equal to zero.
Probably the most famous unitary group is SU(2). The generators of SU(2) are

a 1 a
Tgyy = 57 (B.13)
where 7% are the Pauli matrices:

T1:<(1) (1)) 72:<(; Bz) 73:<(1) _01>, (B.14)

The generators are chosen such that

1

Tr (T°T") = Cré™ = 55@’7. (B.15)
It is often useful to work with the 7% defined by
1
+ 1 .2
T = — (17 L£it7), B.16
75 (i) (B.16)

or written explicitly,

At h) et )

The structure constants of SU(2) are given by

+1 if abc is an even permutation of 123,
fobe = eabe = & 1 if abc is an odd permutation of 123, (B.18)
0 otherwise

which is known as the Levi-Civita tensor.
The SU(3) generators are usually defined as

a 1 a
Tgys) = 5)\ ; (B.19)

with a = 1,2,...,8 and A the Gell-Mann matrices given by

01 0 0 —i 0 1

Moo= (100, x=|i 0 0], A= -1 ,
00 0 0 0 0 0
00 1 00 —i 00 0

M= (o000, x=l0o0 0|, x=|001],
100 i 00 01 0
00 0 e

Moo= [0 0 =i ], A=—2 1 . (B.20)
0 i 0 V3 —2



The generators are again chosen in such a way that

1
Tr (T°T") = 6. B.21

(7o) - | (B.21)
There are 8 = 512 structure constants for SU(3), but most of them are zero. One can obtain all of

them with

7128 = F8 = f678 — (/39
1
147 246 257 345 516 637
= = = = = = — B.22
f JHO = T — U5 g0 T (B.22)
and by making use of the fact that 2*° is completely antisymmetric.
Finally we shall present here all the generators of SU(5). These are
l:a
TSues) = Rl (B.23)
with
0 1 0 0 — 0 1
R 1 00 R t 0 0 R -1
A = 0 0 0 , Ao = 0 0 , A3 = 0 ,
0
0
0 0 1 0 0 —i 0 0 0
3 0 0 0 5 0 0 O R 0 0 1
Ay = 100 , A= ¢ 0 0 , =] 0 1 0 ,
0 0 O 1
~ 0 0 — ~ 1 1
)\ = 0 0 5 A = —F= *2 )
7 8 73 .
0
1 0 —i 0 0 0
R 0 0 R 0 0 R 1 0
A = 0 0 1, Ao = 0 0 [, A1 = 0o 0 1,
100 i 00 01 0
0 0 0 0 0 0 0 0 0
0 0 0 0 0 0
} —i 0 3 0 0 y 0 0
A2 = 0 01, A1z = 101, Ay = - 0 |,
0 « 0 0 0 1 0 0 ¢
0 0 0 0 0 0 0 0
0 1 0 —i 0 0
B 0 0 B 0 B 0 1
A1s 0 0 A6 = 0 , A7 = 0 0 |,
0 00 0 0 0 0 0 0
1 00 i 00 01 0
0 0 0 0 0
R 0 — ~ 0 R 0 0
A1g 0 0 A9 = 0 ) Aop = 0 —i |,
0 0 0 0 0 0 0 0 0
0 « 0 0 0 1 0 0 4
0
y 5 R 0
Aot ) Agg = ; Aoz = 0
0 1 0 —i 1
1 0 i 0 -1



and
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